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• λ(µz) = (λµ)z
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��� ! ����
��
�� !
��?�! ��" −1G �� i �
� �� −i� ����� �
6 "�*�-�"
 �$� 	��
��� ! ����
��
�� ! ��?�! �*�� 	,
	,��
���$ 	��
����$ 
���	�$ a + bi� ��*�	
��G

(x + iy)2 = (a + bi) ⇔
{

x2 − y2 = a
2xy = b

⇔
{

4x4 − 4ax − b2 = 0
y = b

2x

�����

x = ±
√

a +
√

a2 + b2

2

2



�
�  �%�

y =
b

2x
= ±

√
−a +

√
a2 + b2

2
· sgn(b), ���" sgn(b) =

{
1, b ≥ 0
−1, b < 0

-�����������

iB 3� ����
��
�� ! ��?�! ��" 2i ��

� �� 1 + i �
� −1 − i

iiB 3� ����
��
�� ! ��?�! ��" −5 − 12i ��

� �� 2 − 3i �
� −2 + 3i

�
�
�,��$	�6 � ��!6 ��� ����
�&���� ��"����/*�	�
 �+�%�%, 	� 	��
����$! %"
����%� !
� -��
� �$%, %�� C� ��*�	
��G

az2 + bz + c = 0
a, b, c ∈ C, a �= 0

⇔
(

z +
b

2a

)2

=
b2 − 4ac

4a2
⇔ z =

−b ±√
b2 − 4ac

2a

�
�����
6 ���! �
���?�"	�6 �� x2 + 1 = 06 ��-�6 ��
  -�� ��?
 %�� R� 1,�� �� C ��

�

���/����! ����%�� A
.�$ �� 

�� �� �%-$�� ��
 �*�� ���"�
"	��& �+�%�%,B�

��� �� 	���
��� �����
�

(a, b) ↔ a + ib
*+�

! ��
 x ↔ ��
�	
����! *+�

!
*+�

! ��
 y ↔ .

�
%����! *+�

!

7��*-
�"	�  

 �����
� 	� �$� ���"� ! �� � �
� �� z1� ���* .��*-
�"	�  

 �	���
�����
�6 	� ��
 ���� ���%


����%	�6 �
� �� z2 

 

��%���-�� %�� �� ���� �� ��*
"%	
 ��"


��%���-�� %�� z1 ��

� �� z1z2 A%-&	
 ���A
B B�

�
�
�,��$	� ��� ����
��
%�
%	�! ��� i ��

� ���	�����* �%��$

	�! 	� %���.& 90◦ 

#
�����
 	� �, .��* �,! ��
,%,! ��
 ������
 ��" �������$ A%-&	
 ���A/B B�

���
6 

 z = x + iy6  -�"	� ��"! �+&! ���"!G
Re z := xG �� ��
�	
���� 	 ��! ��" z�
Im z := yG �� .

�
%���� 	 ��! ��" z, Imz ∈ R�
z̄ := x − iyG � %"?"�&! ��" z�
|z| :=

√
z · z̄ =

√
x2 + y2G , 
���"�, ��	&6 & 	 ���6 & 
��	
 ��" z�

arg z := θG �� ���%	
 ��" z6 �����
sin θ = Imz

|z| , cos θ = Rez
|z|

-�����������

(i) Re z > 0G �� ��+� ,	�������� A/� �� %-&	
 ���B�

(ii) {z : z = z̄}G , ��
�	
���& �"���
�

�



�-&	
 ���G ���%��%,�

(iii) {z : −θ < argz < θ}G /� �� %-&	
 ��0�

(iv) {z : |z + 1| < 1}G /� �� %-&	
 ����

(v)
{

z :
∣∣∣argz − π

2

∣∣∣ < π
2

}
= {z : Imz > 0}G �� *
� ,	���������

-�#���! �.�.� <�%�� z, w ∈ C6 ����G

�� z + w = z̄ + w̄

�� zw = z̄w̄

��
(

z
w

)
= z̄

w̄
, w �= 0

0� z̄ = z

�� Rez = 1
2
(z + z̄)

�� Imz = 1
2i

(z − z̄)

2� zz̄ = (Rez)2 + (Imz)2

�� −|z| ≤ Rez ≤ |z|6 −|z| ≤ Imz ≤ |z|
'� zz̄ = |z|26 |zw| = |z||w|

��� |z + w| ≤ |z| + |w|G �����
��& 

�%��,�


'



A
B A/B

�-&	
 ���G ����
��
%�
%	�!�

���
∣∣∣|z| − |w|

∣∣∣ ≤ |z − w|

��� |z| ≤ |Rez| + |Imz|

��� |z1w1 + · · · zkwk|2 ≤
(
|z1|2 + · · · + |zk|2

)(
|w1|2 + · · · + |wk|2

)


�%��,�
 Cauchy - Schwarz

�� H I H �%-$�� ⇔ ∃λ, µ ∈ C : (λ, µ) �= (0, 0)
�
� λzj = µw̄j, j = 1, . . . , k

�0� argz̄ = −argz

��� arg(zw) = argz + argw (mod2π)

��� arg z
w

= argz − argw (mod2π)

��



�-&	
 ���G Re z > 0�

�-&	
 ��0G {z : −θ < argz < θ}�

�-&	
 ���G {z : |z + 1| < 1}�

��



���  ����!" ��
������!
�" # �$��� De Moivre ���

Euler

<�

! 	, 	,��
���! 	��
����! 
���	�! ���%�����?��
� ��&��! 
�� �,
 
���"�, ��	& ��" �
�
�� ���%	* ��"�
�
 z = x + iy 	� |z| = r �
� argz = θ6 ����

x = r cos θ, y = r sin θ �
�

z = r(cos θ + i sin θ)

�
 r, θ � ��
�
� ������
 
�����������
 ��" z �
� , ���,��$	�
, %- %, ��
�� �,
 �����&
	��.& ��" z�
�"�& , 	��.& ��

� ���$ -�&%�	, %� "������%	�$!6 
.�$ 



z1 = r1(cos θ1 + i sin θ1)

z2 = r2(cos θ2 + i sin θ2)

����
z1z2 = r1r2[cos(θ1 + θ2) + i sin(θ1 + θ2)]

z1

z2

=
r1

r2

[cos(θ1 − θ2) + i sin(θ1 − θ2)]

zn = rn(cos nθ + i sin nθ), n ∈ Z (����
 ��� deMoivre)

4 ����"�
�
 
"�& %- %, ��

� ���
����
 -�&%�	, %�,
 ����"%, �+�%�%��
 �,! 	��.&! zn = z0�

-��&������/ 4 �$��%, ��
 �"/���
 ��?�
 �,! 	�
*�
!�

z3 = 1 ⇔ r3(cos 3θ + i sin 3θ) = 1(cos 0 + i sin 0)

⇔ r = 1, 3θ = 0 (mod2π)

⇔ z1 = cos 0 + i sin 0 = 1

z2 = cos
2π

3
+ i sin

2π

3
= −1

2
+ i

√
3

2

z3 = cos
4π

3
+ i sin

4π

3
=

1

2
− i

√
3

2

4 �����& 	��.& ��
 ����
 
"��
 ��?�
 ���-
�� ��� ��

� �� ���". ! �
�! �%����$��" �����
�"
������
		 
�" %�� 	�

��
�� �$���� 3	���!6 �� n#�%� ! ��?�! �
�! z ∈ C ��

� �� ���". !
�

�
���$ ���"��
�" 	� n ���"� ! ��" ��

� ������
		 
� %��
 �$��� � 
���" � �
� 
���

!

r
1
n �

�"-
* -�,%�	��������
� �� �$��! ��" EulerG eiθ = cos θ + i sin θ

-������!�!

<�%�� z = x + iy = r(cos θ + i sin θ) = r(cos(θ + 2kπ) + i sin θ + 2kπ))�

��



�� %$
��� ��
 ��
��
 θ + 2kπ : k ∈ Z ��

� �� argz�
)$��
 ��	& ��" ���%	
��!6 Argz6 ��

� ����
� �� ���%	
 ��" 

&��� %�� (−π, π]� @%-$��

argz = (Argz)(mod2π)�
�
 λ ∈ R6 %"	/���?�"	� 	� argλz ����
, �,
 ��	& ��" argz ��
 �,
 ����
 �%-$�� λ <

argλz ≤ λ + 2π�

����
	 ��� Argz

z = x + iy, x2 + y2 �= 0
8����$	� ��
 z∗ = |x| + i|y| �
� /��%��"	� �� Argz∗ = φ,

φ = arctan
|y|
|x| ,

(
0 ≤ φ ≤ π

2

)
.

�
 %"
�-��
 /��%��"	� %� ���� ���
��,	���� /��%���
� � z�

����� �����
������ � �����
	�

�� C
 /����� �� arg 3π
2
(−1 − i)

0*�!

z := −1 − i ⇒ z∗ = 1 + i ⇒
Argz∗ = arctan(1

1
) = π

4
⇒

Argz = π
4
− π = −3π

4
�
� argz = 2kπ − 3π

4
, k ∈ Z.

���
 3π
2

< 2kπ − 3π
4
≤ 3π

2
+ 2k ⇒ k = 26 �,�
�&

arg 3π
2
(−1 − i) = 4π − 3π

4
=

13π

4

�� C
 /����� , 


��
�
 �
� ��

& %"
�&�, �%�� �� z1, z2, z3 ∈ C 

 ��

� %"
�"���
����

0*�!


B <�%�� ��� �
 z1, z2, z3 ��

� %"
�"���
�*� 4 �"���
 ��" �� �-��
� 
�� �
 z1, z2

 -�� �+�%�%,
z = z1 + τ(z1 − z2), τ ∈ R,

, ����
 ��
�,��$��
� �
� 
�� �� z3� <��%�

z3 − z1

z2 − z1

∈ R.

/B <�%�� ��� "�*�-�� τ ∈ R : z3 − z1 = τ(z1 − z2)� ����

z3 = z1 + τ(z1 − z2)

z2 = z1 − (z1 − z2)

z1 = z1 + 0(z1 − z2)

��




�< ���"  ���
� ��� �
 z1, z2, z3 /��%��
�
� ��� �,! �"���
!

z = z1 + τ(z1 − z2), τ ∈ R

�� ����! ��

� � ���	������! ����! ��
 %,	���
 z = x + iy ��" 	��
����$ ���� ��" ��"
��

�����$
 �,
 �+�%�%,

|z − z1|
|z − z2| = k, k : %�
��, z1, z2 ∈ C.

0*�!

<�%�� zj = aj + bji, j = 1, 2. ����

|x + yi − (a1 + b1i)|
|x + yi − (a2 + b2i)| = k ⇒ (x − a1)

2 + (y − b1)
2 = k2(x − a2)

2 + k2(y − b2)
2 ⇒

(1 − k2)x2 + 2(k2(a2 − a1)x + (1 − k2)y2 + 2(k2b2 − b1)y = k2(a2
2 + b2

2) − (a2
1 + b2

1).


B k = 1� ����

2(b1 − b2)y = 2(a2 − a1)x + a2
1 + b2

1 − a2
2 − b2

2,

��" �
��%�*
�� �"���
 A�
� 	*��%�
 �, 	�%��*���� ��" �"�"��*		�" �	&	
��!
��" �
�
�� �
 z1, z2B�

/B k �= 1� ����(
x + k2a2−a1

1−k2

)2

+
(
y + k2b2−b1

1−k2

)2

= A, ���"

A :=
k2(a2

2 + b2
2) − (a2

1 + b2
1)

1 − k2
+

(
k2a2 − a1

1 − k2

)2

+

(
k2b2 − b1

1 − k2

)2

,

��" �
��%�*
�� �$��� � 
���"

z0 =
a1 − a2k

2

1 − k2
+ i

b1 − b2k
2

1 − k2

�
� 
���

! R =
√

A�

0� C
 
�����-��� ���6 

 a, b ∈ R �
� ζ ∈ C6 , �+�%�%,

azz̄ + ζz + ζz + b = 0

�
��%�*
�� �"���
 ��

 {a = 0 & ζζ̄ > 0} �
� �$��� �����
%	 
,!6 	, 	,��
��&!

���

! ��

 {a �= 0 & ζζ̄ > ab}�
0*�!

�0



<�%�� ζ = γ + iδ �
� z = x + iy, (γ, δ, x, y ∈ R)� ����

ζz + ζz = 2Re(ζz)

= 2Re{(γ + iδ)(x + iy)}
= 2(γx − δy)

��  �%�
azz̄ + ζz + ζz + b = a(x2 + y2) + 2γx − 2δy + b = 0

AiB �
 a = 0 ⇒ 2γx − 2δy + b = 06

��" �
��%�*
�� �"���
 ��

 γ2 + δ2 > 0 ⇔ ζζ̄ > 0�

AiiB �
 a �= 0 ⇒ x2 + y2 + 2γ
a
x − 2 δ

a
y + b

a
= 0

⇒
(
x + γ

a

)2

+
(
y + δ

a

)2

= r2, ���" r2 = γ2+δ2−ab
a2 6

��" �
��%�*
�� �$��� ��

 r2 > 06 �,�
�& ��

 ζζ̄ = γ2 + δ2 > ab.

�� 
B C
 �"��� , �+�%�%, z8 = 1

/B C
 �"��� , �+�%�%, z5 = −32

9��
�"	�?�"	� ��
 �$�� ��" De MoivreG

�
 z = r(cos θ + i sin θ)6 ���� zn = rn(cos nθ + i sin nθ). ;�
 

 �$%�"	� �,
 �+�%�%,

zn = w

"��� ��"	� ��� z = r(cos θ + i sin θ), w = 	(cos φ + i sin φ)

�
�  -�"	�
r = n

√
ρ �
� nθ = φ + 2kπ ⇒

z = n
√

ρ

{
cos

(
φ + 2kπ

n

)
+ i sin

(
φ + 2kπ

n

)}

0*�!


B �.�$ 1 = cos 2kπ + i sin 2kπ6  -�"	�

z = cos
2kπ

8
+ i sin

2kπ

8
, k = 0, 1, 2, 3, 4, 5, 6, 7.

= 1,
1√
2

+
i√
2
, i, − 1√

2
+

i√
2
, −1, − 1√

2
− i√

2
, −i,

1√
2
− i√

2

��



/B <�-�"	�

−32 = 32{cos(π + 2kπ) + i sin(π + 2kπ)}, k ∈ Z

= 25{cos(π + 2kπ) + i sin(π + 2kπ)}

z = 2

{
cos

(
π + 2kπ

5

)
+ i sin

(
π + 2kπ

5

)}
, k = 0, 1, 2, 3, 4.

�� �
 |z| = 16 
�����
∣∣∣w1z+w2

w2z+w1

∣∣∣ = 16 ��
 �����"%�&���� w1, w2 ∈ C�

0*�!

<�-�"	�
w1z + w2

w2z + w1

zz̄=|z|2=1
=

w1z + w2

(w2 + w1z)z

�����

∣∣∣w1z + w2

w2z + w1

∣∣∣ =
|w1z + w2|

|w2 + w1z||z|
|z|=|z̄|
=

|w1z + w2|
|w1z + w2||z| =

|w1z + w2|
|w1z + w2||z| = 1

2� 
������#� ���1
����#�

�+�%�%, �"���
!G z = w1 + w2τ, w1, w2 ∈ C, τ ∈ R

�+�%�%, )$���"G |z − w| = r, w ∈ C, r > 0

�+�%�%, <�����D,!G |z − w| + |z + w| = 2a, w ∈ C, a > 0, �%���!G ± w, 	��*��!
,	�*+�

!G a�

�� z = reiθ

zeia = reiθeia = rei(θ+a)

1,�
�&6 z ��� eia %,	
�
�� %���.& ��" z �
�* �, �����& .��* �
�* ��
�
 a�

'� iB <�%�� p + qi ��?
 �,! a0z
n + a1z

n−1 + · · · + an = 0 	� a0 �= 0, a1, . . . , an ∈
R, p, q ∈ R. ���� , p − qi ��

� ���%,! ��?
 A� %� p + qi = reiθ �
� 	��* ��*D�
�, %"?"�& �+�%�%,B�

iiB z2 + (2i − 3)z + 5 − i = 0 ⇒ z =
−(2i−3)±

√
(2i−3)2−4·1·(5−i)

2·1 ⇒ z = 2 − 3i6 &
z = 1 + i�

3=@ %"?"���! ��?�!� A��� �� %"
����%� ! ��

� 	��
����� 
���	���B

��



��������  

�����!���� ��� "��
#� ��	����$

�
���$


	����#� �.,.� zn → z
���⇔ |zn − z| → 0 A%"����
�� %�� RB

�
�
�,��$	� ��� zn → z ⇒ Rezn → Rez
Imzn → Imz

	����#� �.,.� {zn} 
����"��
 Cauchy ⇔ ∀ε > 0 ∃N ∈ Z : n, m > N ⇒ |zn − zm| < ε

-�#���! �.,.� 4 {zn} ��

� %"����
�"%
 ⇔ , {zn} ��

� Cauchy�

	����#� �.,.� ��
 %���*
∑∞

k=1 zk %"����
�� 

 , 
����"��
 ��
 	�����
 
����%	*��

{sn} %"����
��6 ���" sn = z1 +z2 + · · ·+zn� �� ����6 ����6 �,! {sn} � ���
� ���� �,! %���*!�

2��#�!���

A�B �� *����%	
 �
� , ��
.��* %"����
�"%�
 %����
 %"����
���

A�B �

��
�
 %"
�&�, ��
 �, %$����%, �,!
∑∞

k=1 zk ��

�G zn → 0 ��

 n → ∞�

A�B @�

& %"
�&�, ��
 �, %$����%, �,!
∑∞

k=1 zk ��

� , %$����%, �,!
∑∞

k=1 |zk| A����� ,∑∞
k=1 zk � ���
� 
���$��! %"����
�"%
B�

-�����������

A�B zn → 0 

 |z| < 16 
.�$ |zn − 0| = |z|n → 0

A�B n
n+i

→ 16 
.�$
∣∣∣ n
n+i

− 1
∣∣∣ =

∣∣∣ −i
n+i

∣∣∣ = 1√
n2+1

→ 0

A�B 4
∑∞

k=1
ik

k2+i
%"����
��6 
.�$

∣∣∣ ik

k2+i

∣∣∣ = 1√
k4+1

�
� 
.�$ ,
∑∞

k=1
1√

k4+1
%"����
���

�2



A0B 4
∑∞

k=1
1

k+i

�����
��6 
.�$ 1

k+i
= k−i

k2+1
�
� 
.�$ ,

∑∞
k=1 Re

(
1

k+i

)

�����
���

��*�	
��6
∑∞

k=1 Re
(

1
k+i

)
=

∑∞
k=1

k
k2+1

�

8 %� ak = 1
k+1

, bk = k
k2+1

�

���� bk ≥ ak ≥ 0 ��
 k ≥ 1�

�+*���" ,
∑∞

k=1
1

k+1

�����
��� ��� �� )���&��� �$����%,! 
�����
�� �
� ,

∑∞
k=1

k
k2+1

�

��� �������"

�� <�%�� xn = 1+r cos a+r2 cos 2a+· · ·+rn cos na, r ∈ (0, 1)� C
 /����� �� limn→∞ xn�

0*�!

8 �� yn = r sin a + r2 sin 2a + · · · + rn sin na

�
� zn := xn + iyn = 1 + r(cos a + i sin a) + · · · + rn(cos na + i sin na)

8 �� w := r(cos a + i sin a) �
� �
�
�,�� ��� |w| = r < 1�

��� ��
 �$�� ��" de Moivre  -�G

zn = 1 + w + w2 + · · · + wn =
1 − wn+1

1 − w

�
� 
.�$ |w| < 1 : limn→∞ = 1
1−w

. �"
���!

lim xn = lim(Rezn) = Re(lim zn) = Re

(
1

1 − w

)
=

= Re

(
1

1 − r(cos a + i sin a)

)
= Re

(
1

(1 − r cos a) − ir sin a)

)

= Re

(
(1 − r cos a) + ir sin a

(1 − r cos a)2 + r2 sin2 a)

)
=

1 − r cos a

1 − 2r cos a + r2

�� C
 /����$
 �
 limn→∞ in

n
, limn→∞

(1+i)n

n
.

0*�!


B
∣∣∣ in

n

∣∣∣ = |in|
n

= |i|n
n

= 1
n

< ε6 ��

 n > 1
ε
6 *�
 limn→∞ in

n
= 0�

/B un = (1+i)n

n∣∣∣un+1

un

∣∣∣ =
∣∣∣ (1+i)n+1

(1+i)n
n

n+1

∣∣∣ = n
n+1

|1 + i| = n
√

2
n+1

��
 �*�� n ≥ 3  -�"	�
n
√

2
n+1

> 3
√

2
4

> 1.05 > 1

����� |un| > (1.03)n−3|u3|6
*�
 , un ��
 %"����
���

��



��� ����!"

-�#���! �.�.�

4 ���	�����& %���*
∑∞

n=0 zn =

{
1

1−z
, |z| < 1


�����
��, |z| ≥ 1

-�#���! �.�.� 34������
 �*�����!�5

AiB |zk| ≤ |wk| �
�
∑∞

k=1 |wk|G %"����
�� ⇒ ∑∞
k=1 zkG %"����
�� 
���$��!�

AiiB |zk| ≤ |wk| �
�
∑∞

k=1 |zk|G 
�����
�� ⇒ ∑∞
k=1 |wk|G 
�����
�� 
��* ,

∑
wk 	����� 



%"����
�� & �-��

-�#���! �.�.� 34������
 �!� p6����&�5∑∞
n=1

1
np %"����
�� 

 p > 1 �
� 
�����
�� %�� ∞ 

 p ≤ 1�

-�#���! �.�. 34������
 �
� 0#�
�5

limn→∞
∣∣∣zn+1

zn

∣∣∣
⎧⎨
⎩

< 1
> 1
= 1

⇒
∞∑

n=1

zn

⎧⎨
⎩

%"����
�� 
���$��!

�����
��
��
 �.
�	�?��
� �� ����&���

-�#���! �.�.� 34������
 �!� 7�8��5

limn→∞(|zn|) 1
n

⎧⎨
⎩

< 1
> 1
= 1

⇒
∞∑

n=1

zn

⎧⎨
⎩

%"����
�� 
���$��!

�����
��
��
 �.
�	�?��
� �� ����&���

-�#���! �.�.� 34������
 Cauchy5

AiB ��
 
����"��
 fn(z) %"����
�� �	���	��.
 %�� %$
��� A ⇔
∀ε > 0 ∃N : n ≥ N ⇒ |fn(z) − fn+p(z)| < ε ∀z ∈ A, ∀p = 1, 2, . . .

AiiB 4 %���*
∑∞

k=1 gk(z) %"����
�� �	���	��.
 %�� %$
��� A ⇔

∀ε > 0 ∃N : n ≥ N ⇒
∣∣∣∣

p∑
k=n+1

gk(z)

∣∣∣∣ < ε ∀z ∈ A, ∀p = 1, 2, . . .

-�#���! �.�.� 39
 M6�������
 �
� Weierstrass5

<�%�� gn 
����"��
 %"

��&%��
 ��" ���?��
� %�� A ∈ C� <�%�� ��� "�*�-�� 
����"#
��
 ��
�	
����
 
���	�
 Mn ≥ 0G

AiB |gn(z)| ≤ Mn, ∀z ∈ A

AiiB ,
∑∞

n=1 Mn %"����
��

���� ,
∑∞

n=1 gn(z) %"����
�� 
���$��! �
� �	���	��.
 ��� ��" A�

�'



����� �����
������ � �����
	�

��
∑∞

n=1
1
nz %"����
�� 
���$��! ��
 Rez > 1 �
� �	���	��.
 ��
 Rez ≥ 1 + ε, ε > 0�

<�%�� z = x + iy� ���� nz = ez log n = e(x+iy) log n�∣∣∣ 1
nz

∣∣∣ = 1
ex log n = 1

nx �
�
∑∞

n=1

∣∣∣ 1
nz

∣∣∣ =
∑∞

n=1
1

nx %"����
�� 

 x > 16 �,�� 

 Rez > 1�

<3�

 Rez ≥ 1 + ε � �� Mn = 1
n1+ε �
� , �	���	��., %$����%,  ���
� 
�� �� M #

����&��� ��" Weierstrass�

��
∑∞

n=0
e−inz

n2+1
%"����
�� �	���	��.
 %�� ,	�������� Imz < −a ��
 �*�� a > 0�

<�%�� z = x + iy� ����
∣∣∣ e−inz

n2+1

∣∣∣ =
∣∣∣ e−inxeny

n2+1

∣∣∣ = eny

n2+1

�
 Imz = y < −a < 06 ���� eny < e−na �
�  �%�
∣∣∣ e−inz

n2+1

∣∣∣ ≤ ∣∣∣ e−na

n2+1

∣∣∣ := Mn�

�+��*?� �, %$����%, �,!
∑∞

n=0 Mn�

)���&��� 5���"G lim Mn+1

Mn
= lim

∣∣∣ e−(n+1)a

(n+1)2+1
n2+1
e−na

∣∣∣ = e−a lim n2+1
n2+2n+2

= e−a < 1

��
∑∞

n=1
zn

n

8 �� Aσ = {z : |z| ≤ σ}, 0 ≤ σ < 1.

8 �� gn(z) = zn

n
�

���� |gn(z)| = |z|n
n

≤ σn

n
≤ σn := Mn �
� 
.�$ σ < 16 ,

∑
Mn %"����
���

<��
 ,
∑∞

n=1
zn

n
%"����
�� �	���	��.
 %�� Aσ�

4 %���* 
"�& %"����
�� %,	��
�* %�� A = {z : |z| < 1} 
.�$ �*�� z ∈ A /��%���
�

����* ��
�* %� �*���� Aσ ��
 σ 
����* ��
�
 %�� 1�

<3	�! , %���* ��� %"����
�� �	���	��.
 ��� ��" A� �
 %"
 ���
�6 ,
∑∞

n=1
xn

n
�


%"
 ���
� �	���	��.
 ��� ��" [0, 1)6 ��" ��
 �%-$��� A*%�,%,B�

��



�������� %

"!
�
������ ��	����$
 �
���$


��� %�����&� ��
���
 ��� 	���
��� �����
�

	����#� �.�.� �

• D(z0, r) = {z : |z − z0| < r} 

��-��! ��%��!6 �����-& ��" z0�

• C(z0, r) = {z : |z − z0| = r} �$���!�

• S : 

�����
���⇔ ∀z ∈ S ∃δ > 0 : D(z0, δ) ⊆ S�

• S̃ = C − S AS̃ = {z ∈ C : z /∈ S}B %"	��&��	
 ��" S�

• S : ����%��
���⇔ S̃ 

��-��
⇔ {zn} ∈ S �
� zn → z ⇒ z ∈ S

• ∂S = {z : ∀δ > 0 : D(z, δ) ∩ S = ∅ �
� D(z, δ) ∩ S̃ �= ∅} %$
��� ��" S�

• S = S ∪ ∂S

• S : .�
�	 
� ⇔ ∃M > 0 : S ⊆ D(0,M)

• S ����%�� �
� .�
�	 
�
���⇔ S %"	�
� !

• S 	, %"
������G "�*�-�"
 �$� 

��-�*6 + 

 %$
��
 A �
� B ��" ,  
�%& ��"! ���� -��
�� S �
� �$�� �� A �$�� �� B ���� -�"
 �� S�

• S %"
������ 

 ��
 ��

� 	, %"
�������

• [z1, z2] : �� �"�$��
		� �	&	
 	� *��
 z16 z2�

• ���"��
��& ��
		&G �����
%	 
,  
�%, �"�"��*		�
 �	,	*��
 �,! 	��.&! [z0, z1]∪
[z1, z2] ∪ . . . ∪ [zn−1, zn]�

��



• �
 �*�� �$� %,	��
 ��" S 	����$
 

 �
���$
 	� 	�
 ���"��
��& ��
		& ��" ���� #
-��
� %�� S6 ���� �� S � ���
� ���"��
��* %"
�������

• ���"��
��* %"
������ ⇒ %"
������� �� 

��%���.� ��
 �%-$��� 3� �$�  

���! ��

�
�%��$

	�! ��
 �
 

��-�* %$
��
�

• ����!
���

= 

��-�� J %"
�������

�-&	
 ���G ���"��
��* %"
������ �$
����

��� ��
�'��" ��
�������"

	����#� �.�.� ��
 %"
*��,%, 	��
����
 ��	�
 f(z) ���%	 
, %� 	�
 �����-& ��" z06 ��

�
%"
�-&! %�� z06 

 zn → z0 %"
��*���
� ��� f(zn) → f(z0)�

1�
.������*6 , f ��

� %"
�-&! %�� z0 

 ��
 �*�� ε > 0 "�*�-�� δ > 0  �%� �%�� 


|z − z0| < δ ���� |f(z) − f(z0)| < ε�

4 f ��

� %"
�-&! %�  


 ���� D 

 ��
 �*�� 
����"��
 {zn} ⊆ D �
� z ∈ D � ���

�%�� zn → z6 

 �%-$�� f(zn) → f(z)�

�
 ��
%�*%�"	� �,
 f %�� ��
�	
���� �
� .

�
%���� �,! 	 ��!

f(z) = f(x, y) = u(x, y) + iv(x, y)

���" , u �
� , v �
��
�"
 ��
�	
��� ! ��	 !6 ��

� .

��� ��� , f ��

� %"
�-&! ���� �
�
	�
� ���� 

 �� u �
� v ��

� %"
�-��! %"

��&%��! ��" (x, y)�

��



-�����������.

�� )*�� ���"�
"	�

P (x, y) =
m∑

j=1

n∑
k=1

akjx
kyj

��

� %"
�-&! %"
*��,%, %� ��� �� ��������

�� 4 f(z) = 1
z

= x
x2+y2 − i y

x2+y2 ��

� %"
�-&! %�� “�������”{z : z �= 0}�

3��%	 
�! @����,��!

• ��

� ���.

 ! ��� �� *����%	
6 �� ��
�	�
� �
� �� �,���� A	� 	, 	,��
��� �
��
�	
#
%�&B %"
�-�
 %"

��&%��
 ��

� %"
�-&! %"
*��,%,�

• 5 	� ��� f ∈ Cn 

 �
� �� Ref �
� �� Imf  -�"
 %"
�-��! 	���� ! �
�
����"! n−�*+,!�

• ��
 
����"��
 %"

��&%��
 {fn} %"����
�� %�,
 f �	���	��.
 %�� D6 

 ��
 �*��
ε > 0 "�*�-�� N > 0 � ���� �%�� n > N %"
��*���
� ��� |f(zn) − f(z)| < ε ��
 �*��
z ∈ D�

• �

.���	�
�� �*�� %�
 ��
�	
���* �
� .

�
%���* 	 �, ��
 {fn}6 /� ��"	� ��� ��
�	���	��.� ���� %"
�-�
 %"

��&%��
 ��

� %"
�-&! %"
*��,%,�

• M-test� �
 fk %"
�-&! %�� D6 k = 1, 2 . . . �
� |fk(z)| ≤ Mk %�� D �
� 

 ,
∑∞

k=1 Mk

%"����
��6 ���� ,
∑∞

k=1 fk(z) %"����
�� %� 	�
 %"
*��,%, f ��" ��

� %"
�-&! %�� D�

• 8"	�?�"	� ��� 	�
 %"
�-&! %"
*��,%, 
�����
�?�� %"	�
�&K%"
�����* %$
��
 %� %"	#
�
�&K%"
�����* %$
��
6 �
� 
"�� �� %"	/
�
�� ��
 �
	�* *��, �
�,����
 %"
���
�
��-� , f(z) = 1

z

�����
�?�� �� .�
�	 
� %$
��� 0 < |z| < 1 ��� ��" 	, .�
�	 
�"

%"
���" |z| > 1�

• <�%�� ��� , u(x, y)  -�� 	���� ! �
�
����"! ux �
� uy ��" 	,��
�?�
�
� %� �*�� %,	���
�
�! ����" D� ���� , u ��

� %�
���& %��
 D�

����� ��
�
�����	�� ����� �

��

� %"-
* -�&%�	� 

 %"	�����*/�"	� %�� 	��
���� ������� �� �!���
 ��
 &(���
6
��" %"	/���?��
� ∞� ;�
 

 

���,.��$	� “�����*” �� %,	��� %�� *�����6 	����$	� 


����&%�"	� ��� �� 	��
���� ������� ���
*�� 
�� ��
 �%,	���
� �,! 	�

��
�
! %.
��
! 	�
� 
��� �� z = 0� �� �*�� %,	��� z ��" ���� ��" 

��%���-�� 
���/�!  

 %,	��� P �,!
���.*
��! �,! %.
��
!6 ��" /��%���
� �! ��	& �,! �"���
! zN AN � /�����! ����!B 	� �,

���.*
��
 
"�&� �
��%���.�!6 %� �*�� %,	��� P �,! ���.*
��
! �,! %.
��
!6 ��,
 ��"
N 6 

��%���-�� 
���/�!  

 %,	��� z ��" ���� ��"� �
��%���-�
�
! %�� N �� %,	��� %��

��



*�����6 ���"-
�
�"	� 	�
 �#� 

��%���-�
 	��
+$ ��
 %,	���
 �,! ���.*
��
! �,! %.
��
! �
�
��" �������
	 
�" 	��
����$ ���� ��"� �"�& , %.
��
 � ���
� �+���� �
� Riemann �
�
, 

��%���-�
 �����
���+��� (�
1
��6 & (�
1
�� �
� -�
�����
�� �� %$
���
|z| > 1

ε
� ���
� �����-& ��" ∞�

�-&	
 ���G ��������
.��& ���/��&�

	����#� �.�.� 5 	� ��� {zk} → ∞ 

 |zk| → ∞6 �,�
�& 

 ��
 �*�� M > 0 "�*�-��
N ∈ ZG k > N %"
��*���
� ��� |zk| > M � 3	���! f(z) → ∞ 

 |f(z)| → ∞�

��� ��
�������" ���" ����
���" ����(����" z

����� �!� "�	�# �� "$!"��

<�

 ���"�
"	� P (x, y) � ���
� 


�"���� ���"�
"	�6 

 "�*�-�"
 A	��
��� !B %�
��� !
ak  �%� �%��G

P (x, y) = a0 + a1(x + iy) + a2(x + iy)2 + . . . + aN(x + iy)N

���� �
 � 	� ��� �� P ��

� ���"�
"	� �! ���! z �
� �
 �� ��*.�"	� �!

P (x, y) = a0 + a1z + a2z
2 + . . . + aNzN

��-� �� ���"�
"	� x2 +y2 +2ixy ��

� 


�"���� �
� �$���
 ���-
��
� ��� �� x2 +y2−2ixy
��
 ��

� 


�"�����

	����#� �.�.� <�%�� f(x, y) = u(x, y)+ iv(x, y)6 ���" u �
� v %"

��&%��! ��
�	
����

��	�
� �� �,
 ���L����%, ��� "�*�-�"
 �� ux6 uy6 vx6 vy ���?�"	�

fx = ux + ivx, fy = uy + ivy

�0



�������
$��
� ���  

 ���"�
"	� ��

� 


�"���� ���� �
� 	�
� ���� 

 Py = iPx�

	����#� �.�.� ��
 %"
*��,%, f 	� 	��
��� ! ��	 ! ��" ���?��
� %� 	�
 �����-& ��" z6
� ���
� ��
.���%�	, %�� z 

 "�*�-�� ��

lim
h→0

f(z + h) − f(z)

h

�� ���� 
"�� %"	/���?��
� 	� f ′(z)� �� h ��
 ��

� 
�
�
��&��! ��
�	
�����

@�

�����$
�
� �� �
�%��� �$��� ��
 �,
 ���%��%,6 ��
 ����
��
%�
%	� �
� �, ��
���%,
��
.���%�	�
 %"

��&%��
�

� ��! 
������
$��
� ��� 

 �� P ��

� 


�"����6 ���� ��

� ��
.���%�	� %� �*�� z� ��

�"�$���, ��*%, %"

��&%��
 ��" z6 ��

� 
"� ! ��" ��
�
�
� 
�� *����
 ���"�
"	
 ��" z6 &

����! �"

	�%��� ! ��" z�

����� %"!����
	�&�

	����#� �.�.� 1"

	�%���* ��

� 	�
 %���* �,! 	��.&!
∑∞

k=0 ckz
k�

;�
 �, 	�� �, �,! %$����%,! �"

	�%����
6 	
! -���*?��
� ,  

��
 ��" lim AlimsupB6 	�
!
�����&! ��
�	
���&! 
����"��
!G

lim
n→∞

an := lim
n→∞

(
sup
k≥n

ak

)
.

�.�$ �� supk≥n ak ��

� 	�
 .��
�"%
 %"
*��,%, ��" n6 �� ���� & "�*�-�� �*
�
 & ��

� ∞�

3� �����,��! ��" lim ��" �
 -���
%��$	� ��

�G
�
 limn→∞an = L ����G

�� ��
 �*�� C �
� ��
 �*�� ε > 06 "�*�-�� κ > N � ���� �%�� ak ≥ L − ε

�� ��
 �*�� ε > 06 "�*�-�� N � ���� �%�� ak ≤ L + ε6 ��
 �*�� k > N

:���!�� �.�.� <�%�� ��� lim|ck|1/k = L�

�� �
 L = 06 ,
∑

ckz
k %"����
�� ��
 ��
 �
 z�

�� �
 L = +∞6 ,
∑

ckz
k %"����
�� 	�
� ��
 z = 0�

�� �
 0 < L < +∞6 � ��"	� R = 1
L
� ���� ,

∑
ckz

k %"����
�� ��
 |z| < R �
� 
�����
��
��
 |z| > R� �� R � ���
� 
���

 %$����%,! �,! �"

	�%���*!�

-������!�! �.�.� �� �
 ,
∑

ckz
k  -�� 
���

 %$����%,! R6 ���� %"����
�� �	���#

	��.
 %� �*�� 	�������� ��%�� |z| ≤ R− δ ��  �%� ��

� %"
�-&! %�� ����� %$����%&!
�,!�

��



�� �� *����%	
 %"����
�"%�
 �"

	�%����
 ��

� %"����
�"%
 �"

	�%���*�

�� �� ��
�	�
� Cauchy %"����
�"%�
 �"

	�%����
 ��

� %"����
�"%
 �"

	�%���* ��

|z| < min(Ra, Rb)6 ���" Ra, Rb �� 
���
�! %$����%,! ��
 �$� �"

	�%����
� 9��
#
�"	�?�"	� ��� 

 an6 bn ��

� �$� 
����"���! �� ��
�	�
� Cauchy ��

� , 
����"��


cn =
n∑

k=0

akbn−k

�

0� �
 %"	/�� 

 "�*�-�� �� lim
∣∣∣ ck

ck+1

∣∣∣6 ����
R =

1

lim|ck|1/k
= lim

∣∣∣∣ ck

ck+1

∣∣∣∣ .

�"�& , %- %,  -�� 	��*�, ��
����& %,	
%�
�

-�����������

��
∑∞

n=1 nzn�
4 �"

	�%���* 
"�& %"����
�� ��
 |z| < 1 �
� 
�����
�� ��
 |z| > 1 
.�$ n1/n → 1 ∈
(0,∞)�

��
∑∞

n=1
zn

n2 �
4 �"

	�%���* 
"�&  -��6 ���%,!6 
���

 %$����%,! �� <3	�!6 %"����
�� �
� ��
 |z| = 16

.�$

∣∣ zn

n2

∣∣ = 1
n2 → 0�

��
∑∞

n=0
zn

n!
�

4 �"

	�%���* %"����
�� ��
 �*�� z6 
.�$ 1
(n!)1/n → 0�

0�
∑∞

n=0 n!zn�

lim
∣∣∣ n!
(n+1)!

∣∣∣ = lim 1
n+1

= 0 ⇒ R = 0� <��
 , �"

	�%���* %"����
�� 	�
� %�� z = 0�

��
∑∞

n=0 n2(2z − 1)n =
∑∞

n=0 n22n
(
z − 1

2

)n
�

4 
���

 %$����%,! �,! �"

	�%���*! 
"�&! ��

� R = lim(2nn2)1/n = lim(2n2/n) =
2 ⇒ R = 1

2
�
� � 
��� ��

� �� 1

2
�

:���!�� �.�.� <�%�� f(z) =
∑

cnz
n �
� ��� , %���* %"����
�� ��
 |z| < R� ���� "�*�-��

, f ′(z) �
� �%�$�
� 	�
∑

ncnz
n−1 %��
 |z| < R�

-#����� �.�.� 3� �"

	�%��� !  -�"
 �*�� �*+,! �
�*���� 	 %
 %�� ����� %$����%&!
��"!�

-#����� �.�.� �
 , f(z) =
∑∞

n=0 cnz
n  -�� 	, 	,��
��& 
���

 %$����%,!6 ���� cn =

f (n)(0)
n!

��
 �*�� n�

��



:���!�� �.�.� A��

�����,�
! 1"

	�%����
B� <�%�� ��� ,
∑∞

n=0 cnz
n 	,��
�?��
� %�

��
 �
 %,	��
 	�
! {zk} : zk → 0 �
� zk �= 0� ���� , �"

	�%���* ��

� �
"�����* �%, 	� ��
	,� 
�

-#����� �.�.� �
 ,
∑

anz
n �
� ,

∑
bnz

n %"����
�"
 �
� %"	�����"
 %�  

 %$
���
%,	���
 ��"  -�� %,	��� %"%%���"%,! �� �6 ���� an = bn ��
 �*�� n�

-#����� �.�. <�%�� lim|cn|1/n < ∞6 � ��"	� f(z) =
∑∞

n=0 cn(z − a)n� ���� cn =
f (n)(a)

n!
�

:���!�� �.�. (Abel)� <�%�� ��� , �"

	�%���*
∑∞

n=0 cnz
n %"����
�� %� �*���� %,	���

z1 �= 0� ���� %"����
�� 
���$��! %� �*�� %,	��� zG |z| < |z1|� <�%�� r < |z1|� ���� ,
�"

	�%���* %"����
�� �	���	��.
 ��
 |z| ≤ r�

����� �!� "�	�&� �"!�����
	�

��������#�!�� ��� �;������� Cauchy-Riemann

-�#���! �.�.� �
 , f = u + iv ��

� ��
.���%�	, %�� z6 "�*�-�"
 �� fx �
� fy %�� z �
�
��

�����$
 ��! �+�%�%��! Cauchy-Riemann�

fy = ifx,

& �%��$

	
 {
ux = vy

uy = −vx

�� 

��%���.� ��
 �%-$��� 9�*�-�"
 %"

��&%��! ��" ��
 ��
.���?�
�
� %�  

 %,	���
�
�‘��� ��" "�*�-�"
 ���� �� 	���� ! �
�*����� ��"! �
� ��

�����$
 ��! %"
�&��! Cauchy-
Riemann�

-��&������ �.�.� �

f(z) = f(x, y) =

{
xy(x+iy)
x2+y2 , z �= 0

0 , z = 0

4 f = 0 �
� %��"! �$� *+�
�! �
� %"
���! fx = fy = 0 %�� 	,� 
6 �	�! ��

lim
z→0

f(z) − f(0)

z
= lim

(x,y)→(0,0)

xy

x2 + y2

��
 "�*�-��� ��*�	
�� ��� �,! �"���
! y = ax : f(z)−f(0)
z

= a
1+a2 ��
 z �= 0 �
� %"
���! ��

���� �+
��*�
� 
�� �� aM

@%-$�� �
��$���! �� �+&! 	����� 

��%���.�G

�2



-�#���! �.�.� <�%�� ��� "�*�-�"
 %� 	�
 �����-& ��" z �� fx, fy� ���� 

 �� fx, fy

��

� %"
�-��! %�� z �
� �%-$�� fy = ifx ����6 , f ��

� ��
.���%�	, %�� z�

	����#� �.�. 4 f ��

� ��������� A���	��.,B %�� z6 

 ��

� ��
.���%�	, %� 	�
 ��#
���-& ��" z� 4 f ��

� 


�"���& %�  

 %$
��� S 

 ��

� ��
.���%�	, %� ��
 �
 %,	��
 �
�!


��-��$ %"
���" ��" ���� -�� �� S� ��
 


�"���& %"
*��,%, f : C → C A%� ��� �� CB
� ���
� ������� %"
*��,%,�

<�-�"	� &�, �
�
�,�&%�� ��� �� *����%	
6 �� ��
�	�
� �
� �� �,���� ��
.���%�	�
 %"

�#
�&%��
 ��

� ��
.���%�	, %"
*��,%,� 3	���! �
� , %$
��%,� <3��! �
� ��
 ��! ��
�	
��� !
%"

��&%��!6 , 

��%���., 	�
! %"
*��,%,! 	����� 

 	,
 ��

� �

 %"
�-&!� 3 ���	�
�!
���%	�!6 	
! ����� ��� 

 	��*	� ��
 ��
.���%�	��,�
 ��
 

��%���.�
 %"

��&%��
�

	����#� �.�.� <�%�� S �
� T 

��-�* %$
��
 �
�  %�� ��� , f ��

� �#� %�� S 	� f(S) =
T � 4 g ��

� , 

��%���., �,! f %�� T 6 

 f(g(z)) = z ��
 z ∈ T � 4 g ��

� , 

��%���.,
�,! f %�� z06 

 ��

� , 

��%���., �,! f %� �*���
 �����-& ��" z0�

-�#���! �.�.� <�%�� ��� , g ��

� , 

��%���., �,! f %�� z0 �
� ��� , g ��

� %"
�-&!
%�� z0� �
 , f ��

� ��
.���%�	, %�� g(z0) �
� 

 f ′(g(z0)) �= 06 ���� , g ��

� ��
.���%�	,
%�� z0 �
� g′(z0) = 1

f ′(g(z0))
�
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 �+
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���& �����,�
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%-��,��$	� ���
����
 	
?� �,!
%� ���	�

 ��.*�
�
� ;�
 �,
 ��
 ��
�"	� �$� *	�%�! %"
 ��� ! �,!�

-�#���! �.�. �
 , f = u + iv ��

� 


�"���& %�  


 ���� D �
� , u ��

� %�
���&6
���� , f ��

� %�
���&�

-�#���! �.�.� �
 , f = u + iv ��

� 


�"���& %�  


 ���� D �
� , |f | ��

� %�
���&
����6 ���� , f ��

� %�
���&�

<����� ���!���� �!� =��+
�����#�!���

<�-�"	� ��� ��� ��
 

 ��

� 	�
 %"
*��,%, ��
.���%�	,6 �� ��� 

 ��

�������
� 	�
 %"������#
	 
, %"
�&�,6 ��" “


�"���*”��.�*?��
� 
�� ��! %"
�&��! Cauchy-Riemann� 8
 ��$	�
���
 �� %,	
�
�� 
"�& , %"
�&�, “."%��*”� ���* ��

� �,�
�& ����
, , +�-���%�& �����,#
�
 ��" ��

"%	
����$ �����" ��" ��
���
�� 	�
 ��
.���%�	, 
�� 	�
 	, ��
.���%�	, 	��
���&
%"
*��,%,N

4 �
�
���,�
 �,! 
�*
�,%,! �+
��*�
� ���$ 
�� ��
 �
�� %"	/���%	�� <�%�� z  


	��
/�,�� %,	��� �
�! ��%��*%�
��" ��

"%	
����$ �����" �
� w̄ �� ��*
"%	
 ��" 

��%���-��

��



%�� z6 	 %� �,! f � <�%�� x, y �� %"
���
�	 
�! ��" z �
� u, v �� %"
���
�	 
�! ��" w̄�
����

z = x + iy, w̄ = u + iv ����� w = u − iu.

8����$	� �� w �! %"
*��,%, ��" z

w = u − iv = f(z) = f(x + iy)

�
 , f ��

� ��
.���%�	,6 �
 �� ��� 

 �%-$�� A����
%, �����B fy = ifx6 �,�
�&

ux − ivx =
1

i
(uy − ivy) ⇔

ux + vy = 0 A���B

�
�

vx − uy = 0 A���B

�"� ! �� �+�%�%��! ��.�*?�"
 ��� , %"
*��,%, ��" �
��%�*
��
� 
�� �� ��

"%	
���� �����
��

� ��
.���%�	,�

�� 8����$	� �� ��

"%	
���� ����� 	
! �! ����� ��&! �
� �� w̄ �! 	�
 �
-$�,�
6 �,

 
�
%, �,! ��&! %�� %,	��� z� ���� ,  �.�
%, ux + vy � ���
� 
�����%, ��" ��

$#
%	
��! w̄6 %"	/���?��
� 	� divw̄ �
� 	���*�� �,
 �+��-�	�
, ��& 

* 	�
*�
 ����" %�
	�
 ����%�& �����-& ��" %,	���" z� �
 divw̄ > 0 �� %,	��� z ��
 �! “�,�&”AsourceB6
�
� 

 divw̄ < 0 �� z ��
 �! “�
�
/���
”AsinkB� �
 , 
�����%, 	,��
�?��
� %� �*��
%,	���6 �� ����� � ���
� %��,
���� ! AsourcelessB� <��%� , A���B ��*.��
�

divw̄ = 0

�
� -
�
��,��?��  

 %��,
���� ! ������

�� 8����$	� �� ��

"%	
���� ����� 	
! �! ����� �"
*	��
 �
� �� w̄ �! 	�
 �$

	,6 �,

 
�
%, ��" �����" %�� %,	��� z� 4  �.�
%, vx−uy � ���
� %���/���%	�! AcurlB ��" w̄
�
� 	���*�� ��  ��� 

* 	�
*�
 ���.*
��
!� ��� %"������	 

6 ��  ��� ��" �
�*���
�

�� �� ����� ��

  

 	���� %�	
����� ��
��*.�� 	�
 ����%�& �
	�$�, ��" ����������
�� z ��
�����
� 	� �,
 ���.*
��
 ��" ���������� , �
	�$�,� <3�

 �� ��
%�*%��! �,!
�
	�$�,! ���
�"
 %�� 	,� 
6 
"�� �� 

,�	 
�  ��� ���
�� %�� curlw̄� �
 �� curl
	,��
�?��
� %� �*�� %,	���6 �� ����� � ���
� 
%���/���� <��%� , A���B ��*.��
�

curlw̄ = 0

�
� -
�
��,��?�� �� ����� �! 
%���/����

�"
�D�?�
�
!6 � 	� ��� 	�
 ��
.���%�	, ��
�	
���& %"
*��,%, 	�
! 	��
���&! 	��
/�,�&!
�
��%�*
��
� 	�  

 %��,
���� ! �
� 
%���/��� ������

�'



> �;����! �
� Laplace

��
 ��
�	
���& %"
*��,%, h �$� ��
�	
����
 	��
/�,��
 x, y � ���
� ���
���� %�  



���� ��" ���� ��" xy6 

 �

��$ %� 
"��
 ��
 ����  -�� %"
�-��! �����! �
� ��$����! 	���� !
�
�
����"! �
� ��

������ �, 	����& ��
.����& �+�%�%,G

�h = ∇2h = hxx + hyy = 0

��" ��

� �
�%�& �! �;����! �
� Laplace� ��� ��! %"
�&��! Cauchy Riemann ��"
��

�����$
 �� %"
���
�	 
�! %"

��&%��! 	�
! 


�"���&! %"
*��,%,! f = u+ iv6 �
�
��#
��?�
�
! �! ���! x6 �
��
�"	� ���G

uxx = vyx uyx = −vxx.

�
�
����%, �! ���! y6 ��
�� 

��%���-


uxy = vyy uyy = −vxy.

4 %"
 -��
 ��
 	�����
 �
�
����
 �+
%.
��?�� ��� vyx = vxy �
� uxy = uyx� �"
���!G

uxx + uyy = 0 �
� vxx + vyy = 0.

<�-�"	�6 �,�
�&6 ��� �
� �� ��
�	
���� �
� �� .

�
%���� 	 ��! 	�
! 


�"���&! %"
*��,%,!
��

� 
�	�
�� ! %"

��&%��!�

��������

�� �
 �� f, f̄ ��

� 


�"��� ! %��
 ���� D ���� , f ��

� %�
���& %��
 D�

5$%,
<�%�� f = u + iv� �.�$ , f ��

� 


�"���& �%-$�"
 �� %- %��! Cauchy-Riemann6
�,�
�& ux = vy �
� vx = −uy� �+*���" f̄ = u − iv� �.�$ �	�! ��

� �
� , f̄



�"���&6 �%-$�"
 �
� ��
 
"�&
 �� %"
�&��! Cauchy Riemann6 �,�
�& ux = −vy �
�
−vx = −uy� ��’
"� !  ���
� ��� ux = uy = vx = vy = 0� <��
 , f ��

� %�
���&�

�� A����� ! �"
���
�	 
�!B ������+�� ��! �
�
�*�� %- %��!�

A
OB 3� �+�%�%��! Cauchy-Riemann G ∂u
∂r

= 1
r

∂v
∂θ

6 ∂v
∂r

= −1
r

∂u
∂θ

�

A/OB 4 �+�%�%, Laplace G ∂2φ
∂r2 + 1

r
∂φ
∂r

+ 1
r2

∂2φ
∂θ2 = 0�

A�OB �
�*����! G f ′(z) = e−iθ ∂f
∂r

= 1
iz

∂f
∂θ

�

5$%,
8
 
�����+�"	� �,
 ����, %- %,� <�-�"	� ��� z = r(cos θ + i sin θ) = x + iy6 r =√

x2 + y26 tan θ = y
x
� <��


∂r

∂x
= cos θ,

∂r

∂y
= sin θ,

∂θ

∂x
= −1

r
sin θ,

∂θ

∂y
=

1

r
cos θ,

��



∂u

∂x
=

∂u

∂r

∂r

∂x
+

∂u

∂θ

∂θ

∂x
,

∂u

∂y
=

∂u

∂r

∂r

∂y
+

∂u

∂θ

∂θ

∂y
,

∂v

∂x
=

∂v

∂r

∂r

∂x
+

∂v

∂θ

∂θ

∂x
,

∂v

∂y
=

∂v

∂r

∂r

∂y
+

∂v

∂θ

∂θ

∂y
.

��� ��! �
�
�*
� �
��
�"	� ���

∂u

∂x
=

∂u

∂r
cos θ − 1

r

∂u

∂θ
sin θ,

∂u

∂y
=

∂u

∂r
sin θ +

1

r

∂u

∂θ
cos θ,

∂v

∂x
=

∂v

∂r
cos θ − 1

r

∂v

∂θ
sin θ,

∂v

∂y
=

∂v

∂r
sin θ +

1

r

∂v

∂θ
cos θ.

��� ��! %"
�&��! C-R A��
 �
���%�

 ! %"
���
�	 
�!B �
��
�"	� �� 
��� ��%	
�

�� <�%�� , f(z) = u(x, y)+iv(x, y)6 


�"���& %��
 ���� D �
� "�*�-�"
 a, b, c ∈ R−{0}
�%�� 

 �%-$�� au(x, y) + bv(x, y) = c %��
 D� 1��+�� ��� , f ��

� %�
���& %��
 D�

5$%,
�
�
����?�
�
! �,
 au(x, y) + bv(x, y) = c �
  -�"	�

aux + bvx = 0
auy + bvy = 0

}
C-R⇒ avy + bvx = 0

−avx + bvy = 0

}
⇒

abvy + b2vx = 0
abvy − a2vx = 0

}
⇒ (a2 + b2)vx = 0 ⇒ vx = 0.

<��
 �
� vy = 0 �
� �� %"
�&��! C − R ��
�"
 ��� ux = uy = 0� �"
���! , f ��

�
%�
���&�

0� 4 f(z) = z̄ ��
 ��

� 


�"���&�

5$%,
<�%�� z = x + yi� ���� f(z) = u(x, y) + iv(x, y) = x − iy� ���	 
�! ux = 1 �
�
vy = −1� 3� %"
�&��! C-R ��
 �%-$�"
 *�
 , %"
*��,%, ��
 ��

� 


�"���&�

�� �"?"���! %"
���
�	 
�!�
5$%,

z = x + yi6 z̄ = x − iy� <��
 x = 1
2
(z + z̄)6 y = 1

2i
(z − z̄)� <�-�"	� ���

∂f

∂x
=

∂f

∂z

∂z

∂x
+

∂f

∂z̄

∂z̄

∂x
=

∂f

∂z
+

∂f

∂z̄
�
�

∂f

∂y
=

∂f

∂z

∂z

∂y
+

∂f

∂z̄

∂z̄

∂y
= i

(
∂f

∂z
− ∂f

∂z̄

)

<��

∂f

∂z
=

1

2

(
∂f

∂x
− i

∂f

∂y

)
�
�

∂f

∂z̄
=

1

2

(
∂f

∂x
+ i

∂f

∂y

)

��



3� %"
�&��! C-R ��

� ∂f
∂y

= i∂f
∂x

� �"
���! �� %"
�&��! C-R %� %"?"���! %"
���
�	 
�!

��

� ∂f
∂z̄

= 0�

�� <�%�� f(z) = u(x, y) + iv(x, y) 


�"���&� ���
	�6 ���� ��� �� u6 v ��

� 
�	�
�� !6
�,�
�&

∂2u

∂x2
+

∂2u

∂y2
= 0 �
�

∂2v

∂x2
+

∂2v

∂y2
= 0.

3� u6 v A��
�	
��� ! %"

��&%��!B ���%	 
�! %�  


 ���� D � ��
�
� %"?"���! 
�	�#

�� ! 

 , f = u + iv A	��
���& %"
*��,%,B ��

� 


�"���& %��
 D & �%��$

	
 

 ��
u6 v ��

� 
�	�
�� ! �
� ��

�����$
 ��! %"
�&��! Cauchy-Riemann�

A
OB 4 φ(x, y) = x2 − y2 ��

� 
�	�
��&� C
 /����� , %"?"�&! �,!�

5$%,

∂φ
∂x

= 2x ⇒ ∂2φ
∂x2 = 2

∂φ
∂y

= −2y ⇒ ∂2φ
∂y2 = −2

}
=⇒ ∂2φ

∂x2
+

∂2φ

∂y2
= 0.

<�%�� w , %"?"�&! �,!� 8
 �� ��� �� φ6 w 

 ��

�����$
 ��! %"
�&��! C-R
wy = φx �
� wx = −φy� <��
 �
 �� ��� wy = 2x ⇒ w = 2xy + µ(x) ���"
µ(x) %�
���& �! ���! y� <��
 wx = 2y + µ′(x) ⇒ −φy = 2y + µ′(x) ⇒ 2y =
2y + µ′(x) ⇒ µ′(x) = 0 ⇒ µ1(x) = c ⇒ w(x, y) = 2xy + c�

A/OB C
 /����� 


�"���& %"
*��,%, f(z) = u(x, y)+iv(x, y)6 
�� ��! %- %��! v(x, y) =
y

x2+y2 �
� f(2) = 0�

5$%,

vx = − 2xy

(x2+y2)2
�
� vy = x2−y2

(x2+y2)2
� �����& �� ��� 

 ��

�����$
�
� �� %"
�&��! C-

R �
  -�"	�G uy = −vx = 2xy

(x2+y2)2
⇒ u(x, y) =

∫
2xy

(x2+y2)2
dy + µ(x) = − x

x2+y2 +

µ(x)� <��%� �
��
�"	� ��� ux = x2−y2

(x2+y2)
+µ′(x) �
� 
.�$ �� ��� ux = vy ⇒ µ(x) =

c� ��� �, %- %, f(2) = 0 �
��
�"	� ��� c = 1
2
6 �
�  �%� �����*

f(z) =
1

2
− 1

z

	��
������ 	��
�������

<�%�� �$� ����� 
���! �
	�"��
 u(x, y) = c1 �
� v(x, y) = c2 �
�  %�� ��� , f = u + iv
��

� 


�"���&� ���� �� ����� 
���! �
	�"��
 u �
� v ��

� ������
��!�
����� 

 ���-��� ��� �� ��
�	�
� �,! ���%,!

(
dy
dx

)
u
�,! u(x, y) = c∗16 ��� �,
 ���%,

(
dy
dx

)
v
�,!

v(x, y) = c∗2 ��

� �%� 	� #�� @%��$

	
 �,�
�& 
���� 

 ���-��� ��� ∇u · ∇v = 0� ��*�	
��6(
dy

dx

)
u

= −
∂u
∂x
∂u
∂y

�
�

(
dy

dx

)
v

= −
∂v
∂x
∂v
∂y

.

��



�
��%���-
G

∇u · ∇v =

(
∂u

∂x
,
∂u

∂y

)
·
(

∂v

∂x
,
∂v

∂y

)
=

∂u

∂x

∂v

∂x
+

∂u

∂y

∂v

∂y
.

��� ��! %"
�&��! C-R �
��
�"	� ���(
dy

dx

)
u

·
(

dy

dx

)
v

= −1 & ∇u · ∇v = 0.

-��&������ �.�.� ���%�����%�� ��! ������
��! ���-� ! 	�
! ����� 
��
! �
	�"��
 %��
xy ������� 	� �+�%�%, e−x(x sin y − y cos y) = c, c ∈ R %�
���*�

<�%�� u(x, y) = e−x(x sin y − y cos y). �

?,��$	� v � ���
 �%�� , f = u + iv 

 ��

�



�"���&� ��� ��! %"
�&��! C-R  -�"	� ���

vy = ux = e−x sin y − xe−x sin y + ye−x cos y

vx = −uy = e−x cos y − xe−x cos y − ye−x sin y.

<��
 �����,��
�
�
! �! ���! y  -�"	� v = ye−x sin y + xe−x cos y + F (x)� ��, %"
 -��

�
�
����?�"	� �! ���! x �
� 

���
��%��$	� ����� �����* �
��
�"	� F (x) = c.

��) *� ����'���
��" ��
�������"

��'�� � (�)
�	�� �"!#�����

����"	�$	� 

 ���%�"	� 	�
 �������& %"
*��,%, 	�
! 	��
���&! 	��
/�,�&! z� 8 ��"	�
�,�
�& 

 /��$	� 	�
 


�"���& %"
*��,%, f � ���
 �%��

f(z1 + z2) = f(z1)f(z2)

f(x) = ex ∀x ∈ R

��� ��! �+�%�%��! 
"� ! �
��
�"	� ��� f(z) = f(x + iy) = f(x)f(iy) = exf(iy)� 8 ��
�
!
f(iy) = A(y) + iB(y) �
��
�"	�

f(z) = exA(y) + iexB(y).

;�
 

 ��

� , f 


�"���&6 �
 �� ��� 

 ��

�����$
�
� �� %"
�&��! C-R %"
���! �
 �� ���
A(y) = B′(y) �
� A′(y) = −B(y)� 1,�
�& A′′(y) = −A(y)� <��%�  -�"	� ���

A(y) = a cos y + b sin y

B(y) = −A′(y) = −b cos y + a sin y.

<3	�! f(x) = ex ⇒ A(0) = 1, B(0) = 0� �+*���" A(0) = a, B(0) = −b� )
�
�&��"	�6
�����
6 %�,


f(z) = ex cos y + iex sin y

��



�$���
 ��
�,��$��
� ��� , f ��

� 
� �
�
 %"
*��,%, ��" ��

������ ��! %- %��! ��" � �
	��
4 f ��

� %"
���! 
� �
�
 “�� ��
%,”�,! ��
�	
���&! �������&! %"
*��,%,!� ;�*.�"	�
f(z) = ez�

2��#�!��� �!� ez

�� |ez| = ex

�� ez̄ = ēz

�� eiy = cosy + isiny

0� 4 �+�%�%, ez = a  -�� 
�����" ��&��"! �$%��! ��
 �*�� a �= 0 Aa ∈ CB

�� �� ����� ��	�
 �,! ez ��

� �� C − {0}�
�� ez+2πi = ez6 ∀z ∈ C

2� ��, �����
 −π < Im(z) ≤ π , ez ��

� �#��

�� ez1ez2 = ez1+z2

'� (ez)′ = ez

��� 4 �������& %"
*��,%, 	����� 

 ���%��� �! ez =
∑∞

n=0
zn

n!

��'�� *	 ��	�+!��
��	�&� �"!�����
	�

;�
 

 ���%�"	� �
 sin z �
� cos z �
�
�,��$	� ��� ��
 y ∈ R �%-$��

eiy = cos y + i sin y, e−iy = cos y − i sin y

�����

sin y =
1

2i

(
eiy − e−iy

)
�
� cos y =

1

2

(
eiy + e−iy

)
.

<��%� 	����$	� 

 ���%�"	� 
� �
��! �����*%��! ��
 sin x �
� cos x � ��
�
!

sin z =
1

2i

(
eiz − e−iz

)
cos z =

1

2

(
eiz + e−iz

)
2��#�!���

�� cos′ z = − sin z

�� sin′ z = cos z

�� cos (−z) = cos z6 cos (z + 2π) = cos z6 cos (z + π) = − cos z

�0



0� sin(−z) = − sin z6 sin(z + 2π) = sin z6 sin(z + π) = − sin z

�� cos2 z + sinz = 1

�� cos z + i sin z = eiz A�$��! ��" EulerB

2� cos(z1 ± z2) = cos z1 cos z2 ∓ sin z1 sin z2

�� sin(z1 ± z2) = sin z1 cos z2 ± cos z1 sin z2

'� �
�����
 	� �� sin x �� sin z ��
 .�*%%��
� �
�’
���"�, ��	& 
�� �� ��

��-� | sin(10i)| = 1
2
(e10 − e−10) > 10000 AMB

��� sin z = 0 ⇔ z = κπ, κ ∈ Z

��� cos z = 0 ⇔ z =
(
κ + 1

2

)
π, κ ∈ Z

��� 3� %"

��&%��! %"
,	���
� �
� ,	���
� ���?�
�
� �
� �! �+&!G

cos z =
∞∑

n=0

(−1)n z2n

(2n)!

sin z =
∞∑

n=0

(−1)n z2n+1

(2n + 1)!

3� "�������! �����
�	����� ! %"

��&%��! ���?�
�
� �! �+&!G

tan z =
sin z

cos z
, cot z =

cos z

sin z
, sec z =

1

cos z
, csc z =

1

sin z

�
� �� "���/���� ! �����
�	����� ! %"

��&%��! �! �+&!G

sinh z =
1

2

(
ez − e−z

)
, cosh z =

1

2

(
ez + e−z

)
, tanh z =

sinh z

cosh z

������
4 *���/�
 �
� � ����%	�! 
"��
 ��
 %"

��&%��
 ��
��
� 	� /*%, ��"! ���,��$	�#


�"! ���%	�$!� 3� �$��� ��" 
������
$�
�
� ��

� ����� 	� 
"��$! ��" �
���?�"	� ��
 ��!


��%���-�! %"

��&%��! 	�
! ��
�	
���&! 	��
/�,�&!�

��'�� � ,����	)�	�� �"!#�����

<�%�� Log r � �
�%��! ."%���! ���*���	�! �
�! r ∈ R+6 ���! ���?��
� %��
 
�����%����
����%	�� �
 z ∈ C − {0} �
� r = |z|6 θ = arg z6 ���?�"	�

log z = Log r + iθ.

��



�"�& ��

� 	�
 �������	, %"
*��,%,� �
 θ0 %"	/���?�� �,
 �$��
 ��	, ��" arg z A−π < θ0 ≤
πB6 ���� θ = θ0+2nπ6 n ∈ Z �
�  �%� , 
�-��& �+�%�%, ��*.��
�G log z = Log r+i (θ0 + 2nπ)�
�
 ���
 � %�"	� n = 0 %�,
 ���,��$	�
, %- %,6 �
��
�"	� �,
 �$��
 ��	& ��" ���
���	�"
Log z = Log r + iθ06 r > 06 −π < θ0 ≤ π� 4 
�����
�%, w = log z ��

� 	�
���	, 	� �����
���%	�$ �� C − {0} �
� ����� ��	�
 �� −π < Im(w) ≤ π� ���.

�! 

 �� ����� ���%	�$
�������%��� %�� R+6 � Log z 

*���
� %�� %"
&�, ."%��� ���*���	��

-������!�! �. .� w = Log z ⇔ z = ew

������
�
! ��! %"
�%��%�! %"

��&%��! Log r �
� θ0 ��" Log z6 �
�
�,��$	� ��� ��

� %"#

�-&! %�� {(r, θ) : r > 0, π < θ < π} �
� ��� 
"�� ��

� �� 	 ��%�� �"

�� %$
���6 ���" ,
Log z ��

� %"
�-&!� ���%,! �
�
�,��$	� ��� , %"
*��,%, Log z ��

� 


�"���& %��
 �
�
#
�*
� ����� A�"��  ���
� 
�� ��! %"
�&��! C-R �
� ��� %"������	 

 
�� �,
 �����& 	��.&
��"!G ur(r0, θ0) = 1

r0
vθ(r0, θ0)6

1
r0

uθ(r0, θ0) = −vr(r0, θ0)B� <�	�%
 ����$���� , �����,�


d

dz
Log z =

1

z
, (|z| > 0, −π < Argz < π).

�
 �������%��$	� %�� %$
��� {(r, θ) : r > 0, a < θ < a+2π, a : 
"�
�����! %�
����! 
���	�! }
, %"
*��,%, log z = Log r + iθ ��

� 	�
���	, �
� %"
�-&!� �������
$��
�6 ���! �
�
�*
�6
��� ��

� 


�"���& �
� ���

d

dz
log z =

1

z
(|z| > 0, a < argz < a + 2π)

<�

! ��&�
� 	�
! �������	,! %"
*��,%,! f ��

� ����
�&���� 	�
���	, %"
*��,%, F
��" ��

� 


�"���& %� �*����
 ����6 %� �*�� %,	��� z ��" �����" , ��	& F (z) ��

� 	�


�� ��! ��	 ! f(z)� P! ���! 
"��
 ��
 ���%	�6 , %"
*��,%, Log z ���%	 
, %��
 ����
{(r, θ) : r > 0,−π < θ < π} %"
�%�*  


 ��*�� �,! log z� �"��! � ��*��! � ���
� �*��
�
��&�
�� 4 %"
*��,%, log z ��

�  

! *���! ��*��! �,! ���
! �������	,! %"
*��,%,!�

2��#�!��� �!� log z

�� elog z = z

�� log ez = z + 2nπi6 n ∈ Z

�� log(z1z2) = log z1 + log z2

0� log
(
z

1
n

)
= 1

n
log z6 n ∈ N

�� z
1
n = exp

(
1
n

log z
)
6 n ∈ N

�� log zn �= n log z6 n ∈ N

��



��'�' *	 �"!�����
	� zλ- λz- λ ∈ C

	����#� �. .� zλ = exp(λ log z)

4 %"
*��,%, zλ ��

� 	�
���	, �
� 


�"���& %��
 ���� {(r, θ) : r > 0, a < θ < a + 2π}�
4 �
�*����! 
"��$ ��" ��*��" �,! zλ ��
��
� 
�� �, %- %,

d

dz
zλ = λzλ−1 (|z| > 0, a < arg z < a + 2π)

<3�

 a = −π6 �,�
�& −π < arg z < π6 , %"
*��,%, zλ � ���
� �$���! ��*��! �,! �������	,!
%"
*��,%,! zλ�

	����#� �. .� λz = exp(z log λ), λ ∈ C − {0}.
<3�

 �
����%��� 	�
 ��	& �,! log λ6 , λz ��

� 
� �
�
 %"
*��,%, ��" z� �$���
 .
�
��
�

���
d

dz
λz = λz log λ, λ �= 0

@%-$�"
 �� �
�%��� �

�
�! *���/�
! �
� ����%	�$ ��’ 
"� ! ��! %"

��&%��!� � ��!6 �%-$��

(1 + z)λ =
∞∑

n=0

(
λ
n

)
zn, |z| < 1,

���"

(
λ
n

)
= λ(λ−1)···(λ−n+1)

n!
�

��'�. *	 �!�������
� ��	�+!��
��	�&� �"!�����
	�

<�%�� z = sin w� ���� w = arcsin z� <�-�"	�

z =
eiw − e−iw

2i
⇒ e2iw − 2izeiw − 1 = 0 ⇒ eiw = iz + (1 − z2)1/2

���" �! �
�%��
6 , (1 − z2)1/2 ��

� ����	, %"
*��,%, ��" z� �
��
�
�
! ���
���	�"!6
 -�"	�

w = arcsin z = −i log[iz + (1 − z2)1/2].

4 arcsin z ��

� �������	, %"
*��,%, 	� *�����" ��&��"! ��	 ! %� �*�� z� <3�

 ���%�����#
%��$
 %"������	 
�� ��*��� �,! ����
��
��&! ��?
! �
� ��" ���
���	�"6 , %"
*��,%, 
"�&
��
��
� 	�
���	, �
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�"���& A�! %$
��%, 


�"����
 %"

��&%��
B� �
*���
 ���?�
�
�
�� %"

��&%��!

arccos z = −i log[z + i(1 − z2)1/2]

arctan z =
i

2
log

i + z

i − z

�2



3� �
�*����� 
"��
 ��
 ����
 %"

��&%��
6 	����$
 

 /����$
 
�� ��! �
�
�*
�
%- %��!� 3� �
�*����� ��
 �$� �����
 �+
���
�
� 
�� ��! ��	 ! ��"  -�"
 �������� ��
 �,

����
��
��& ��?
G

d

dz
arcsin z =

1

(1 − z2)1/2
,

d

dz
arccos z =

−1

(1 − z2)1/2
.

�
�����
6 , �
�*����! �,! ����,!

d

dz
arctan z =

1

1 + z2

��
 �+
��*�
� 
�� ��
 ����� 	� ��
 ����� ��
��
� 	�
���	, , %"
*��,%,� �� 

��%���-�6
� ��!6 ����� ���?�
�
� �� 

��%���.�! "���/���� ! %"

��&%��!� ����$���� ���G

arcsinh z = log[z + (1 + z2)1/2]

arccosh z = log[z + (z2 − 1)1/2]

arctanh z =
1

2
log

1 + z

1 − z

��������

�� C
 ����"��$
 %�� C �� �+�%�%��! ez = 1 − i6 ez = −1 + i�
5$%,
P! �
�%��
 ew = z ⇒ w = log |z| + i arg z� �"
���!

A
OB ez = 1 − i ⇒ z = log
√

2 + i
(
2kπ − π

4

)
, k ∈ Z

A/OB ez = −1 + i ⇒ z = log
√

2 + i
(
2kπ + 3π

4

)
, k ∈ Z

�� �
� | sin x| ≤ 16 x ∈ R6 �%-$�� ��� , sin z6 z ∈ C ��
 ��

� .�
�	 
,�
5$%,
��*�	
��6  %�� z = x + iy� ����

| sin z| =

∣∣∣∣eiz − e−iz

2i

∣∣∣∣ ≥ |e−iz| − |eiz|
2

=
ey − e−y

2
.

<�%�� z = iy6 y ∈ R+� ���� 

 z → ∞ ⇒ y → ∞ ⇒ | sin z| → ∞.

�� C
 ����"��� %�� C , �+�%�%, cos z = 2�
5$%,

cos z = 2 ⇔ eiz+e−iz

2
= 2 ⇔ e2iz − 4eiz + 1 = 0 ⇒ eiz = 4±√

16−4
2

= 2 ± √
3�

<�%�� z = x + iy� ���� eiz = e−y(cos x + i sin x)� <��
 e−y cos x = 2 ± √
3 �
�

e−y sin x = 0 ⇒ sin x = 0 ⇒ x = kπ, k ∈ Z� ��� �,
 e−y cos x = 2 ±√
3  ���
� ��� �

k �� ��� 

 ��

� *����!6 �,�
�& k = 2m6 
.�$ e−y > 0 �
� 2 ±√
3 > 0� <��%�

e−y = 2 ±
√

3 ⇒ y = − log(2 ±
√

3)

��



�
� %"
���! A
.�$ 2 −√
3 = 1

2+
√

3
)  -�"	�

z = 2mπ − i log(2 ±
√

3) = 2mπ ± i log(2 +
√

3), m ∈ Z.

0� C
 /����$
 �� ���*���	�� ��
 (−1 − i)(1 − i), −1 − i, 1 − i�
5$%,

A
OB log[(−1 − i)(1 − i)] = log(−2) = log 2 + πi + 2nπi, n ∈ Z

A/OB log(−1 − i) = log
√

2 + 5π
4

i + 2mπi, m ∈ Z

A�OB log(1 − i) = log
√

2 + 7π
4

i + 2kπi, k ∈ Z

�
�
�,��$	� ��� log[(−1 − i)(1 − i)] = log(−1 − i) + log(1 − i) (mod2πi)�

�� C
 "������%��$
 �� ��	 ! ��
 31/26 i1/26 ii6 (−1)
√

2�

A
OB 31/2 = e(1/2) log 3 = e(1/2)(log 3+2kπi) = e(1/2) log 3ekπi = ±√
3�

A/OB i1/2 = e(1/2) log i = e(1/2)i(π
2
+2kπ) = ±e

πi
4 = ±

√
2

2
(1 + i)�

A�OB ii = ei log i = ei(log 1+i(π
2
+2kπ)) = e−(π

2
+2kπ), k ∈ Z� A1,�� �� ii ∈ RB�

A�OB (−1)
√

2 = e
√

2 log(−1) = e
√

2(log 1+i(2kπ+π)) = e
√

2i(2kπ+π) = cos(π
√

2 + 2kπ
√

2) +
i sin(π

√
2 + 2kπ

√
2)

�� log zn �= n log z� >� ��"	� 	����* �
�
����	
�
�

A
OB z = i, n = 2 :
log i2 = log(−1) = (2k + 1)πi, k ∈ Z�
�
� 2 log i = (4k + 1)πi, k ∈ Z�

A/OB Log ((1 + i)2) = 2 Log(1 + i)�

A�OB Log ((−1 + i)2) �= 2 Log(−1 + i)�

A�OB �
 log z = Log r + iθ
(
r > 0, π

4
< θ < 9π

4

) ⇒ log i2 = 2 log i�

A�OB �
 log z = Log r + iθ
(
r > 0, 3π

4
< θ < 11π

4

) ⇒ log i2 �= 2 log i�

2� <�%�� Aa0 = {z : a0 ≤ Im(z) < a0 + 2π}, a0 ∈ R� ���� , ez 
�����
�?�� �� Aa0 �#�
�
� ��� ��" C − {0}�
5$%,

�
 ez1 = ez2 6 ���� ez1−z2 = 1 ⇒ z1−z2 = 2πik, k ∈ Z� �.’ �%�
 z1, z2 ∈ Aa0 6 �%-$��
0 ≤ Im(z1 − z2) < 2π �
� 
.�$ Re(z1 − z2) = 0 �
  -�"	� z1 = z26 �,�
�& , ez ��

�
�#�� <�%�� ���
 w ∈ C − {0}� 8����$	� �,
 ez = w %�� Aa0 � ���� 

 z = x + iy
�
� w = u + iv  -�"	� ez = w ⇔ ex+iy = u + iv ⇔ ex(cos y + i sin y) = u + iv ⇔

ex cos y = u
ex sin y = v

}
⇔ e2x(cos2 y + sin2 y) = u2 + v2

cos y + i sin y = u+iv
ex

}
⇔ ex =

√
u2 + v2

eiy = u+iv
ex

}
⇔

�'



ex = |w|
eiy = w

|w|

}
⇔

x = log |w| A%"
&�,! ���*���	�!BG 	�
 
���/�! �$%,�
y = arg w %�� [a0, a0 + 2π]  -�� 
���/�! 	�
 �$%,

1,�
�& , ez ��

� ��� ��" C − {0}�
�� 4 %"
*��,%, Argz ��

� %"
�-&! %�� C−R−

0 �
� 
%"
�-&! %�� R−� 3	���! A."%��*B
�
� ��
 �,
 Log z

'� f1(z) = z2�
3 z2  -�� 	&��! �%� 	� |z|2 �
� ���%	
 2 arg z� 1,�
�& , f1 "D�
�� %�� ����*��
� ��
	 ��� �
� ����
%�*?�� �� ���%	
�

��� f2(z) =
√

z�
<�%�� ���  -�"	� ��
� +��  


 ��*��6 -�,%�	�����
�
! �� 0 ≤ θ < 2π� ���� z =

reiθ ⇒ √
z =

√
rei θ

2 	� 0 ≤ θ
2

< π6 ����� ,
√

z /��%���
� �*
�
 %�� *
� ,	�������� �
�
�� ��
��! "������
%�*?�
�
�� 4 f2(z) =

√
z ��

� , 

��%���., �,! f1(z) = z2 ��

 ,

����"�
�
 �������%��� %� �����-& ��" ��

� �#��

��� f(z) = sin z�
������
�?�� �"����! �
�*��,��! ���! ��
 ��
�	
���� *+�

 %� �����D��! �
� �"����!
�
�*��,��! ���! ��
 .

�
%���� *+�

 %� "���/�� !� ��*�	
��6

sin z = sin x + iy = sin x cos (iy) + sin (iy) cos x =

= sin x cosh y + i sinh y cos x,

���" cosh y = ey+e−y

2
6 sinh y = ey−e−y

2
6 
.�$ �%-$�� sin iy = eiiy−e−iiy

2i
= i ey−e−y

2
=

i sinh y �
� 

��%���-�! cos (iy) = cosh y� <�%��6 �����
6 ����
 y = y0 A�"���

�
�*��,�, 	� ��
 *+�

 ��
 ��
�	
����
B� ���� 

 sin z = u + iv6  -�"	� ���� ��

���,��$	�
�
 %- %��


u = sin x cosh y0 ⇒ sin x = u
cosh y0

v = cos x sinh y0 ⇒ cos y = v
sinh y0

}
⇒ u2

cosh2 y0

+
v2

sinh2 y0

= 1

��" ��

�  ����D, %�� uv ��������

3	���!6 

 x = x0 A�"���
 �
�*��,�, 	� ��
 *+�

 ��
 .

�
%����
B /��%��"	�
A-�,%�	�����
�
! �,
 �
"���,�
 cosh2 y − sinh2 y = 1B ��� u2

sin2 x0
− v2

cos2 x0
= 16 ��"

��

� "���/��&�

0�



�������� &

������
���

�� �����&��	
 ��

� �+
������* %,	

���� %�, 	�� �, %"

��&%��
 	�
! 	��
���&! 	��
/�,#
�&!� 4 �����
 �����&��%,! ��
���
��
� ��
 �, 	
�,	
���& �,! ��	D��,�
� �
 ����&	
�

��

� �%-"���
�
 �
� �� ��� ���� ! 
�����+��! ��

� 
�� !� 4 �����
 �����&��%,! ��

� ���� �

���
����
 %,	

���& ��
 �, 	��*�, -�,%�	��,�* �,! %�
 �.
�	�%	 

 	
�,	
���*�

)�� *����!
� ����������

������	 
�" 

 ��%*��"	� �� �����&��	
 �,! f(z) 	�  


 %-����* 
��� �����6 ���?�"	�

�-��* �� ���%	 
� �����&��	
 	�
! 	��
���&! %"
*��,%,! F 	�
! ��
�	
���&! 	��
/�,�&!
t� <�%�� F (t) = U(t) + iV (t)6 t ∈ [a, b]6 ���" �� %"

��&%��! U �
� V ��

� ��
�	
��� ! �
�
�
�* �	&	
�
 %"
�-��! %"

��&%��! ��" t ���%	 
�! %�  

 ����%�� �
� .�
�	 
� ��*%�,	

[a, b]� 5 	� ���� ��� , F ��

� �
�* �	&	
�
 %"
�-&! �
� ���?�"	� �� ���%	 
� �����&��	

�,! F %�� [a, b] �! �+&!G ∫ b

a

F (t)dt =

∫ b

a

U(t)dt + i

∫ b

a

V (t)dt.

�� %"
�&��! ��" "��� %
	� ��
 ��! U �
� V ��

� ��

 ! ��
 

 �+
%.
��%�"
 �,
 $�
�+, ��

�����,��	*��
 ��"!� �� ��
���"	 
� �����&��	
 �,! F ��� �
�! 	, .�
�	 
�" ��
%�&	
��!
���?��
� 

*���
 �
� "�*�-�� ��

 %"����
�"
 �
� �
 �$� ��
���"	 

 �����,��	
�
 �,! U
�
� �,! V � 4 *���/�
 �
� � ����%	�! ��
 ���%	 
�
 �����,��	*��
 �%-$�"
 
���/�! ���!
�
� ��
 ��! ��
�	
��� ! %"

��&%��! ��" t�

8
 ���+�"	� 	�
 /
%��& �����,�
G∣∣∣∣
∫ b

a

F (t)dt

∣∣∣∣ =

∫ b

a

|F (t)|dt.

A, ���
 �����,�
 �%-$�� / /
�
 �
� �
 ��
���"	 

 �����,��	
�

∫ +∞

a
B <�%��

∫ b

a
F (t)dt = z ∈

C �
�  %�� z = reiθ� ����

r =

∫ b

a

e−iθF (t) ⇒ r =

∫ b

a

Re
[
e−iθF (t)

]
dt

0�




.�$ Re
[∫ b

a
G(t)dt

]
=

∫ b

a
Re[G(t)]dt �
� 
.�$ , ����, %- %, ��

� %- %, ��
�	
����



���	�
� <3	�!
Re

[
e−iθF (t)

] ≤ ∣∣e−iθF (t)
∣∣ = |e−iθ||F (t)| = |F |,

�����

r <

∫ b

a

|f(t)dt

��" 
������
$�� �� ?,��$	�
��

)�� %���$��"

8
 
%-��,��$	� 	� ��*%��! �
	�"��
 ��" 	
! -���*?�
�
� %�, 	�� �, �����,��	*��

%"

��&%��
 	�
! 	��
���&! 	��
/�,�&!� )
	�$�, C ��

�  

 %$
��� %,	���
 z = (x, y)
��" C6 � ���� �%�� x = x(t)6 y = y(t)6 t ∈ [a, b] ���" �� x �
� y ��

� %"
�-��! %"

��&%��!
�,! ��
�	
���&! �
�
	 ���" t� ������*.�"	� �
 %,	��
 �,! C 	� �,
 �+�%�%, z = z(t) =
x(t)+ iy(t)6 t ∈ [a, b] �
� 
.�$ �� x, y ��

� %"
�-��!6 ��

� �
� , z� 4 �
	�$�, C � ���
� 
��&
�
	�$�, & �
	�$�, Jordan 

 ��
 � 	
�� ��
 �
"�� �,! A�,�
�& z(t1) �= z(t2) ��
 t1 �= t2B�
��
 �
	�$�, ��" ��

� 
��&6 ����! 
�� �
 *��
 �,! ���" z(a) = z(b)6 � ���
� 
��& ����%�&
�
	�$�, & �
	�$�, Jordan� �
 �� x6 y ��

� ��
.���%�	�! %"

��&%��! ��" t6 , z ��

� ���%,!
��
.���%�	, %"
*��,%, ��" t �
�  -�"	�

z′(t) =
dz(t)

dt
:= x′(t) + iy′(t).

��
 �
	�$�, � ���
� ���
6 

 "�*�-��6 ��

� %"
�-&! �
� ��
 	,��
�?��
� %�� [a, b] , z′(t)�
�� 	&��! 	�
! ���
! �
	�$�,! ��.�*?��
� 
�� ��
 �$��

L =

∫ b

a

|z′(t)|dt, (|z′(t)| =
√

[x′(t)]2 + [y′(t)]2)

�
� ��

� 


������� 
�� 	��
/�� ! �,! �
�
	�����&! 


�
�*%�
%,! �,! C �,! 	��.&!

t = φ(s),

���" φ : [c, d] → [a, b] ��

� ���6 %"
�-&!  -�� %"
�-& �
�*���� �
� φ′(s) > 0 ��
 �*��
s� )
�* �	&	
�
 ���
 �
	�$�, ��

� 	�
 �
	�$�, ��" 
��������
� 
�� �����
%	 
� ��&��!
����
 �
	�"��
 ��" �
�
�
�
� �
 *��
 ��"!� �
 , z(t) = x(t) + iy(t) �
��%�*
�� 	�
 �
�*
�	&	
�
 ���
 �
	�$�,6 �� x �
� y ��

� ��

� %"
�-��!6 �
� �� �����! �
�*����� ��"! ��

�
�
�* �	&	
�
 %"
�-��!� �� 	&��! 	�
! �
�* �	&	
�
 ���
! �
	�$�,! ��

� �� *����%	
 ��

	,��
 ��
 ����
 �
	�"��
 ��" �,
 
������$
�

�� �*�� 
��& ����%�& �
	�$�, & 
��& ����%�& �
�* �	&	
�
 �
	�$�, C 

��%���-�$
 �$�
%$
��
 ��" �*��  

  -�� �! %$
��� 	�
� �,
 C� ��  

 
�� 
"�* ��" � ���
� �%�������
�,! C ��

� .�
�	 
�6 �
� �� *��� A�+�������B ��

� 	, .�
�	 
�� 4 
�����+, ��
 ��

� 
��&
�
� , ����
%, 
"�& � ���
� ����,	
 �
	�$�,! Jordan�

0�



)�� *��������� ����
���
 ��
�������
 ���" ��#

��
���" ����(����"

	����#�  .�.� <�%�� C �
�* �	&	
�
 ���
 �
	�$�, ��" ��
��
� 
�� �,
 z(t)6 t ∈ [a, b]�
<�%�� ��� , f ��

� 	�
 �
�* �	&	
�
 %"
�-&! %"
*��,%, %�� C� �� �����&��	
 �,! f �
�*
	&��! �,! C ���?��
� �! ∫

C

f(z)dz =

∫ b

a

f(z(t))z′(t)dt.

�
�
�,��$	� ��� �� �����&��	
 �
�* 	&��! �,! C ��
 �+
��*�
� 	�
� 
�� �
 %,	��
 �,! C6

��* �
� 
�� �, ���$�"
%,� <3	�! ��
 �+
��*�
� 
�� �, %"������	 
, �
�
	���������,%,�

	����#�  .�.� 3� �$� �
	�$��! C1 : z(t)6 t ∈ [a, b]6 c2 : w(t)6 t ∈ [c, d] ��

� 
���&
��
�*����� 

 "�*�-�� 	�
 �#�6 C1 
�����
�%, Ψ(t) : [c, d] → [a, b] � ���
 �%�� Ψ(c) = a6
Ψ(d) = b �
� w(t) = z(Ψ(t))�

-�#���!  .�.� �
 �� C1 �
� C2 ��

� �	
�* �%��$

	�!6 ����
∫

C1
f =

∫
C2

f �

	����#�  .�.� <�%�� ��� , �
	�$�, C ��
��
� 
�� �,
 z(t)6 t ∈ [a, b]� ���� , −C ���?��
�

�� �,
 z(b + a − t)6 t ∈ [a, b]�

-�#���!  .�.�
∫
−C

f = − ∫
C

f

-�#���!  .�.� <�%�� C ���
 �
	�$�,6 f �
� g %"
�-��! %�,
 C �
� a ∈ C� ����

• ∫
C
[f(z) + g(z)]dz =

∫
C

f(z)dz +
∫

C
g(z)dz

• ∫
C

af(z)dz = a
∫

C
f(z)dz

-�#���!  .�. <�%�� C ���
 �
	�$�, 	&��"! L6 f %"
�-&! %�,
 C �
� |f | ≤ M %�,

C� ���� ∣∣∣∣

∫
C

f(z)dz

∣∣∣∣ ≤ ML.

-�#���!  .�.� <�%�� {fn} 
����"��
 %"
�-�
 %"

��&%��
 �
�  %�� ��� fn → f �	���#
	��.
 ��� �,! ���
! �
	�$�,! C� ����∫

C

f(z)dz = lim
n→+∞

∫
C

fn(z)dz.

4 
����"�, ��
���"%, ��" 8�	������"! ����&	
��! ��" ������%����$ 5���%	�$ ��

�
���$ %,	

���&�

-�#���!  .�.� <�%�� F 


�"���& ��� �,! ���
! �
	�$�,! C �
� f , �
�*����! �,! F �
���� ∫

C

f(z) = F (z(b)) − F (z(a))

0�



-�����������

�� C
 /����� �� I1 =
∫

C1
z2dz6 ���" C1 �� �"�$��
		� �	&	
 3> 
�� �� z = 0 %��

z = 2 + i�
0*�!
�
�
�,��$	� ��� �
 %,	��
 �,! C1 /��%��
�
� �*
� %�,
 �"���
 x = 2y� �
6 �����
6 ,
%"
���
�	 
, y ����,��� �! �
�*	����!6 	�
 �
�
	�����& �+�%�%, �,! C1 ��

� z(y) =
2y + iy�

��� �,! C16 �� z2 ��
��
�G z2 = x2 − y2 + i2xy = 3y2 + i4y2� 3���� I1 =
∫ 1

o
(3y2 +

i4y2)(2 + i)dy = (3 + 4i)(z + i)
∫ 1

0
y2dy = 2

3
+ 11

3
i�

�� C
 /����� �� I2 =
∫

C2
z2dz6 ���" C2G �� �"�$��
		� �	&	
 
�� �,
 
�-& ��
 
+�
�


A3B 	 -�� �� �GA�6�B �
� 
�� ���� �� �"�$��
		� �	&	
 	 -�� �� >GA�6�B6 	� ������
���%


����%	� A/� �� %-&	
 0��B�

�-&	
 0��G �� �����
� 3�>�

0*�!
I2 =

∫
C2

z2dz =
∫

OA
z2dz +

∫
AB

z2dz� ��
 �
�
	�����& 


�
�*%�
%, ��" 3� ��

�

z(x) = x, x ∈ [0, 2]

�
� ��
 �� �> 	����$	� 

 ��*D�"	�

z(y) = 2 + iy, y ∈ [0, 1].

���� I2 =
∫ 2

0
x2dx+

∫ 1

0
(2+ iy)2idy = 8

3
+ i

[∫ 1

0
(4 − y2)dy + 4i

∫ 1

0
ydy

]
= 2

3
+ 11

3
i. ��


�
�
	�����& 


�
�*%�
%, ��" 3�> ��

� ,

z(t) =

{
t, t ∈ [0, 2]

2 + i(t − 2), t ∈ [2, 3]

00



�
�
�,��$	� ��� I2 = I1 �
� %"
���!
∫

C
z2dz = 06 ���" C = OABO6 ��*�	
 ��"

��
 ��

� �"-
�� 
��* �.�����
� %�� ��� , z2 ��

� 


�"���& %�� �%������� �
� ��� �,!
�
	�$�,! ���! �
 ��$	� 
������
�

�� C
 /����$
 �
 I3 =
∫

C3
z̄dz �
� I4 =

∫
C4

z̄dz6 ���" C3 : �� *
� ,	��$���� ��" |z| = 1
A
�� z = −1 ��! z = 1B �
� C4 : �� �*�� ,	��$�����
0*�!
��
 �
�
	�����& �+�%�%, ��" −C3 ��

� ,

z(θ) = cos θ + i sin θ = eiθ, θ ∈ [0, π].

�"
���! I3 =
∫

C3
z̄dz = − ∫

−C3
z̄dz = − ∫ π

o
e−iθieiθdθ = −πi. �
�����
 	�
 �
�
	�#

����& �+�%�%, ��" C4 ��

� ,

z(θ) = eiθ, π ≤ θ ≤ 2,

����� I4 =
∫

C4
z̄dz =

∫ 2π

π
e−iθieiθdθ = πi. �
�
�,��$	� ��� I3 �= I4 �
� 
��	
 ��� ��

�����&��	
 IC =
∫

C
z̄dz6 ���" C �����,��! � �$���!6 ��
 ��

� �G IC = I4−I3 = 2πi�

� ��! ��� ��" C �%-$�� ��� |z| = 1 ����� 1
z

= z̄
|z|2 = z̄ �
�  �%�

∫
C

dz
z

= 2πi�

0� <�%�� C5 �� �"�$��
		� �	&	
 
�� �� z = i %�� z = 1� =���! 

 "������%��� ��
�����&��	
 I5 =

∫
C5

dz
z4 

 /�����  

 *
� .�*�	
 �,! 
���"�,! ��	&! ��"�

0*�!
�� C5 /��%���
� �*
� %�,
 �"���
 y = 1 − x� �
 z ∈ C56  -�"	� |z4| = (x2 + y2)2 =

(x2 + (1 − x)2)2 = (2x2 − 2x + 1)26 ����� |z4| =
(
2
(
x − 1

2
)2 + 1

2

))2 ≥ 1
4
6 
.�$(

x − 1
2

)2 ≥ 0� �"
���!6 ��
 �*�� z ∈ C5G
∣∣ 1
z4

∣∣ ≤ 4� 8 ��"	� �����
 M = 4 %�,


����
%, 0���0� �+*���" �� 	&��! L ��" C5 ��

� ���.

�! L =
√

2� �����* �
��
�"	�
|I5| ≤ 4

√
2�

)�) �� ������� Cauchy-Goursat

'�'�� %	�	�)��	���/"�	�� �0
�
	1�

8����$	�  

 ��*
"%	
 w̄ = u+ iv ��" 

��%���-�� %� �"-�
 %,	��� (x, y) �
�! ��%��*%�
��"
�����"� 8����$	� 	�
 �
	�$�, C %� 
"�� �� ������ �
 ����&%�"	� �� w̄ �! �$

	,6
	����$	� 

 ����&%�"	� �,
 C �! “��
���	&” �
�* 	&��! �,! ����
! ��
���
�  

 "����
%,	���� 4 ���$�"
%, 	�
! � ���
! ��
,%,! ��
��
� 
�� �� 	�

��
�� �.
���	�
� ��*
"%	

%�,
 �
	�$�, eiτ ���" τ , ��
�
 	��
+$ �,! �.
���	�
,! �
� ��" ������$ ,	�*+�

 ��
 x�
8����$	� �����& ���$�"
%, �,
 

�����, 	� 
"�& �,! ��
,%,! ��
 ������
 ��" �������$6 ��

����%� ! �
	�$��!�

�
 ����&%�"	� �� w̄ �! �"�
��,�
 ��$	
��!6 ��

� ."%��� 

 ����&%�"	� �,
 C �!
�� %$
��� ��
%-�?�
�
! �� ����� 	����� 

 ��
,���  

 "���� %,	���� ;�
 	�
 � ���
 ��
,%,
�� 	�

��
�� �+������� �*���� ��*
"%	
 eiν �
�?�� %,	

���� ����� ν ��

� , ��
�
 	��
+$

0�



�-&	
 0��G

�,! A�+������&!B �
� ��" �
� ��" ������$ ,	�*+�

 ��
 x� 8����& ���$�"
%, ��

� 
"�& �,!
�+������&! �
� ��" ��
 ����%� ! �
	�$��!� �"
���! eiτ = ieiν ⇒ cos τ = − sin ν, sin τ =
cos ν. <�%�� wτ , wν �� ���/�� ! ��" w̄ ��� �,! �.
���	�
,! �
� �,! �
� ��" %�,
 C6


��%���-�!� <�%�� ds �� ��
.����� ��" ��+�" �,! C %�� %,	��� z� �� �����  ��� ��
��
�

�� �, %- %,

∫
C

wτds6 

 ����&%�"	� �� w̄ �! �$

	, ��" �����* ��� ��" "����$ %,	���"
	��
. ��
�
! �� 
�� ��  

 *��� a �,! C %�� *��� b� �
 ����&%�"	� �� w̄ �! �"�
��,�

��$	
��!6 �� %"
����� ��%� $�,! ��" ���
*�� �*���
 
�� �,
 C 

* -��
��& 	�
*�
6 , ��&
AfluxB6 ��
��
� 
�� �, %- %,

∫
C

wνds� ��� �, ���	����
 ��" ���/�&	
��!6  -�"	� 
.�
�!
wτ = Re(w̄e−iτ ) = u cos τ + v sin τ 6 wν = Re(w̄e−iν) = u cos v + v sin ν �
� 
.’�� ��"
dx
ds

= cos τ 6 dy
ds

= sin τ 6 ����� � ��
�
! dx + idy = dz6 �����*  -�"	�
∫

C
wτds + i

∫
C

wνds =∫
C
(u − iv)(dx + idy) =

∫
C

wdz6 & 
�����!
∫

C
wdz = ���Ji·��&�

�-&	
 0��G

�
 ���
 �
 a �
� b %"	�����"
 AC : 
��& ����%�& �
	�$�,B �
� "��� %�"	� ��� , w = f(z)
��

� 


�"���&6 ���� A���!  -�"	� ���B �� ����� ��" w̄ ��

� %��,
���� ! �
� 
%���/���6

0�



%"
 ��! 	,��
�?�
�
� �
� ��  ��� �
� , ��&� <�-�"	� �����
 �����* #�� �� ! w = f(z) �����
��������� �� �&�� �!���
 �
� �#(
� R (
� +�&������ �(# �!� �������
���(*�! C ��� �(� �!� C? �#��/∫

C

f(z)dz = 0

'�'�� �� )
$���� Cauchy

<�%�� ��� �� ��
�	
��� ! %"

��&%��! P (x, y) �
� Q(x, y) �
��! �
� �� �����! 	���� ! �
�*#
����� ��"! ��

� %"
�-��! %�  


 ���� R ��" 
��������
� 
�� �
 %,	��
 ��" ����/*���
�
�

�� 	�
 
��& ����%�& �
	�$�, C �
� ��� �,! C� 8����$	� ��� , �
	�$�,  -�� �����& ���$#
�"
%,� ��� �� ����,	
 Green  -�"	� ���∫

C

(Pdx + Qdy) =

∫∫
(Qx − Py)dxdy.

8����$	� 	�
 %"
*��,%, f(z) = u(x, y) + iv(x, y) ��" ��

� 


�"���& %��
 R� 8����$	�
����� �
 ��� ! f ′(z) ����� ����$�� ��
� R. ���� �� u �
� v6 �
��! �
� �� �����!
	���� ! �
�*����� ��"! ��

� ���%,! %"
�-��! %��
 R� <��%�∫

C

udx − vdy = −
∫∫

R

(vx + uy)dxdy

∫
C

vdx + udy =

∫∫
R

(ux − vy)dxdy.

5��� ��
 %"
�,��
 Cauchy-Riemann �
� �
 �$� ����* �����,��	
�
 	,��
�?�
�
�6 �����∫
C

vdx + udy =
∫∫

R
(ux − vy)dxdy. <3	�!6 

 f = u + iv6 z = x + iy6

∫
C

f(z)dz =

∫
C

f(z(t))z′(t)dt =

∫ b

a

{u[x(t), y(t)] + iv[x(t), y(t)]}{x′(t) + iy′(t)}dt =

=

∫ b

a

(ux′ − vy′)dt + i

∫ b

a

(vx′ + uy′))dt =

∫
C

udx − vdy + i

∫
C

vdx + udy,

��*�	
 ��" %,	
�
�� ���
∫

C
f(z)dz = 0� �"�� �� 
��� ��%	
 �
�	*?��
� ����,	
 Cauchy�

'�'�� �� )
$���� Cauchy-Goursat

3 Goursat 
� ���+� ��� , "����%, �,! %"
 -��
! �,! f ′(z) 	����� 

 �
�
�,.���� 4 
 

	��.& ��" ���,��"	 
�" ����&	
��! ��" ����$����  �%� ��

�

:���!��  . .� �
 , f ��

� 


�"���& %��
 R �
� ��� �,! C6 ����
∫

C
f(z)dz = 0�

02



)�+ ���� ���  ������� ��
������ �$
���

	����#�  .�.� <�

! ����! D � ���
� �(�& ��������#� 

 ��
 ���� -�� ��$��!6 


�,�
�& ��

� �*
�
 �"

�� �$� �
	�$��! ��" D 	� ���
* *��
 

 	��
%-,	
��%��$
 %"
�-�!
, 	�
 %�,
 *��,6 -���! �
�* ��
 	��
%-,	
��%	� , �
	�$�, 

 /�
�
��  +� 
�� ��
 D� <�

!
	, 
��* %"
������! ����! � ���
� ����
��* %"
������!�

-�����������

• �� ������� 	���
 ��
 ��
�	
���� *+�

 ��
 ��

� 
��* %"
������6 ��
�� ��
 ��

� ����!
A	, %"
������B�

• 3 �
��$���! A = {z : 1 < |z| < 3} ��
 ��

� 
��* %"
������! A/� �� %-&	
 0�0B�

• 3 	�

��
��! ��%��! 	���
 ��
 ������ ��
�	
���� *+�

 ��

� 
��* %"
������! A/� ��
%-&	
 0��B�

• 4 *����, �����
 S = {z : −1 < Im z < 1} ��

� 
��* %"
�����& A/� �� %-&	
 0��B�

• )*�� 

��-�� �"��� %$
��� ��

� 
��* %"
�������

�� ����,	
 Cauchy-Goursat 	����� 

 ��
�"����� �! �+&!G

:���!��  .�.� �
 , f ��

� 


�"���& %�  


 
��* %"
������ ���� D6 ���� ��
 �*��

��& ����%�& �
	�$�, C �
��! ��" D �%-$��∫

C

f(z)dz = 0.

���.

�! �� “
��& ����%�& �
	�$�,” 	����� 

 

���
�
%�
��� 
�� �� “�"-�$%
 ����%�&
�
	�$�,”� �+*���" �� ����,	
 Cauchy-Goursat 	����� 

 �*��� �
� �,
 
����"�, 	��.&�

:���!��  .�.� <�%�� C 
��& ����%�& �
	�$�, �
� Cj (j = 1, 2, . . . , n) 
�� ! ����%� !
�
	�$��! 	 %
 %�,
 C6  �%� �%�� �
 �%������* %"
��
 ��
 Cj 

 	,
  -�"
 ���
* %,	��
�
<�%�� R �� ����%�� %$
��� ��" 
��������
� 
�� ��
 �
 %,	��
 	 %
 �
� ��� �,! C6 ����! 
��
�
 %,	��
 	 %
 %� �*�� Cj� <�%�� B �� ���%


����%	 
� %$
��� ��" R6 ��" 
��������
�

�� �,
 C �
� ���! ��! Cj A���$�"
%, � ���
 �%�� �
 %,	��
 ��" R 

 /��%��
�
� 
��%���*
��" BB� ����6 

 , f ��

� 


�"���& %�� R6∫

B

f(z)dz = 0

-��&������
�
 B 
��������
� 
�� ��
 �$��� |z| = 2 	� �����& ���$�"
%, �
� ��
 �$��� |z| = 1 	�


�
,���& ���$�"
%, ���� ∫
B

dz

z2(z2 + 9)
= 0.

4 %"
*��,%, 1
z2(z2+9)

��

� 


�"���&6 ����! 
�� �
 %,	��
 z = 06 z = ±3i ��" �	�! ��



&��"
 %�� �
��$��� 	� %$
��� B�

0�



�-&	
 0�0G

�-&	
 0��G

�-&	
 0��G

0'



)�, �� ������� *���������

<�%�� z0 �
� z �$� 
"�
����
 %,	��
 �
�! 
��* %"
������$ ����" D6 ���" , f ��

� 


�"���&�
�
 C1 �
� C2 ��

� �$� �
	�$��! ��" �
�
�"
 �� z0 	� �� z6 ���	�
�! �+< �����&��" %��

D6 ���� , C1 	
?� 	� �,
 −C2 %"
�%��$
 	�
 ����%�& �
	�$�,� ��� �� ����,	
 Cauchy-
Goursat6  -�"	� ∫

C1

f(s)ds −
∫

C2

f(s)ds = 0,

���" s %"	/���?�� %,	��
 ��� ��
 C16 C2� �� �����&��	
 
�� �� z0 %�� z6 ��

� %"
���!


�+*��,�� 
�� �,
 �
	�$�,6 	� �,
 ���L����%, ��� , �
	�$�, /��%���
� �����,�, 	 %

%��
 D� �"�� �� �����&��	
 ���?�� 	�
 %"
*��,%, F %��
 
��* %"
������ ���� D6

F (z) =

∫ z

z0

f(s)ds.

1��-
�"	� ��� "�*�-�� , �
�*����! �,! F (z) �
� �%�$�
� 	� f(z)� <�%�� z + ∆z �"-�

%,	���6 ��*.��� ��" z6 ��" /��%���
� %� 	�
 �����-& ��" z ��" 

&��� ��&��! %��
 D� ����

F (z + ∆z) − F (z) =

∫ z+∆z

z0

f(s)ds −
∫ z

z0

f(s)ds =

∫ z+∆z

z

f(s)ds

���" � ���	�! �����&��%,! 
�� �� z %�� z + ∆z 	����� 

 ������� �! �"�$��
		� �	&	
�
�����&

f(z) =
f(z)

∆z

∫ z+∆z

z

ds =
1

∆z

∫ z+∆z

z

f(z)ds

 ���
� ���
F (z + ∆z) − F (z)

∆z
− f(z) =

1

∆z

∫ z+∆z

z

(f(s) − f(z))ds.

<3	�! , f ��

� %"
�-&! %�� z �
�  �%� ��
 �*�� ε > 0 "�*�-�� δ > 0 � ���� �%��

|f(s) − f(z)| < ε ��

 |s − z| < δ.

�
6 �����
6 �� z + ∆z ��

� ��%� ��
�* %�� z �%�� |∆z| < δ6 ����∣∣∣∣F (z + ∆z) − F (z)

∆z
− f(z)

∣∣∣∣ <
1

∆z
ε|∆z| = ε.

1,�
�&

lim
∆z→0

F (z + ∆z) − F (z)

∆z
= f(z) ⇒ F ′(z) = f(z).

4 %"
*��,%, F (z) ��

�  

 �#����
 
�
������� A& 

���
�*����!B �,! f �
� ��*.��
�

F (z) =

∫
f(z)dz.

1,�
�&6 , F (z) ��

� 	�
 


�"���& %"
*��,%, �,! ����
! , �
�*����! ��

� f(z)�

��



-������!�!  .�.� �
 G(z) ��

� 	�
 *��, 


�"���& %"
*��,%,6 � ���
 �%�� G′(z) =
f(z)6 ���� �
 �$� 
���%�
 �����,��	
�
 F (z) �
� G(z) ��
. ��"
 �� ���$ �
�* 	�
 	��
���&
%�
���*�

��*�	
��6  %�� H(z) = F (z) − G(z)� ���� H ′(z) = F ′(z) − G′(z) = f(z) − f(z) = 0�
�
6 �����
6 H(z) = u(x, y) + iv(x, y)6  ���
� ��� ux(x, y) + ivx(x, y) = 0 �
� %"
���! �
�
, ux(x, y) �
� , vx(x, y) ��

� 	,� 
 %��
 ���� ���" �
� , F �
� , G ��

� 


�"��� !� ���
��! %"
�&��! Cauchy-Riemann  ���
� ��� �
� , uy(x, y) �
� , vy(x, y) 	,��
�?�
�
�� <��%� ,
u(x, y) �
� , v(x, y) ��

� %�
��� !6 �,�
�& H(z) = c̃ ⇒ F (z) = G(z) + c̃�

-��&������

�! "������%�"	� ��
∫ 1

−1
z1/2dz6 ���" z1/2 =

√
r exp iθ

2
6 r > 06 0 < θ < 2π �
� , �
	�$�,

��" �
�
�� �
 �$� *��
 �����&��%,! ����
� �*
� 
�� ��
 ��
�	
���� *+�

 %�� ������� z�
4 %"
*��,%, ��
 ��

� 


�"���& %�
 %,	��
 �,! 
���

! θ = 06 ���������
 %�� z = 1� <3	�!
 

! *���! ��*��!6

f(z) =
√

r exp
iθ

2
, r > 0, −π

2
< θ <

3π

2

�,! �������	,! %"
*��,%,! z1/2 ��

� 


�"����! �

��$ ����! 
�� �
 %,	��
 �,! 
���

!
θ = −π

2
� 3� ��	 ! �,! f(z) �*
� 
�� ��
 ��
�	
���� *+�

6 %"	�����"
 	� ����
�! ��"

�����" ��*��"
√

r exp iθ
2
6 r > 06 0 < θ < 2π �
�  �%� , �����,��� 
 %"
*��,%, 	����� 





���
�
%�
��� 
�� �,
 f(z)� ���
  

 
���%�� �����&��	
 �,! f(z) ��

� ,

2

3
z3/2 =

2

3
r3/2 exp

i3θ

2
, r > 0,−π

2
< θ <

3π

2

��  �%� ∫ 1

−1

z1/2dz =
2

3

(
e0 − e3iπ/2

)
=

2

3
(1 + i).

�� �����&��	
 ��" "������%
	�6 �
�* 	&��! 	�
! �
	�$�,! �*�� 
�� ��
 ��
�	
����
*+�

  -�� *��, ��	&� ��� 

���
��%��$	� �,
 �����,��� 
 %"
*��,%, 	� �,
 g(z) =√

r exp iθ
2
, r > 0, π

2
< θ < 5π

2
� 4 


�"���& %"
*��,%, 2

3
z3/2 = 2

3
r3/2 exp i3θ

2
, r > 0, π

2
<

θ < 5π
2
6 ��

�  

 
���%�� �����&��	
 �,! g(z)� <��%�∫ 1

−1

z1/2dz =
2

3

(
ei3π − e

i3π
2

)
=

2

3
(−1 + i).

)�- * ������������" �$��" ��� Cauchy

8
 


. ��"	� ���
  

 *��� ��	������! 
��� ��%	
�

:���!��  .�.� <�%�� ��� , f ��

� 


�"���& �

��$ ��� �
� �
��! 	�
! 
��&! ����%�&!
�
	�$�,! C A	� ������ ���%


����%	�B� �
 z0 ��

� �"-�
 %,	��� %�� �%������� �,! C6
����

f(z0) =
1

2πi

∫
C

f(z)

z − z0

.

��



3 �
�
�*
� � ���
� �����,������! �$��! ��" Cauchy �
� � �� ��! 

 	�
 %"
*��,%, f ��

�



�"���& ��� �
� �
��! 	�
! 
��&! ����%�&! �
	�$�,! C6 ���� �� �$���! ��	 ! �,! f �
��!
�,! C ���%�����?�
�
� ��&��! 
�� ��! ��	 ! �,! f ��� �,! C�

:���!��  .�.� �� ��! "��� %��! ��" ���,��$	�
�" ����&	
��!� ;�
 �*�� n ∈ N �%-$��

f (n)(z0) =
n!

2πi

∫
C

f(z)dz

(z − z0)n+1

-#�����  .�.� �
 	�
 %"
*��,%, f ��

� 


�"���& %�  

 %,	���6 ���� "�*�-�"
 ��
�
�*����� �*�� �*+,! �,! f �
� ��

� 


�"��� ! %�� ���� %,	����

-#�����  .�.� 4 %- %, ��" ����&	
��! 0�2�� 	����� 

 �����
��� %�,
 �������%, ��"
, 
��& ����%�& �
	�$�, C 

���
�
%�
��� 
�� �� “�� ���%


����%	 
� %$
��� �
�! ���#
�
���! %"
������$ ����"”�

-#�����  .�.� A����	&%��! CauchyB� �� ��! "��� %��! ��" ����&	
��! 0�2��� �
 |f(z) ≤
M(r) %��
 �$��� |z − z0| = r �
� an := f (n)(z0)

n!
6 ���� |an| ≤ M(r)

rn �

)�. �� ������� ��� Green

<�%�� P (x, y)6 Q(x, y) %"
�-��! %"

��&%��! 	� %"
�-��! �����! 	���� ! �
�
����"! %�
 


 ����
��* %"
������ ���� D �
�  %�� C �� %$
��� ��"� ����∫

C

Pdx + Qdy =

∫
D

(
∂Q

∂x
− ∂P

∂y

)
dxdy

-������!�!  .%.� @�

& �
� 


��
�
 %"
�&�, ��
 

 �%-$��
∫

C
Pdx + Qdy = 0 ��

� ,

∂P
∂y

= ∂Q
∂x

��
 C �� %$
��� �
�! ����
��* %"
������$ ����"�


������� �
�+� �
� ��������
� Green.
<�%�� , %"
*��,%, B(z, z̄) %"
�-&! 	� %"
�-��! �����! 	���� ! �
�
����"! %�  


 ����
R 	� %$
��� C� ���� ∫

C

B(z, z̄)dz = 2i

∫
R

∂B

∂z̄
dxdy

A���" z = x + yi, z̄ = x − yiB�

)�/ �������"

�� <�%�� C 	�
 
��& ����%�& �
	�$�,� ������+�� ���G∫
C

dz

z − z0

=

{
0, z0 ����! �,! C

2πi, z0 �
��! �,! C

��



5$%,�
�
 �� z0 ��

� ����! �,! C ���� , 1

z−z0
��

� 


�"���& ��� �
� �
��! �,! C� <��
 
��

�� ����,	
 Cauchy �
 �%-"��
∫

C
dz

z−z0
= 0� �
 �� z0 ��

� �
��! �,! C ���� "�*�-��

��%��! � 
���" z0 �
� 
���

! ε A%"
���" ;B �.‘�%�
 �� z0 ��

� �%������� %,	����
;
���?�"	� ���

∫
C

dz
z−z0

=
∫

Γ
dz

z−z0
� ��� �,! ;  -�"	� |z − z0| = ε ⇒ z − z0 = εeiθ ⇒

z = z0 + εeiθ, θ ∈ [0, 2π]� <��%� dz = iεeiθdθ6 �����∫
Γ

dz

z − z0

=

∫ 2π

0

iεeiθdθ

εeiθ
= i

∫ 2π

0

dθ = 2πi.

�� �
 C ��

� �� �	&	
 �,! y = x3 − 3x2 + 4x − 1 ��" %"
� �� �
 %,	��
 A�6�B �
� A�6�B


 "������%��� �� �����&��	
 ∫

C

(12z2 − 4iz)dz.

5$%,�
�� �����&��	
 ��

� 

�+*��,�� �,! ��
���	&!� <��
G

∫
C

(12z2 − 4iz)dz =

∫ 2+3i

1+i

(12z2 − 4iz)dz =
[
4z3 − 2iz2

]2+3i

1+i
= −156 + 38i.

��



�������� '

(����� ��������� ��
 �
��!���$

�!
�
�����


:���!�� �.,.� A8���,	
 LiouvilleB� �
 	�
 
� �
�
 %"
*��,%, ��

� .�
�	 
, A|f(z)| ≤
M, ∀z ∈ CB ���� ��

� %�
���&�

:���!�� �.,.� A8�	������! ����,	
 �,! <����/�
!B� )*�� ���"�
"	� A	� ��
�	
��#
��$! %"
����%� !B 	� /
�	� 	��
�$���� ��" 	,��
�!  -�� ��?
 %�� C�

-������!�! �.,.� )*�� ���"�
"	� /
�	�$ n  -�� 
���/�! n ��?�! A�
��-�	 
�! �%�!B�

:���!�� �.,.� A8���,	
 � %,! ��	&!B� �
 , f ��

� 


�"���& %��
 ���� D �
� z0 ∈
D6 ���� �� f(z0) �%�$�
� 	� �, 	 %, ��	& �,! f ��� ��" %"
���" �"-�
��! ��%��" 	� � 
���
z0 ��" ���� -��
� %�� D� 1,�
�&

f(z0) =
1

2π

∫ 2π

0

f(z0 + reiθ)dθ.

-������!�! �.,.� �� 8���,	
 � %,! ��	&! 
������� 


��
�$��%, ��" �����,����#
��$ �$��" ��" Cauchy�

:���!�� �.,. A��-& ��" ����%��"B� ��
 	, %�
���& 


�"���& %"
*��,%, %�  



���� D6 ��
  -�� �%������* %,	��
 	���%��"� 1,�
�&

∀z ∈ D, �
� δ > 0,∃w ∈ S(z, δ) ∩ D : |f(w)| > |f(z)|.
:���!�� �.,.� A��-& ��" ��
-�%��"B� �
 f ��

� 	�
 	, %�
���& 


�"���& %"
*��,%,
%�  


 ���� D6 ���� �

 

 %,	��� z ∈ D ��
 	����� 

 ��

� %-����� ��*-�%�� �,! f 6 ����!
�
� 

 f(z) = 0�

8"	�?�"	� ��� %��
 
�����%���� ����%	�6 �
 %,	��
 %-�����$ 	���%��" 


?,��$
�
� 

*#
	�%
 %�
 ���%�	
 %,	��
 A����

 ���" f ′ = 0B 	�
! ��
.���%�	,! %"
*��,%,! f � 4 �
�
�*��
����
%, ��
�� 	�
 �"%�
%���& 

����%, %�, %"	����.��* 	�
! 


�"���&! %"
*��,%,! %�  


%,	��� ��" �
��
�� 	 ��%���

�0



-�#���! �.,.� AErdosB� <�%�� f 


�"���& %"
*��,%, %�  


 ����%�� ��%�� ��" �
��
��
�� 	 ��%�� �,! %�  

 %"
���
�� %,	��� z0� ���� f ′(z0) �= 06 ����! �
� 

 , f ��

� %�
���&�

:���!�� �.,.� A�
��-�&! ������
�%,!B� 4 ����

 �
�! 

��-��$ �
� %"
������$ %"
���"
	 %� 	�
! 	, %�
���&! 


�"���&! 
�����
�%,! ��

� 

��-�� %$
����

���-���$	� ���
 %�� 

��%���.� ��" ����&	
��! Cauchy�

:���!�� �.,.� A8���,	
 MoreraB� <�%�� f %"
�-&! %�  


 ���� D6 	� �,
 �����,�
∫
Γ
f(z)dz = 0 ��
 �*�� 
��& ����%�& �
	�$�, Γ ��" 	� �� �%������� �,! ���� -��
� %��


D� ���� , f ��

� 


�"���& %��
 D�

-#����� �.,.� <�%�� {fn} 
����"��
 


�"����
 %"

��&%��
 %�  

 

��-�� -���� D6
� ���
 �%�� fn → f �	���	��.
 %� �*�� %"	�
� ! "��%$
��� K ��" D� ���� , f ��

�



�"���& %�� D�

:���!�� �.,.% A��-& 

*��
%,! ��" SchwarzB� �
 , f ��

� 


�"���& %�� T = {z ∈
C : Im z > 0}6 , f ��

� %"
�-&! %�� T �
� 

 f(x) ∈ R6 ∀x ∈ R ���� , f �������
��
� %�

� �
�
 %"
*��,%,�

��



�������� )

�
��!���� "!
#����

<3��! �
���?�"	� �*�� 


�"���& %"
*��,%, %�� z = a 	����� 

 


��"-��� %� �"

	�%���*

f(z) =
∞∑

n=0

f (n)(a)

n!
(z − a)n, |z − a| < R

�
� �*�� � ���
 %"����
�"%
 �"

	�%���*6 


�
��%�* 	�
 


�"���& %"
*��,%, E��
�*F %��
z = a�

��! 	����$	� 

 "������%�"	� ��! ��	 ! �,! f(z)  +� 
�� ��
 ��%�� |z − a| < R6 

 ,
f ��

� 


�"���& %� �"�$���, �����-&N

-��&������

f(z) =
∞∑

n=0

zn, |z| < 1

(
=

1

1 − z

)

�����$	� 

 "������%�"	� �� 

*��"�	
 Taylor ��
 �,
 f(z) ����  

 
 � � 
��� z =
z0, |z0| < 1� <�%�� z0 = −1

2
�

f

(
− 1

2

)
=

∞∑
n=0

(
− 1

2

)n

=
1

1 + 1
2

=
2

3

f ′
(
− 1

2

)
=

∞∑
n=0

(n + 1)

(
− 1

2

)n

=
1(

1 + 1
2

)2 =
4

9

���

f (n)

(
− 1

2

)
= n!

(
2

3

)n+1

���
 �
��
�"	� A/� �� %-&	
 ���B

f(z) =
∞∑

n=0

(
z +

1

2

)n(
2

3

)n+1

,

∣∣∣∣z +
1

2

∣∣∣∣ <
3

2

��



�-&	
 ���G

�+< *���" ( �! 


	 
�"	� (  -�"	�G

∞∑
n=0

(
z +

1

2

)n(
2

3

)n+1

=
1

1 − 2
3

(
z + 1

2

) · 2

3
=

3

3 − 2z − 1
=

1

1 − z

<�-�"	� ���������� ���������
 �,
 f(z) =
∑∞

n=0 zn, |z| < 1 �
� %� %,	��
 ����! ��"

�-���$ ��%��" %$����%,!�

�"�& , ��
���
%�
 	����� 

 ��


�,.��� �
� �����* , f(z) �������
��
� 


�"���* %< ���
�� C ����! ��" z = 1�

1�
 ��

� %
. ! ��� , f ��" �
��
�"	�  �%� ��

� 	�
���	, ��
�* %�� z = 1�
8����$	� 	�
 ��
���	& 	� %,	��
 ��" ���������� �� z = 16 E
��.�$��
�*!F ��6 �! �+&!G
9������?�"	� �, �"

	�%���* ���� �� z1 ��� �,! ��
���	&! 
"�&!6 %"
�-�?�"	� %�� z2 ���

�,! ��
���	&! �
� �
��! ��" ��%��" %�� z1 6 ������ 6 	 -�� 

 ���%�� D�"	� %� 	�
 �����-&
��" z1 	<  

 ��%�� � 
���" zn ��� �,! ��
���	&! A/� �� %-&	
 ���B�

4 %"
*��,%& 	
! �
 ��

� 	�
���	, ���� �
� 	�
�
 ���� 

 �� ��	 ! %"
 -�%,! ��" f(z)
�
"��?�
�
� 	� ��! ����	 
�! ��	 ! �,! f(z)� ��

� /����� 

 ����&%�"	� ��� ���! �� ���

 !
%"
�-�%��! E���%"
*���
�
�F %��
 ���%	� �,! f(z)�

<��%�6 ��-� , %"
*��,%,

f(z) =
∞∑

n=0

(−1)n zn+1

n + 1
, |z| < 1




�
��%�* ��
 |z| < 1 �, 	�
���	, 


�"���& %"
*��,%, log(1 + z) ��"  -�� �,
 ��	& � %��
z = 06 �,�
�& �,
 �$��
 ��	& ��" ���
���	�"� �
��$���! "�*�-�"
 *�����! ��
.������ !

�2



�-&	
 ���G

%"
�-�%��! A���� �� z = −1B6 ��" �*�� 	�
 ��
. ��� 
�� �, ����	 
, �
�*  

 
� �
��
����
��*%�� ��" 2πi�

8����$	� �,
 ����,�
 ��
 %"

��,%�
��
 ��	�
 

 


�
��%��$
 �,
 


�"���& %"
*�#
�,%,�

@%-$�� �� 
����"�� ����,	
G

:���!�� �.,.) <�%�� f(z), g(z) 


�"��� ! %"

��&%��!6 �%�� f(z) = g(z) %�  


-���� D ���" ��

� �
� �� �$� 


�"��� !� ���� �%-$�� f(z) ≡ g(z) �

��$ ���" ���?�
�
��

-#����� �.,.� <�%�� {zn} 
����"��
 �%�� limn→∞ zn = z∗� <�%�� ��� f(zn) = g(zn)
��
 �*�� n ∈ N �
� ��� �� f(z), g(z) ��

� 


�"��� ! %�� z∗� ���� f(z) ≡ g(z) �

��$�

�����
������

�� ��

��-�	
%�� %�,
 f1(z) =
∑∞

n=0 zn, |z| < 1�

;
���?�"	� ��� f1(z) = 1
1−z

, |z| < 1 �
� , f1(z) ��
 ���?��
� ��
 |z| ≥ 1�

���
 , %"
*��,%, f2(z) = 1
1−z

, |z| �= 1 ��

� 


�"���& �

��$ ����! ��" z = 1�

�.< �%�
 f2(z) = f2(z), ∀z ∈ {z : |z| < 1}6 , f2(z) ��

� , 	�
, �"

�& 


�"���&
%"
 -�%, �,! f1(z)�

�� �
  -�"	� ��! ��,��.����! ��� , �"

	�%���*
∑∞

n=0 zn %"����
�� �
� 


�
��%�* 	�




�"���& %"
*��,%, ��" z ��

 |z| < 1 �
� ��� �� *����%	
 �,! ��

� 1

1−x
��

 z = x6

���� 	����$	� 

 %"	���*
�"	� ��� �� *����%	
 �,! ��

� 1
1−z

��
 |z| < 1�

�"��  ���
� 
�� �� ��� , 1
1−z

��

� , 


�"���& %"
*��,%, ��" ���?��
� %�� {z : |z| < 1}
�
� ��" �
��
�� �,
 ��	& 1

1−x
�
�* 	&��! ��" �"�"��*		�" �	&	
��! ��" � 	
�� �

{z : |z| < 1} ��
 x− *+�

�

��



�� C
 ���+��� ��� , f(z) =
∫ ∞

0
t3e−ztdt ��

� 


�"���& %�� {z : Re z > 0}� C
 /�����




�"���& %"
 -�%, �,! f(z) %�� {z : Re z < 0}�
(i)

f(z) =

∫ ∞

0

t3e−ztdt = lim
M→∞

∫ M

0

t3e−ztdt

= lim
M→∞

∫ M

0

t3
(

e−zt

−z

)′
dt = �
�
��
���& �����&��%,

= lim
M→∞

∫ M

0

{
t3

e−zt

−z
− 3t2

e−zt

z2
+ 6t

e−zt

z3
− 6

e−zt

z4

}∣∣∣∣
M

0

= lim
M→∞

{
6

z4
− M3e−Mz

z
− 3M2e−Mz

z2
− 6Me−Mz

z3
− 6e−Mz

z4

}

=
6

z4

(ii) ;�
 Re z > 0,
∫ ∞

0
t3e−ztdt = 6

z4 6 ��
 Re z�

4 %"
*��,%, g(z) = 6
z4 ��

� 


�"���& %�� C − {0}.

�����& f(z) = g(z) ��
 Re z > 06 , g(z) ��

� , ?,��$	�
, %"
*��,%,�

0� Ω ����! %�� C, z0 ∈ Ω, f : Ω �→ C 


�"���&� �
 �+&! ��

� �%��$

	
G

(i) 4 f �������
��
� %� 
� �
�
 %"
*��,%,

(ii) limn→∞
∣∣∣f (n)(z0)

n!

∣∣∣ 1
n

= 0

�� Ω ����! %�� C, z0 ∈ Ω, F : Ω �→ C �
� f : Ω �→ C 


�"��� !�

����
F ′ = f ⇔ F (n+1)(z0) = f (n)(z0), n = 1, 2, . . .

�� C
 /����$
 ���! �� 
� �
��! %"

��&%��! 	� f ′ = f

<�%�� f : C �→ C 


�"���&�

���� f(z) =
∑∞

n=0 anz
n, ∀z ∈ C6 ���" an = f (n)(0)

n!
�

�*
 f ′ = f 6 ��
�����*  -�"	� ∀n = 0, 1, . . .

f (n+1)(0) = f (n)(0) ⇒ (n + 1)! an+1 = n! an ⇒ an+1 =
an

n + 1

⇒ an =
an−1

n
=

1

n(n − 1)
an−2 =

a0

n!
=

f(0)

n!

<��
 f(z) =
∑∞

n=0
a0

n!
zn = a0

∑∞
n=0

zn

n!
= a0e

z = f(0)ez, z ∈ C�

�'



�"
���! ���! �� 
� �
��! %"

��&%��! 	� f ′ = f ��

� �,! 	��.&!

f(z) = f(0)ez.

:���!�� �.,.�, 3��$� ���������� ����$��!�5 <�%�� f %"
�-&! %<  

 

��#
-�� %$
��� D� <�%�� ��� ��

� 


�"���& ���� 	� �
��-�	�
, �+
���%, %�
 %,	��
 �
�!
�"�"��*		�" �	&	
��! L� ���� , f ��

� 


�"���& %< �����,�� �� D�
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��! �,! γ.

-�����������

�� �.�$ |4z2| > |2z10 + 1| ��� ��" |z| = 16 �
�<  

 
�� �
 ���"�
"	


2z10 + 4z2 + 1 �
� 2z10 − 4z2 + 1

 -�� 
���/�! �$� ��?�! %��
 |z| < 1�

�� 3 
���	�! ��
 ��?�
 ��" ���"�
$	�" z8 − 4z5 + z2 − 1 %�,
 

��-�& 	�

��
�
 %.
��

S(0; 1) ��

� ��

��*�	
��6 � ��
�
! f(z) = 1
4
z8 + 1

4
z2− 1

4
6  -�"	� ��� ��" |z| = 1 ��� |f(z)| < 1 = |z5|.

:���!�� %.�.� 3Hurwitz5 <�%�� {fn} 
����"��
 	, 	,��
���
 


�"����
 %"

��&#
%��
 %<  


 ���� D6 �
� ��� ��� , fn → f �	���	��.
 %�
 %"	�
�& ��" D� ���� ���� f ≡ 0
%�� D6 & f(z) �= 0 ∀z ∈ D�

-������!�!/ ��

� �"

��
 

  -�"	� f ≡ 0 �
���� ��" ∀n : fn(z) �= 0.
��-� fn(z) = 1

n
ez.

:���!�� %.�.� <�%�� fn → f �	���	��.
 %�
 %"	�
�& ��" D� �
 , fn ��

� 1−1 %��

D ��
 �*�� n6 ���� ���� , f ��

� %�
���&6 & , f ��

� 1 − 1 %��
 D�

.�� �3�����!" ��� ���������" *�����������
 4��#

�����
 ��� Cauchy ���
 ���������� ������#

������
 ��� �����


3���� 50� ��	��
� * �� ��+�#�+!

3�5
∫ ∞
−∞

P (x)
Q(x)

dx, P, Q ���"�
"	


��

� �
�%�� ��!  

 � ���� �����&��	
 %"����
�� 

 Q(x) �= 0 �
� degQ−degP ≥ 2�
)*�� 
�< 
"� ! ��! ���L��� %��!∫ ∞

−∞

P (x)

Q(x)
dx = lim

R→∞

∫ R

−R

P (x)

Q(x)
dx

�
� � ��"	� 

 "������%�"	� �� ��$���� �����&��	
 ��
 	��*�
 R� 8����$	� �,

����%�& �
	�$�, CR ��" %-&	
��!6 	� 
���

 R ��%� 	��*�, �%�� 

 ���������� ���!
��! ��?�! ��" Q ��" /��%��
�
� %�� *
� ,	���������

��



�-&	
 ���G

<�-�"	� ���G
∫

CR

P (z)
Q(z)

dz = 2πi
∑

k Res

(
P
Q

; zk

)
, zk ��?�! ��" Q %�� *
� ,	��������6

�����
∫ R

−R
P (z)
Q(z)

dz +
∫

ΓR

P (z)
Q(z)

dz = 2πi
∑

k Res
(

P
Q

; zk

)
�.�$ degQ − degP ≥ 26  -�"	�∣∣∣∣

∫
ΓR

P

Q

∣∣∣∣ ≤ πR
A

R2
⇒ lim

R→∞

∫
ΓR

P (z)

Q(z)
dz = 0.

�����* ∫ ∞

−∞

P (x)

Q(x)
dx = 2πi

∑
k

Res

(
P

Q
; zk

)

-��&������∫ ∞
∞

dx
1+x4

3� ����� �,! dz
1+z4 %�� *
� ,	�������� ��

� �� z1 = e

iπ
4 �
� z2 = e

3iπ
4 �

�"
���!
∫ ∞
−∞

dx
1+x4 = 2πi

∑2
k=1 Res

(
1

1+z4 ; zk

)
.

�����& �
� �� �$� ����� ��

� 
����6 �
 �����,�����* "������
 ��
�
�
� 
�� ��! ��	 !
�,! 1

4z3 %��"! ����"!G

Res
(

1
1+z4 ; z1

)
= 1

4z3
1

= − z1

4
= −

√
2

8
(1 + i)

Res
(

1
1+z4 ; z1

)
= 1

4z3 =
√

2
8

(1 − i)

�'



<��%�G
∫ ∞
−∞

dx
1+x4 =

√
2

2
π

3@5
∫ ∞
−∞ R(x) cos xdx,

∫ ∞
−∞ R(x) sin xdx, R = P

Q
, P, Q ���"�
"	
�

�
 Q(x) �= 0 �
� 

 degQ > degP �
 �����,��	
�
 %"����
�"
�

��� ��
 	����$	� 

 �����,��%�"	� �,
 R(z) cos z �
�* 	&��! �,! ���
! ����%�&!
�
	�$�,! 	� �,
 �������%, A�B6 
.�$ limM→∞

∫
ΓM

R(z) cos zdz �= 0 ���" ΓM ��
,	��$���� ��" %-&	
��! ����

�-&	
 ���G

<�%�� CM �� ,	��$���� ΓM 	
?� 	� �� �"�$��
		� �	&	
 [−M,M ]� �
 ����&%�"#
	� ��

∫
CM

R(z)eizdz �
 ���+�"	� ���
∫

ΓM
R(z)eizdz → 06 �����

∫
CM

R(z)eizdz →∫ ∞
−∞ R(x)eixdx. 8
  -�"	� %"
���! �����* ���

∫ ∞

−∞
R(x) cos xdx = Re

{
2πi

∑
k

Res(R(z)eiz; zk)

}
∫ ∞

−∞
R(x) sin xdx = Im

{
2πi

∑
k

Res(R(z)eiz; zk)

}
,

���" zk �� ����� �,! R(z) %�� *
� ,	���������

;�
 

 ���+�"	� ���
∫

ΓM
R(z)eizdz → 06 %�*	� �� ΓM %� �$� "��%$
��
G

2�



A =
{

z ∈ ΓM : Imz ≥ h
}

, B =
{

z ∈ ΓM : Imz < h
}

.

<3	�! ∣∣∣∣
∫

A

R(z)eizdz

∣∣∣∣ ≤ K

M
e−hπM = c1e

−h

�
� ∣∣∣∣
∫

B

R(z)eizdz

∣∣∣∣ ≤ K

M
4h = c2

h

M
,

�����
∣∣∣ ∫

ΓM
R(z)eizdz

∣∣∣ ≤ c1e
−h + c2

h
M

.

�
 ��� +�"	� �� h =
√

M 6 �
��
�"	�

∣∣∣∣
∫

ΓM

R(z)eizdz

∣∣∣∣ ≤ c1e
−√

M +
c2√
M

⇒ lim
M→∞

∫
ΓM

R(z)eizdz = 0.

-�����������

A�B
∫ ∞
−∞

sin x
x

dx∫ ∞
−∞

sin x
x

dx = Im
{∫ ∞

−∞
eix

x
dx

}
. 4 eix

x
 -�� ���� %�� � ��  �%� �� ��� 

 �����#

���&%�"	� �,
 ��-
��& 	
!G <�-�"	� ���
∫ ∞
−∞

sin x
x

dx = Im
{∫ ∞

−∞
eix−1

x
dx

}
.

�
�
�,��$	� ���
∫

cM

eiz−1
z

dz =
∫ M

−M
eix−1

x
dx +

∫
ΓM

eiz−1
z

dz

<3	�!
∫

cM

eiz−1
z

dz = 0 
.�$ , eiz−1
z

��
  -�� ����"!M <��%�6∫ M

−M
eix−1

x
dx =

∫
ΓM

eiz−1
z

dz =
∫

ΓM

dz
z
− ∫

ΓM

eiz

z
dz = πi − ∫

ΓM

eiz

z
dz

<3	�!
∫

ΓM

eiz

z
dz → 06 ��

 M → ∞ ⇒ ∫ ∞

−∞
eix−1

x
dx = πi ⇒ ∫ ∞

−∞
sin x

x
dx = π

A�B
∫ ∞
−∞

cos x
(x2+1)2

dx∫ ∞
−∞

cos x
(x2+1)2

dx = Re
{∫ ∞

−∞
eix

(x2+1)2
dx

}
.

4 eiz

(z2+1)2
 -�� ����"! �*+,! � %�
 %,	��
 z = ±1� ��< 
"�* 	�
� �� z = 1

/��%���
� %�� *
� ,	��������� 8����$	� M > 1�

Res
(

eiz

(z2+1)2
; i

)
= d

dz

(
(z − i)2 eiz

(z2+1)2

)∣∣∣
z=i

= d
dz

(
eiz

(z2+1)2

)∣∣∣
z=i

= − i
2e
�

�"
���!
∫ ∞
−∞

cos x
(x2+1)2

dx = Re
{

2πiRes
(

eiz

(z2+1)2
; i

)}
= π

e

3A5
∫ ∞

0
P (x)
Q(x)

dx, P, Q ���"�
"	
 	� Q(x) �= 0 ��
 x ≥ 0 �
� degQ − degP ≥ 2�

A�
 ( / /
�
 ( , P
Q

��

� *���
6 ����
∫ ∞

0
P
Q

= 1
2

∫ ∞
−∞

P
Q
B�

8 ��"	� R(z) = P (z)
Q(z)

�
� �����$	� �� ����&��	
 �,! log z·R(z) %�,
 ����%�& �
	�$�,
Kε, M ��" 
��������
� 
��

2�



�-&	
 ���G

A
B �� ���?�
��� �"�$��
		� �	&	
 I1 
�� �� iε �! �� iε +
√

M2 − ε2

A/B �� ��+� CM �$���" 
���

! M ��" ��
�� -��
� 	� ������ ���%


����%	� 
�� ��√
M2 − ε2 + iε �! ��

√
M2 − ε2 − iε�

A�B �� ���?�
��� �"�$��
		
 �	&	
 I2 
�� ��
√

M2 − ε2 − iε �! �� −iε�

A�B �� ,	��$���� Cε 
���

! ε6 �
�* 
�
,���� ���%


����%	� 
�� −iε �! iε

�� �%������� �,! Kε, M ��

� 
��* %"
������! ����! ��" ��
 ���� -�� �� � �
� %"
���!
� log z ���?��
� ���� �! 


�"���& %"
*��,%, A��
 ����"! 
����,�
! �����$	� 0 <
Argz < 2πB�

��� �� 8���,	
 3����,������
 9�������
  -�"	�G

lim
ε→0, M→∞

∫
Kε, M

R(z) log zdz = 2πi
∑

k

Res(R(z) log z; zk) A���B

���" �� ε  -�� �������� ��%� 	���� �
� �� M ��%� 	��*��6 �%�� �� ��?�! ��" Q 


/��%��
�
� ���! %�� �%������� �,! Kε, M �

����

A
B

∣∣∣∣ ∫
Cε

R(z) log zdz

∣∣∣∣ ≤ πε · maxCε | log z||R(z)| ≤ Aε| log ε|

.�$ , R ��

� %"
�-&! %�� � �
� | log z| < log |z| + 2π�

�"
���! limε→0

∫
Cε

R(z) log zdz = 0

2�



A/B

∣∣∣∣ ∫
CM

R(z) log zdz

∣∣∣∣ ≤ 2πM · maxCM
| log z||R(z)| ≤ AM log M

M2


.�$ |R(z)| ≤ B
|z|2 �
�  �%� limM→∞

∫
CM

R(z) log zdz = 0

A�B limε→0, M→∞
∫

I1
R(z) log zdz =

∫ ∞
0

R(x) log xdx

A�B limε→0, M→∞
∫

I2
R(z) log zdz = − ∫ ∞

0
R(x)(log x + 2πi)dx

��� �
 A
B6 A/B6 A�B �
� A�B �
��
�"	�

lim
ε→0, M→∞

∫
I2

R(z) log zdz = −2πi

∫ ∞

0

R(x)dx

�
� ���� �,! A���BG ∫ ∞

0

R(x)dx = −
∑

k

Res(R(z) log z; zk)

���" �� k ��
�� -�� �� ��&��! ��
 ����
 �,! R�

-��&������∫ ∞
0

dx
1+x3

3� A
����B ����� �,! R(z) = dz
1+z3 ��

� z1 = e

iπ
3 , z2 = −1 = eiπ, z3 = ei 5π

3

<�-�"	�

Res
(

log z
1+z3 ; z1

)
= log z

3z2

∣∣∣
z=z1

= − iπ
9

(
1
2

+ i
√

3
2

)
Res

(
log z
1+z3 ; z2

)
= iπ

3

Res
(

log z
1+z3 ; z3

)
= −5iπ

9

(
1
2
− i

√
3

2

)
����� ∑

k

Res
( log z

1 + z3
; zk

)
= −2

√
3

9
π

�
�  �%� ∫ ∞

0

dx

1 + x3
=

2
√

3

9
π

-������!�! �

3����,��	
�
 �,! 	��.&! ∫ ∞

a

P (x)

Q(x)
dx

	����$
6 �	���!6 

 "������%��$
 	� �� 

 ����,��� ��
∫

CM
log(z − 1)P (z)

Q(z)
dz

2�



�-&	
 ��0G

-������!�! �

�
*���
 ��
��
� �
� � "������%	�! �����,��	*��
 �,! 	��.&!∫ ∞

0

xa−1

P (x)
dx

	� 0 < a < 1 �
� P ���"�
"	� 	� degP ≥ 1�

��� �%������� �,! �
	�$�,! Kε, M  -�"	� za−1 = exp{(a − 1) log z} �
� A	� 0 <
argz < 2π6 ��-�B , %"
*��,%, 
"�& 	����� 

 ���%��� �! 


�"���&�

<3��! ���
6 %�� �$� �"����* �	&	
�
6 �
 �����,��	
�
 ���
�"
 %�� 	,� 
 �
�  �%�

���� 

 "������%��$
 �
 �����,��	
�
 ��� ��
 I1, I2�

��� ��" I1 : za−1 = e(a−1) log x = xa−1,

�
� ��� ��" I1 : za−1 = e(a−1)(log x+2πi) = xa−1e2πi(a−1)

<��%� {1 − e2πi(a−1)} ∫ ∞
0

xa−1

P (x)
dx = 2πi

∑
k Res

(
za−1

P (z)
; zk

)

-��&������∫ ∞
0

dx
(1+x)

√
x

����! �,! P (z) = 1 + z �� −1�

Res
(

1
(1+z)

√
z
; −1

)
= 1√

z
1

(1+z)′

∣∣∣
z=−1

= 1
i

= −i

3����

20



(1 − e−πi)

∫ ∞

0

dx

(1 + x)
√

x
= 2π,

�,�
�& ∫ ∞

0

dx

(1 + x)
√

x
= π.

3=5 3����,��	
�
 �,! 	��.&!
∫ 2π

0
R(cos θ, sin θ)dθ6 ���" R �,�& %"
*��,%,�

�< 
"�& �,
 �������%,6 �����$	� �� ��
�	
���� �����&��	
 �! �
�
	�����& 


�
#
�*%�
%, �
�! ����
	�$���" �����,��	
��! ��� ��" 	�

��
��" �$���"�

�! �"	,��$	�6 ���6 � ��
�
! z = eiθ, 0 ≤ θ ≤ 2π6  -�"	�

∫
|z|=1

f(z)dz =

∫ 2π

0

f(eiθ)ieiθdθ

dθ =
dz

iz
,

cos θ = eiθ+e−iθ

2
= 1

2

(
z + 1

z

)
sin θ = eiθ−e−iθ

2i
= 1

2i

(
z − 1

z

)
�"
���! ∫ 2π

0

R(cos θ, sin θ)dθ =

∫
|z|=1

R

[
z + 1

z

2
,

z − 1
z

2i

]
dz

iz

�� ��$���� �����&��	
6 	����� ( ���! �
���?�"	� ( 

 "������%��� 	� �, /�&���

��" 8���&	
��! 3����,������
 9�������
�

-��&������ �

∫ 2π

0

dθ

2 + cos θ
=

2

i

∫
|z|=1

dz

z2 + 4z + 1
=

= 4πRes

(
1

z2 + 4z + 1
;
√

3 − 2

)
=

= 4π
1

z2 + 4z + 1

∣∣∣
z=

√
3−2

=

=
2
√

3

3
π.

-��&������ �

∫ 2π

0

dθ

5 + 3 sin θ

2�



z = eiθ ⇒ sin θ = eiθ−e−iθ

2i
=

z− 1
z

2i

dz = 3eiθdθ = izdθ∫ 2π

0
dθ

5+3 sin θ
=

∫
C

dz
iz

5+3(z− 1
z
) 1
2i

=
∫

C
2dz

3z2+10iz−3

���" C = C(0; 1)6 , ����. ���
 ��" �$���" 	� � 
��� � �
� 
���

 ��

4 2
3z2+10iz−3

 -�� ����"! ��! ��?�! �,! 3z2 + 10iz − 3 �,�
�& �
 −1
3
i, −3i�

��
� �� −1
3
i /��%���
� �
��! �,! C�

�� "������� %�� z1 = −1
3
i ��

�G

lim
z→z1

(z − z1)
2

3z2 + 10iz − 3
= · · · =

1

4i
.

�"
���! ∫
C

2dz

3z2 + 10iz − 3
= 2πi

1

4i
=

π

2
.

3�5 3� ���,��$	�
�! ��-
�� ! 	����$
 

 �����
��$
 ��
 ��
 "������%	� �
�! �����,��#
	
��! �
�* 	&��! ����
%�&���� ����%�&! �
	�$�,!6 �
	/*
�
�
! "�< �D�
 ��"! ����"!
�,! "�� �����&��%, %"
*��,%,!�

-��&������

∫
I

ezdz

(z + 2)3
, I : z(t) = 1 + it, −∞ < t < ∞

<�%�� CR �� 
��%���� ,	��$���� � 
���" z = 1 �
� 
���

! R > 3�

���� ∫ 1+iR

1−iR

ezdz

(z + 2)3
+

∫
CR

ezdz

(z + 2)3
= 2πiRes

(
ezdz

(z + 2)3
; −2

)
.

��� ,	�������� x ≤ 1, |ez| ≤ e �
�  �%� ��

 R → ∞∫
CR

ezdz

(z + 2)3
→ 0,

����� ∫
I

ezdz

(z + 2)3
= 2πiRes

(
ezdz

(z + 2)3
; −2

)
.

;�
 ��
 "������%	� ��" �����,������$ "�������" �
�
�,��$	� ���

ez = e−2ez+2 = e−2

(
1 + (z + 2) +

(z + 2)2

2
+ · · ·

)
,

2�



�-&	
 ���G

�����

Res

(
ezdz

(z + 2)3
; −2

)
= ”c−1” =

1

2e2

�
�  �%� ∫
I

ezdz

(z + 2)3
=

πi

e2

3���� 50� ��	��
� *��+! �
	�$!

3�5
∞∑

n=−∞
f(n)

�

?,��$	� 	�
 %"
*��,%, g ��" 

  -�� �! �����,�����* "������
 �
 {f(n) : n =
0, ±1, ±2, . . .}�
<�%�� g(z) = f(z)φ(z)� 4 φ �
 �� ��� 

  -��  


 
��� ���� 	� �����,������
"������� � %� �*�� 
� �
��� ��
 � ���
 %"
*��,%, ��

� ,

φ(z) = π · cot πz


.�$ , sin πz  -�� 
��� ���� %� �*�� 
� �
�� �
� Res(π cot πz; n) = π cot πz
sin πz

∣∣∣
z=n

= 1.

�.
�	�?�"	� �� 8���,	
 3����,������
 9�������
 %�� �����&��	
∫
CN

f(z)π cot πzdz

22



���" CN 	�
 
��& ����%�& �
	�$�, ��" ���� -�� ��"! 
� �
��"! n = 0, ±1, ±2, . . . , ±N
�
� ��"! ����"! A %�� zk �,! f A��" "��� ��"	� ��� ��

� �����
%	 
�" ��&��"!�B

�-&	
 ���G

���� ∫
CN

f(z)π cot πzdz
(∗)
= 2πi

{ N∑
n=−N
n�=zk

f(n) +
∑

k

Res(f(z)π cot πz; zk)

}
.

9��� ��
�
! ���
lim
z→∞

zf(z) = 0

�
� ��� ��
�
! �! CN �� ����*��
� 	� ���". ! ±
(
N + 1

2

)
±

(
N + 1

2

)
i ��

� �$����



 ���+�"	� ��� limN→∞
∫

cN
f(z)π cot πzdz = 0. �"
���!

N∑
n=−N
n�=zk

f(n) = −
∑

k

Res(f(z)π cot πz; zk)

AQBG ��*�	
��G

Res(f(z)π cot πz; n) = lim
z→n

(z − n)π cot πzf(z) = lim
z→n

z − n

sin πz
cos πzf(z) = f(n)

(de l’ Hospital).

2�



-��&������

∞∑
n=1

1

n2

�
�
�,��$	� ���
∞∑

n=1

1

n2
=

1

2

∞∑
n=−∞

n�=0

1

n2
.

�$	.�

 	� �
 ���,��$	�



∞∑
n=1

1

n2
= −1

2
Res

(
π cot πz

z2
; 0

)
.

�� 

*��"�	
 Laurent �,! cot z ��

� cot z = 1
z
− z

3
− z3

45
+ · · ·

����� π cot πz
z2 = 1

z3 − π2

3z2 − π4z
45

− · · · .

�"
���! Res

(
π cot πz

z2 ; 0

)
= −π2

3
�
�  �%�

∞∑
n=1

1

n2
=

π2

6
.

3@5
∞∑

n=−∞
(−1)nf(n)

1�"��$�"	� %�� ���� ����*��
� ���! ���,��"	 
�!6 	� �, /�,�,���& %"
*��,%,
π

sin πz
f(z)�

�
�
�,��$	� ���

Res

(
π

sin πz
; 0

)
=

1

cos πn
= (−1)n.

<��%�  -�"	�
∞∑

n=−∞
n�=zk

(−1)nf(n) = −
∑

k

Res(
πf(z)

sin πz
; zk)

���" zk ��6 �����
%	 
�" ��&��"!6 ����� �,! f �

-��&������

∞∑
n=−∞

(−1)n

n + a2
, a ∈ R − Z

2'



<�%�� f(z) = 1
n+a2 � <�-�� ����� ���� %�� z = a� ����

Res

(
π

sin πz(z + a)2
; −a

)
= lim

z→−a

d

dz

{
(z + a)2 · π

sin πz(z + a)2

}

= −π2 cot πa

sin πa
= −π2 cos πa

sin2 πa
.

<��%� ∞∑
n=−∞

(−1)n

n + a2
=

π2 cos πa

sin2 πa
.

3A5 -������!�! �.�$ ��

(
n
k

)
��

� � %"
����%�&! ��" zk %�� 

*��"�	
 �,! (1+z)n6

 -�"	� ���

(
n
k

)
=

1

2πi

∫
c

(1 + z)n

zk+1
dz

���" C �"-�$%
 
��& ����%�& �
	�$�, ��" ����/*���� �� 	,� 
� �"�� �� ����
�!
����� ��� ��
 "������%	� ��
 ����
 %����
 	� ���
"	���$! %"
����%� !�

��



�������� -

".���
�� ������
���

�< 
"�� �� ��.*�
�� ���! �� �
	�$��! z(t) �����$
�
� ��� ��

� � ����!6 �%�� z′(t) �= 0 ��

��
 �
 t�

	����#� ).,.� <�%�� ��� �$� ����! �
	�$��! C1 �
� C2 � 	
�
�
� %�� z0 4 ��
�
 
�� �,
C1 %�, C2 %�� z0 ���?��
� �! , ��
�
 
�� �,
 �.
���	 
, �,! C1 %�� z0 �! �,
 �.
���	 
,
�,! C2 %�� z0 �
�* �,
 

�����, 
�� �,! ��
,%,! ��
 ������
 ��" �������$ .��*�

	����#� ).,.� <�%�� f 	�
 C1 
�����
�%, ��" ���?��
� %� 	�
 �����-& ��" z0� 4 f
� ���
� %$		��., %�� z0 

 ��
�,��� ��
��! %< 
"�� �� %,	��� ��%� �
�* 	 ��� �%� �
�
�
�* ���%


����%	�� �� *��
 ����
 

 ��
 �*�� ?�"�*�� ����
 �
	�$��
 C1 �
� C2 ��"
� 	
�
�
� %�� z0 : �(C1, C2) = �(Γ1, Γ2) ���" Γ1 = f(C1), Γ2 = f(C2)�

�
 , f ��

� %$		��., %< ��
 �
 %,	��
 �
�! %"
���" D6 , f � ���
� %$		��., %�� D�

	����#� ).,.�

A
B 4 f ��

� �����* 1− 1 %�� z06 

 ��
 δ > 0 �
� z1 �= z2, z1, z2 ∈ D(z0; δ)6  -�"	� ���
f(z1) �= f(z2)�

A�B 4 f ��

� �����* 1 − 1 %�� D 

 ��

� �����* 1 − 1 %� �*�� %,	��� ��" D�

A/B 4 f ��

� 1 − 1 %�� D 

 ��
 �*�� ��
.������* z1, z2 %�� D  -�"	� f(z1) �= f(z2)�

:���!�� ).,.� <�%�� f 


�"���& %�� z0 �
� f ′(z) �= 0� ���� , f ��

� %$		��., �
�
�����* 1 − 1 %�� z0�

-�����������

�� 4 f(z) = ez ��

� �

��$ %$		��., �
� �����* �#� A��
 ��

� ����* �#� 
.�$ f(z+2πi) =
f(z)B� ������ 

 
�����-��� ��� , ez 
�����
�?�� ��! �
�
���".�! ��
		 ! xI%�
��
��� �$���
 	� � 
��� �� 3 �
� ��! ���?�
���! ��
		 ! y =%�
�� ��� 
���
�
 A��"
�� �-�
�
� 
�� �� 3B A�-&	
 '��B�

��



�-&	
 '��G

�� 4 f(z) = z2 ��

� %$		��., ����! 
�� �� z = 0 A�-&	
 '��B�

	����#� ).,. <�%�� k ∈ N� 4 f � ���
� k ���! � 
�����
�%, ��" D1 ��� ��" D26 

 ��

�*�� a ∈ D26 , �+�%�%, f(z) = a  -�� k ��?�! A�
	/

�	 
,! "�< �D�
 �,! ����
����,�
!B
%�� D1�

0���� ).,.� <�%�� f(z) = zk, k ∈ N� ���� , f 	����$
�� ��! ��
��! %�� � 	� �
�*��
�
�
k �
� 
�����
�?�� �� ��%�� D(0; δ), δ > 0 ��� ��" ��%��" d(0; δk)6 	� k ���! � ������

�� 8���,	
 A'����B %"	��,��
��
� �! �+&!G

:���!�� ).,.� <�%�� f 


�"���& %�� z0 �
� f ′(z) = 0� ���� ���� , f ��

� %�
���&6
& %� �*���� ��

����,���* 	���� 

��-�� %$
��� ��" ���� -�� �� z06 , f ��

� k ���! �

�����
�%, �
� 	����$
�� ��! ��
��! %�� z0 	� �
�*��
�
 k6 ���" k � ��*-�%��! ."%���! ��

��
 �����
 �%-$�� ��� f (k)(z0) �= 0�

�����$	�  �%� 

 �*��"	� �� 
����"��

:���!�� ).,.� <�%�� f 1 − 1 


�"���& %"
*��,%, %<  


 ���� D� ����

A
B , f−1 "�*�-�� �
� ��

� 


�"���& %��
 f(D)�

A/B , f �
� , f−1 ��

� %$		��.�! %�� D �
� �� f(D)6 

��%���-�!�

�� 8���,	
 
"�� ��,��� %��
 ���	�
�

	����#� ).,.� 1$� ����� D1, D2 � ��
�
� %$		��.
 �%��$

	��6 

 "�*�-�� %$		��.,

�����
�%, ��" D1 ��� ��" D2�

��



�-&	
 '��G

/�� 1������ �$����3�" ������
���" ��� Riemann

;�
 �*�� 
��* %"
������ ���� R (�= C) �
� z0 ∈ R6 "�*�-�� 	�

���& %$		��., 
�����
�%,
φ ��� ��" 

��-��$ 	�

��
��" ��%��" U 6 � ���
 �%�� φ(z0) = 0 �
� φ′(z0) > 0�

A�� *��
 ����
6 �*�� �$� 
��* %"
������� �
&%��� "�� ( ����� ��" 	��
����$ ���� ��"
��

� %$		��.
 �%��$

	��B�


������ �;�
�!������� �(���
������

�� w = z + b A	��
����%,B

�� w = eiθ0z A%���.&B

�� w = az A�	���%�
B

0� w = 1
z
A

��%���.&B

�� w = az + b A��
		���! 	��
%-,	
��%	�!B

w = ζ + b, ζ = eiθ0ξ, ξ = Az (a = Aeiθ0)G %$
��%, 	��
����%,!6 %���.&! �
�
�	���%�
!�

3 ��
		���! 	��
%-,	
��%	�! ��

� ”1 − 1” 


�"���& 
�����
�%, ��" C ��� ��" C�

��



�� w = za, a ∈ R

�
 ����&%�"	� ��
 ��*�� ��" log z ��" ��

� ������! %��
 ������ ,	�*+�

6 ���� , za


�����
�?�� ��
 ������ ,	�*+�

 ��� ��" �
"��$ ��"� ���	
6 
�����
�?�� �� S = {z :
θ1 < Argz < θ2} %�� T = {w : aθ1 < Argw < aθ2}�
�
6 ����� �
6 θ2 − θ1 ≤ 2π

a
6 , za ��

� %$		��., 
�����
�%, ��" S ��� ��" T �

�-&	
 '��G

2� w = ez

������
�?�� �, �����
 y1 < y < y2 ��� ��" {z : y1 < Argw < y2}�
�
 y2 − y1 ≤ 2π 6 , 
�����
�%, ��

� ”1 − 1”�

�-&	
 '�0G

�� w = az+b
cz+d

, ad − bc �= 0 A�,����
		���! 	��
%-,	
��%	�! & 	��
%-,	
��%	�! MöbiusB

�0



������ 

 ��
.�� �! %$
��%, 	��
����%,!6 %���.&!6 �	���%�
! �
� 

��%���.&!�

��

� � ( � 
�����
�%, �,! %.
��
! ��" Riemann ��� ��" �
"��$ �,!
(
f
(
− d

c

)
=

∞, f(∞) = a
c

)
.

�������� �	*�
 �! ���! �, %$
��%,�

������
�?�� �$��"! & �"����! ��� �$���
 & �"����
�

�
 z1, z2, z3 ∈ C � 	�

����! 	��
%-,	
��%	�! Möbius ��" 
�����
�?�� �
 z1, z2, z3

%�
 ∞, 0, 16 

��%���-�!6 ��

� �

T (z) =
(z − z2)(z3 − z1)

(z − z1)(z3 − z2)

1����! ����! ��
 z1, z2, z3, z46 %"	/� (z1, z2, z3, z4)6 ��

� �� T (z4)� 3 �����! ����!
��%%*��
 %,	���
 ��

� 


�������! 
�� �� 	��
%-,	
��%	� Möbius� 3 	�

����!
	��
%-,	
��%	�! Möbius w = f(z) ��" 
�����
�?�� �
 z1, z2, z3 %�
 w1, w2, w36


��%���-�! ��
��
� 
�� �, %- %, T (w) = T (z)�

��
 %$		��., 
�����
�%, �
�! ����" ��� ��" �
"��$ ��"6 � ���
� 
"��	��.�%	�! ��"
����" 
"��$� �-����* �%-$�"
G

• 3� 
"��	��.�%	�� ��" 	�

��
��" ��%��"6 ��

� �,! 	��.&! g(z) = eiθ
(

z−a
1−āz

)
��


|a| < 1�

• 3� %$		��.�! 
�����
�%��! h ��" *
� ,	����� ��" ��� ��" 	�

��
��" ��%��" ��

�
�,! 	��.&!

h(z) = eiθ

(
z − a

z − ā

)

• 3� 
"��	��.�%	�� ��" *
� ,	����� ��" ��

� �,! 	��.&! f(z) =
(

az+b
cz+d

)
6 	�

a, b, c, d ∈ R �
� ad − bc > 0�

�. �(���#���! �
� &�� !���(�(��
� �� �*��


a ∈ C 	� Ima > 0 ����	 
� %,	��� ��" 
�����
�?��
� %�� w = 0� ���� �� ā 
�����
�#
?��
� %�� w = ∞ A���� %"		����
!B�

�� ��� %"
���!

w = β
z − a

z − ā
, β : %�
����.

;�
 
"�
����� β6 , %- %, 
"�& 
�����
�?�� �� *
� ,	�������� %� �*���� �$��� � 
���"
��

�
 � ��"	� 
�����
�%, %��
 	�

��
�� �$���6 �
 �� ��� �� z = 0 
< 
�����
�%��� %��
w0 	� |w0| = 16 �,�
�& |βa| = |ā|� ���	 
�! β = eiθ, θ ∈ R� <��
 , %"
*��,%,

w = eiθ z − a

z − ā

��




�����
�?�� %$		��.
 �� Ima > 0 %��
 �$��� |w| < 16  �%� �%�� �� a �→ w = 0�

�
 Ima < 06 ���� , 

�� �� %"
*��,%, 
�����
�?�� �� �*�� ,	�������� %��
 �$���
|w| < 1�

4 

��%���., �,! 

�� �� %"
*��,%,! ��

� ,

w =
zā − aeiθ

z − eiθ
, Ima > 0

��" 
�����
�?�� ��
 �$��� |z| < 1 %�� *
� ,	���������

�. �(���#���! �*��
� �� �*��


<�%�� ��� �� a ∈ C 	� |a| < 1 
�����
�?��
� %�� w = 0� ���� �� %"		������ %,	��� 1
a


�����
�?��
� %�� w = ∞ �
� , ?,��$	�
, 
�����
�%, �
  -�� �, 	��.&G

w = β
z − a

z − 1
ā

= γ
z − a

1 − āz

;�
 

 /��$	� �� γ "��� ��"	� ��� 1 �→ w0, |w0| = 1�

���� γ 1−a
1−ā

= w06 �,�
�& γ = eiθ, θ ∈ R6 ����� �
��
�"	�

w = eiθ
z − a

1 − āz

��" 
���
�
�?�� ��
 �$��� |z| < 1 %��
 �$��� |w| < 1�

�. �(���#���! !���(�(��
� �� !���(�(��


@%-$�� �� 
����"�� ����,	
G 9�*�-�� 	�

����! 	��
%-,	
��%	�! Möbius ��" 
���#
��
�?�� ���
 A��
.������* 

* �$�B %,	��
 z1, z2, z3 %� ���
 A

* �$� ��
.������*B
%,	��
 w1, w2, w36 

��%���-�!�

�"�& , 
�����
�%, ��
��
� 
�� �, %- %,

w − w1

w − w3

· w2 − w3

w2 − w1

=
z − z1

z − z3

· z2 − z3

z2 − z1

;�
 

 �
�
%��"*%�"	� �, %"
*��,%, ��" 
�����
�?�� ,	�������� %� ,	�������� �
��#

�"	� ���
 %,	��
 x1 < x2 < x3 %��
 x# *+�

 �
� ���
 %,	��
 u1 < u2 < u3 %��
 u#
*+�

6  �%� �%�� xj �→ uj�

�.< �%�
 �� xj, uj ��

� ��
�	
�����6 , 

�� �� %- %, ��
��
�G

w =
az + β

γ + δ
, a, β, γz, δ ∈ R.

�
 aδ − βγ > 0 �� *
� ,	�������� 
�����
�?��
� %�� *
� ,	���������

�
 aδ − βγ < 0 �� *
� ,	�������� 
�����
�?��
� %�� �*�� ,	���������

��



 . 	�������� $������� �(���
������

�-&	
 '��G w = zm, m ≥ 1
2

�-&	
 '��G w = e
πz
a

�2



�-&	
 '�2G w = sin πz
a

�-&	
 '��G w = cos πz
a

�-&	
 '�'G w = cosh πz
a

��



�-&	
 '���G w = a
2

(
z + 1

z

)
, (��
 a = 1 : 	��
%-,	
��%	�! ZukovskiB

�-&	
 '���G w =

(
1+z
1−z

)2

�-&	
 '���G w = 1
z

�'



�-&	
 '���G w = log z

�-&	
 '��0G w = 1
2
(ze−a + 1

z
ea)

�-&	
 '���G w =

(
1+zm

1−zm

)2

,m ≥ 1
2

'�



-�����������

�� 8����$	� �� ������
�� R = {(x, y) : x ∈ [0, 2], y ∈ [0, 1]}. C
 ���%�����%��� ,

����

 ��" R %�� ������� w 
�� �� 	��
%-,	
��%	� w =
√

2e
πi
4 z.

0*�!

e
πi
4 =

√
2

2
(1 + i) ⇒ w =

√
2e

πi
4 z = (1 + i)(x + iy) = x − y + i(x + y) = u + iv ⇒

u = x − y, v = x + y

x = 0 �→ u = −y
v = y

⇒ u = −v, x = 2 �→ u = 2 − y
v = 2 + y

⇒ u + v = 4

y = 0 �→ u = x
v = x

⇒ u = v, y = 1 �→ u = x − 1
v = x + 1

⇒ u − v = 2

3 �
�
�*
� 	��
%-,	
��%	�! %"
�%�* 	�
 %���.& �
�* ��
�
 π
4
��" R �
� 	�
 �	���%�


	,��
 	� ����
√

2�

�� C
 /����� 	�
 


�"���& %"
*��,%, w = u + iv = f(z) ��" 
�����
�?�� �� %$
���
0 < Argz < π

3
��� ��" u < 1�

0*�!

4 w1 = z3 
�����
�?�� �� 0 < Argz < π
3
%�� 0 < Argw1 < π�

4 w2 = iw1 = iz3 A%���.& �
�* π
2

.�$ i = ei π

2 ) 
�����
�?�� �� 0 < Argw1 < π %��
π
2

< Argw2 < 3π
2
�

4 w3 = w2 +1 	��
����?�� �,
 u = 0 %�,
 u = 1� 3���� w = w3 ◦w2 ◦w1 = iz3 +1 ⇒
f(z) = iz3 + 1�

�� C
 /�����  

! 	��
%-,	
��%	�! Möbius ��" 
�����
�?�� �� *
� ,	�������� ��" ���#
� ��" z %�� 	�

��
�� �$��� ��" ���� ��" w 	� � ���� ����� �%�� �� z = i 



�����
�?��
� %�� w = 0 �
� �� z = ∞ %�� w = −1�

0*�!

��� ��
 �$�� w = eiθ
(

z−a
z−ā

)
, Ima > 0 �
��
�"	�G

0 = eiθ
(

i−a
i−ā

)
⇒ a = i

−1 = eiθ
(

∞−a
∞−ā

)
⇒ −1 = eiθ

⎫⎬
⎭w = (−1)

(
z − i

z + i

)
⇒ w =

i − z

i + z
.

0� C
 /����� � 	��
%-,	
��%	�! Möbius ��" 
�����
�?�� �� ���
� 	 ��! ��
 ��%��
 |z −
1| < 1 �
� |z − i| < 1 %�� 1o ���
��,	���� ��" ���� ��" w�

0*�!

3� �$���� |z − 1| = 1 �
� |z − i| = 1 � 	
�
�
� %�
 %,	��
 � �
� 1 + i�

'�



)*
�"	� �� 	��
%-,	
��%	�

ζ =
z

z − (1 + i)

��" 
�����
�?�� �
 %,	��
 0, 1 + i %�
 %,	��
 0, ∞6 

��%���-�!�

�.�$ �� �.
���	�
�! %��"! �$� �$���"! %�� � ��

� �*����!6 �� �$���� 
�����
�?�
�
�
%� �"����! �*����! 	��
+$ ��"! ��" �� �-�
�
� 
�� �,
 
�-& ��
 
+�
�
� �.�"

ζ(2) = 1+ i, ζ
(

1+i
2

)
= −16 �� �"����!  -�"
 ��%��! ±1 �� �� ���
� 	���! 
�����
�?��
�

%�� -����G 3π
4

< Argζ < 5π
4
�

4 %���.& w = e−
3π
4

iζ 	
! ��,��� %�� ?,��$	�
��

�����*

w =
e−

3π
4

iz

z − (1 + i)
�

/�� �3�����!" ��" �$����3�" ������
���"

6���� ���� ����� Dirichlet ��	 Neumann

�. Dirichlet

∆Φ := ∂2Φ
∂x2 + ∂2Φ

∂y2 = 06 %��
 R6 RG 
��* %"
������! ����!�

Φ = f 6 %�, C6 C = ∂RG
��& ����%�& �
	�$�,�

1. Neumann

∆Φ = 06 %��
 R�
∂Φ
∂n

= g6 %�, C�

�. �� ���/�,	
 Dirichlet 	� f %"
�-&6 �
� �� ���/�,	
 Neumann 	� g %"
�-&G∫
C

g(s)ds = 06  -�"
 	�

���& �$%,�

-������!�!

�
 ���/�&	
�

∆v = 0, R
∂v
∂n

= g, C
, 	�

∫
C

g(s)ds = 0

�
�
uG %"?"�&! 
�	�
��& �,! v6 %��
 R
u = − ∫ s

a
g(s)ds6 %�, C6 A
G 
"�
����� %,	��� �,! CB

��

� �%��$

	
�

'�



'(���*���!/ u, v A��
�	
��� ! %"

��&%��!B %"?"���! 
�	�
�� !
���⇔ f = u+ iv A	��
���&

%"
*��,%,BG 


�"���& ⇔ ∆u = ∆v = 0 �
� �%-$�"
 �� �+�%�%��! Cauchy – Riemann�

-������!�!

3 ����! R 	����� 

 	,
 ��

� .�
�	 
�!6 ��-� �� R 	����� 

 ��

� �� *
� ,	��������6 �����
�� C ��

� � x#*+�

!�

�� 0�
� ��� Dirichlet �	� ��! ��!��	��� ����� � �70�� Pois-
son

R = {z ∈ C : |z| < 1}, C = {z ∈ C : |z| = 1}{
∆Φ(r, θ) = 0, (r, θ) ∈ (−1, 1) × (0, 2π)
Φ(1, θ) = F (θ), θ ∈ [0, 2π)

4 �$%, ��
��
� �!

Φ(r, θ) =
1

2π

∫ 2π

0

(1 − r2)F (ϕ)dϕ

1 − 2r cos(θ − ϕ) + r2

�� 0�
� ��� Dirichlet �	� �� ��	
0�0
�� � �70�� Poisson

R = {z ∈ C : Imz > 0}, C = {z ∈ C : Imz = 0}{
∆Φ(x, y) = 0, (x, y) ∈ R

Φ(x, 0) = f(x), x ∈ R
Φ(x, y) =

1

π

∫ ∞

−∞

yf(ξ)dξ

y2 + (x − ξ)2

6���� (0� "�� 0��� ��#�+! Dirichlet ��	 Neumann �
 �7��

����� �0
	�
!	���

�� ���
%-,	
��?�"	� �� ���/�,	
 %"
���
��
 ��	�
 ��
 ��
 
��* %"
������ ���� R %�
���/�,	
 %"
���
��
 ��	�
 ��
 ��
 	�

��
�� �$��� & �� ,	�������� A����,���* 
"��
��
��
� �*
�
G 8� RiemannB

�� 5$
�"	� �� ���/�,	
 %"
���
��
 ��	�
 ��
 ��
 	�

��
�� �$��� & �� ,	���������

�� � %� ��" 

��%���.�" 	��
%-,	
��%	�$ /��%��"	� �, �$%, ��" 
�-���$ ���/�&	
��!�

�-����* �%-$�"
 �� 
����"�
�

:���!�� ).�.� 3�5 � %� ��" 	��
%-,	
��%	�$ w = f(z)6 f 


�"���& �
� f ′(z) �= 0
%��
 R6 	�
 
�	�
��& %"
*��,%, 
�����
�?��
� %� 	�
 
�	�
��& %"
*��,%,�

:���!�� ).�.� 3@5 <3��! ���
6 Φ(x, y) = Φ(x(u, v), y(u, v)) := Ψ(u, v)�
Φ = aG %�
�� %�� C & %� 	 ��! ��" C ⇒ Ψ = a6 �*
� %�,
 ����

 C ′ %�� w#��������
∂Φ
∂n

= 06 %�� C & %� 	 ��! ��" C ⇒ ∂Ψ
∂n

%�� C ′�

'�



-��&������ � ⎧⎨
⎩

∂2Φ
∂x2 + ∂2Φ

∂y2 = 0, y > 0

limy→0+ Φ(x, y) = f(x) =

{
1, x > 0
0, x < 0

4 %"
*��,%, φ(θ) = Aθ + B, A, B : ��
�	
��� ! %�
��� !6 ��

� 
�	�
��&6 ����� ��

�
�� .

�
%���� 	 ��! �,! A log z + B�
<�-�"	�
φ = 16 ��
 x > 06 �,�
�& ��
 θ = 0
φ = 06 ��
 x < 06 �,�
�& ��
 θ = π.
<��


1 = A · 0 + B
0 = A · π + B

}
⇒ A = − 1

π
, B = 1,

�����

Φ(θ) = Aθ + B = 1 − θ

π
= 1 − 1

π
arctan

(y

x

)
� !�����
"

Φ(x, y) =
1

π

∫ ∞

−∞

yf(ξ)dξ

y2 + (x − ξ)2
=

=
1

π

∫ 0

−∞

y · 0dξ

y2 + (x − ξ)2
+

1

π

∫ ∞

0

y · 1dξ

y2 + (x − ξ)2

=
1

π
arctan

(
ξ − x

y

)∣∣∣∣
∞

0

A'��B

= 1 − 1

π
arctan

(
y

x

)

-��&������ �

∂2Φ
∂x2 + ∂2Φ

∂y2 = 0, y > 0

limy→0+ Φ(x, y) = f(x) =

⎧⎨
⎩

T0, x < −1
T1, −1 < x < 1
T2, x > 1

4 %"
*��,%, Φ(θ1, θ2) = Aθ1+Aθ2+C, A, B, CG ��
�	
��� ! %�
��� !6 ��

� 
�	�
��&6
����� ��

� �� .

�
%���� 	 ��! �,! A log(z + 1) + B log(z − 1) + C�
φ = T26 ��
 x > 16 �,�
�& ��
 θ1 = θ2 = 0
φ = T16 ��
 −1 < x < 16 �,�
�& ��
 θ1 = 0, θ2 = π
φ = T106 ��
 x < −16 �,�
�& ��
 θ1 = π, θ2 = π
<��


T2 = A · 0 + B · 0 + C
T1 = A · 0 + B · π + C
T0 = A · π + B · π + C

⎫⎬
⎭ ⇒ A =

T0 − T1

π
, B =

T1 − T2

π
, C = T2 ⇒

'0



Φ(θ1, θ2) = Aθ1 + Bθ2 + C

=
T0 − T1

π
arctan

y

x + 1
+

T1 − T2

π
arctan

y

x − 1
+ T2

� !�����
" =�&%, ��" �$��" Poisson

-��&������ �
R,����
� 
�	�
��& %"
*��,%, %�� �%������� ��" 	�

��
��" �$��" �
�

f(θ) =

{
1, 0 < θ < π
0, π < θ < 2π

��� �,! 	�

��
�
! ����. ���
! |z| = 1� Aφ = 0 %�� ÂBC, φ = 1 %�� ĈDE6 /� �� %-&	

'���B�

�-&	
 '���G

�� ��
 	��
%-,	
��%	� z = i−w
i+w

& w = i1−z
1+z


�����
�?��
� �� �%������� �,! ����. ���
!
|z| = 1 %�� *
� ,	�������� w�

φ = 0 %�� ÂBC → φ = 0 %�� A′B′C ′

φ = 1 %�� ĈDE → φ = 1 %�� C ′D′E ′�
�"�� �� ���/�,	
 �$�,�� %�� �
�*����	
 �G

φ = 1 − 1

π
arctan

(
v

u

)

w = i1−z
1+z

⇒ u = 2y
(1+x)2+y2 , v = 1−(x2+y2)

(1+x)2+y2

Φ = 1 − 1

π
arctan

(
2y

1 − (x2 + y2)

)
x=r cos θ
y=r sin θ

= 1 − 1

π
arctan

(
3r sin θ

1 − r2

)

'�



�������� �/

���
��	#�

�5�� 6�������� ��������� # 6����
���
� 7�$����

<3��! �
���?�"	� 	�
 �#��������& %"
*��,%, f 	����� # "�� �*����! ���L��� %��! # 





��"-��� %� 
���� Fourier�

f(t) = bo +
∞∑

m=1

bm cos mωt +
∞∑

m=1

am sin mωt, ω :=
2π

T
,

���" �� %"
����%� ! Fourier ��
�
�
� �!

b0 =
1

T

∫ T

0

f(τ)dτ, bm =
2

T

∫ T

0

f(τ) cos mωτdτ, am =
2

T

∫ T

0

f(τ) sin mωτdτ.

4 	�� �, �,! %"	����.��*! �
�! ,��������$ �"���	
��! %�� ����� �"���.����  

 ��#
������� ��$	
 i(t)6 

*���
�  �%� %�, 	�� �, ,	���
�����
 ��"	*��
�

3	���!6 ��
 	, �������� ! %"

��&%��! �� E%"
�- !F 

*���� ��

� �� ���������� Fou-
rier

f(t) =
1

π

∫ ∞

0

( ∫ +∞

−∞
f(τ) cos ω(τ − t)dτ

)
dω

�
�  �%� , %,	
%�
 ��
 ,	���
�����
 ��"	*��
 �
�
	 
�� �"%���,! �
� %�, 	�� �, ,��������

�"���	*��
 %�
 ����
 �� ��$	
 ��" �
 ��
�� �� ��
 ��

� ����������

�8���� ����	�� �!�0��#����� ��	��!�
	�$! �"!�����
+!

8����$	�  

 ��*
"%	
 OM %�
����$ 	&��"! I ��" ����%�� .��
� ���� �� O 	� ��
�
�&
�
-$�,�
 ω� <�%�� φ , ��
�
 ��" %-,	
��?�� �� OM 	� ��
 *+�

 Ox �
�* �,
 
�-& �,!
	 ��,%,! ��" -��
�"� ���� , ���/��& %��
 *+�

 Oy ��" M ��
��
� 
�� �,
  �.�
%,

i(t) = I sin(ωt + φ)

'�



�
� �� ��*
"%	
 OM 


�
��%�* �,
 ,	���
����& %"
*��,%,� ���.

�!6 , ���%��%, �$�
,	���
�����
 %"

��&%��
 �,! ���
! �������" ��
��
� �! A/� �� %-&	
 ����B

i(t) = I sin(ωt + φ) = i1(t) + i2(t) = I1 sin(ωt + φ) + I2 sin(ωt + φ2)

�-&	
 ����G

4 �
�*����! �,! i(t) ��

�

di(t)

dt
= ωI cos(ωt + φ) = ωI sin(ωt + φ +

π

2
),

�
� �� �����&��	
 ∫
i(t)dt = − I

ω
cos(ωt + φ) =

I

ω
sin(ωt + φ − π

2
).

<��%�G

-��&���
�/ ��*
"%	
 	&��"! ωI ��" %-,	
��?�� ��
�
 π
2

	� �� ��*
"%	
 	&��"! I �
�
.
%��&! ��
�
! φ�

	�
�������/ ��*
"%	
 	&��"! I
ω

��" %-,	
��?�� ��
�
 −π
2
	� �� ��*
"%	
 	&��"! I �
�

.
%��&! ��
�
! φ�

�8���� 9	���	�� �!�0��#�����

���
 OxG ��
�	
����! *+�

!6 OyG .

�
%����! *+�

! �
� "��
�"	�?�"	� ���G eiθ =
cos θ + i sin θ�

<��%�6 �� ��*
"%	
 OM ���?��
� �!

I[cos(ωt + φ) + i sin(ωt + φ) = Ieiφeiωt = Jeiωt, J := Ieiφ

'2



�
 ,  �.�
%, i(t) = I sin(ωt + φ) 


�
��%�*  

 ,	���
���� ! ��$	
6 �� J = Ieiφ

�
�	*?��
� 	��
���� ��$	
� <3%�
 
.��* �,
 ���%��%,6 



i1(t) = I1 sin(ωt + φ1), i2(t) = I2 sin(ωt + φ2)

�
� 

 � %�"	�

ĩ1(t) = I1e
iφ1eiωt = J1e

iωt, ĩ2(t) = I2e
iφ2eiωt = J2e

iωt

����
J = J1 + J2

�
� , ,	���
����&! %"
*��,%, ��" 


?,��$	� �
 ��

� �� .

�
%���� 	 ��! �,! Jeiωt6 �,�
�&
�� Im(Jeiωt)6 ��" ��

� i(t) = i1(t) + i2(t)�

�
��%���-�!6 

 i(t) = I sin(ωt + φ)

di(t)

dt
= Im

(
d

dt
(Jeiωt)

)
= ωI cos(ωt + φ)

�
� �	���! ��
 �� �����&��	
�
�
 �	�!  -�"	� 

 �*
�"	� ����
��
%�
%	� & $D�%, %� �$

	, � 
���! �
�
�*
�

�

�

! A�,�� 

 �*��"	� �� .

�
%���� 	 ��!B ��
 �%-$�� �� �
G
��-�  %��

i1(t) = I1 sin(ωt + φ1), i2(t) = I2 sin(ωt + φ2)

����

i1(t)i2(t) =
1

2
I1I2

[
cos(φ1 − φ2) − cos(2ωt + φ1 + φ2)

]
,

�
� ��

ĩ1(t) = J1e

iωt, J1 = I1e
iφ1 , ĩ2(t) = J2e

iωt, J2 = I2e
iφ2

�
��
�"	�
ĩ1(t)̃i2(t) = I1I2e

i(φ1+φ2)+2iωt

�����
Im(̃i1(t)̃i2(t)) = I1I2 sin(2ωt + φ1 + φ2).

<��%� ��

� �	.

 ! ��� , ��
���
%�
 ��" ������*D
	� A	� �, 	��
���& 


�
�*%�
%,B ��

�
%"	/
�& 	� ��
		�� !6 �	���
��! �
�
%�*%��! �����" /
�	�$6 �,! 	��.&!

∑
aj ĩj(t) +

∑
βj

d̃ij(t)

dt
+

∑
γj

∫
ĩj(t)dt

���" �� %"
����%� ! aj, βj, γj ��

� 

�+*��,��� ��" t�
4 

���
�*%�
%,

ĩk(t) = Jke
iωt, 	� Jk = Ike

iφk

��,��� %� 
��� ��%	
 �,! 	��.&!

Jeiωt = Ieiφeiωt

�
� �� .

�
%���� 	 ��! �,! ����"�
�
! �
�*%�
%,! ��

� , ?,��$	�
, ,	���
����&! %"
*�#
�,%, i(t) = I sin(ωt + φ)�

'�



�8���� :"� $���� RLC

8����$	�  

 �$���	
 RLC �,�
�&  

 �$���	
 ��" �����
	/*
�� 	�
� �"�
�� ! A-��,��#
���,�
! CB6 

��%�*%��! A�	��&! 

��%�
%,! RB �
� �,
�
 A%"
����%�& 
"���
���&! LB �
�
%�� ����� ���?�
�
� �$� 
��
�
 %,	��
�

�
 �� ,�������� ��$	
  
�
%,!

i(t) = I cos(ωt + a)

��
�� �� �� �$���	
6 , 


?&�,%, ,	���
�����$! �$%,! �,! �����,��������
.����&! �+�%�#
%,! ��" ������*.�� �� �$���	
 ��,��� %� ��
.��* �"

	���$

u(t) = V cos(ωt + θ)

%�
 *��
�
<��%�6 , 

���
�*%�
%, ��$	
��!  
�
%,!

ĩ(t) = Jeiωt, J := Ieia

%�,
 �+�%�%,6 ��
�� 
��� ��%	
 �,! 	��.&!

ũ(t) = Ueiωt, U := V eiθ

3��?�"	� �! �������� �����	
	 ��" �
 ���� �"���	
��!6 �,
 ��%��,�
 Z ��" ��
��
�

�� �, %- %,

U = ZJ

�
�  -�� ��
%�*%��! 

��%�
%,!�
�� 	 ��� �,! 	��
���&! �	� �,%,! ��

�

|Z| =
V

I

�
� �� ���%	* �,!
argZ = θ − a = φ

��

� .

��� ��� � 
�	�! ��" Ohm (i = U
R
)6 	����� 

 ��
.�� ��
 ��! 

��%���-�! 	��
��� !

��%��,��!�

���#�
	���

8����$	� �� �$���	
 RLC A%-&	
 ����B ��" ��
�� ��
� 
�� ��$	
  
�
%,!

i(t) = cos(ωt + a).

4 ��
.��* �"

	���$ %�
 *��
 �
 /����� 	� �� 

 

���
�
%�&%�"	�

ĩ(t) = Jeiωt

''



�-&	
 ����G

%�,
  �.�
%,

Ri(t) + L
di(t)

dt
+

1

C

∫
i(t)dt


�< ���"

U = J

[
R +

(
Lω − 1

Cω

)
i

]
�
� , 	��
���& �	� �,%, ��

�

Z = R +

(
Lω − 1

Cω

)
i.
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?,��$	�
, ,	���
����&! �*%,

u(t) = V cos(ωt + θ)

��
��
� 
�� ��! %- %��!
V = I|Z| �
� θ = a + argZ

��  �%�

V = I

√
R2 +

(
Lω − 1

Cω

)2

tan(θ − a) =
Lω − 1

Cω

R
.

-������!�!/ =���! /�*/, �,! ��
����,�
! 	����� �

��! 

 ����&%�� ��� , 	 ��,%, ��"
-��
�" 
�-�?�� ��

 �
 ����	 

  -�"
 	,��
��& .*%,� ��� �
�*����	* 	
!6 	����$	�


 �*��"	� �+< 
�-&! a = 0�

�8���' *	 ��!
!
� ��" Kirchhoff

�
� ���#��� 3���#��� ��� �#�1��5

n∑
k=1

ik(t) = 0

���
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 ����G ��! �

�

! Kirchhoff�

�
 �
 ik ��

� ,	���
����& ��$	
�
6 , 

���
�*%�
%, ĩk(t) = Jke
iωt ��
��

n∑
k=1

Jk = 0.

�
� ���#��� 3���#��� ��� 1�#�$��5

�
 �
 uk, k = 1, 2, . . . , n ��

� �� ��
.�� ! �"

	���$ %�
 *��
 ��
 ��*��
 ��" 
������$

 


 /���-� A����%�� ������
		
B ����

n∑
k=1

uk(t) = 0.

��,
 �������%, ,	���
�����
 ��
.���
 �"

	���$6 , 

���
�*%�
%, ũk(t) = Uke
iωt ��
��

n∑
k=1

Uk = 0.

�
 �� ��
.�� ! �"

	���$ ��� �-�
�
� 
�� 	��
���* ��$	
�
 Jk 	� �	���&%��! Zk 

��#
%���-�!6  -�"	�

n∑
k=1

ZkJk = 0.

�
 �� ��*��� �����
	/*
�"
 ,������� ! ���� �%��! ek(t) = εke
iωt6����

n∑
k=1

ZkJk − εk = 0.

AεkG 	��
���& ,������������& �$

	,B

�!�����!/ �
 
����%	
�
 %��" �

�
�! ��" Kirchhoff ��

� 
���/���*6 �,�
�& �� %�%��
���%,	� AJ & #B �*�� ���" �� ��� 

 �,.��� "�< �D,6 
.�$ ���%��� A
"�
����
B , �����&
.��* ��&! %�� �$���	
�

���
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! Kirchhoff�

�8���. 9	���	�&� (�0
���
	� �
 �
	�	��� � ���#  � � �7!�

�
��

�������� �*����!

�-&	
 ����G �����
�& �$
��%,�

U =
(∑n

k=1 Zk

)
J 6

J = J1 = J2 = · · · Jn6 �����

Z =
n∑

k=1

Zk

-��&��!�! �*����!

U = Z1J1 = Z2J2 = · · · = ZnJn = ZJ J =
∑n

k=1 Jk

<��%�
1

Z
=

n∑
k=1

1

Zk

.

���
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 ��*D�"	�

Z(iω) = R(ω) + iX(ω)


�< ���"  -�"	� �, %- %, ��
 ��
��
 |Z(iω)| �
� �,! ��
.��*! .*%,! argZ(iω).

�
��%���-�!
1

Z(iω)
= Y (iω) = G(ω) + iB(ω)

3������
 B(ω)G .
�
�	�
, 
����	��,�

R(ω)G ��
�	
���& 

��%�
%,
X(ω)G .
�
�	�
, 

��%�
%,
Y (iω)G A	��
���&B %$
���, 
����	��,�

G(ω)G ��
�	
���& 
����	��,�


-��&������

C
 "������%��� , �	� �,%, Z ��" �"���	
��! ��" %-&	
��! ���2a

�-&	
 ���2G

���
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�
��%��$	� �� �$���	
 ���! .
�
��
� %�� %-&	
 ���2b� 3	
������
�
! ��! �	���&#
%��!  -�"	�

Z = Z1 +
Z2Z3

Z2 + Z3

,
( 1

Z2

+
1

Z3

=
Z2 + Z3

Z2Z3

)
	� Z1 = − i

C1ω
, Z2 = R, Z3 = i

(
Lω − i

C3ω

)
.

�,	���
�"	� ��� %��
 ��	/� N  -�"	� J1 = J2 + J36 �
� %�� /���-� Z2NZ3M  -�"	�
J2Z2 = J3Z3� �+< *���" J1 = U

Z
�

�8���; �
!��
"�� ��� &!!�	�� ��� �	���	��� 
�0&�����

8����$	�  

 �$���	
 n /���-�
� ���
?�	
%�� 	� ��"! /���-�"! l �
� m A%-&	
 ����B�
<�%�� Lll, Rll, Cll �
 %���-��
 ��" /���-�" l� <�%�� Llm = Lml, Rlm = Rml, Clm = Cml �


�-&	
 ����G

%���-��
 �,! %$?�"+,! ��
 /���-�
 l �
� m� <�%�� el(t) = Ele
iωt , ,������������& %$

	,

%�� /���-� l6 �
� el(t) = 0, k = 1, 2, . . . , l− 1, l +1, . . . , n� ���� �� 

�� �� �$���	

������*.��
� 
�� �� %$%�,	
 �����,��������
.�����
 �+�%�%��
[

L11
di1(t)

dt
+ R11i1(t) +

1

C11

∫
i1(t)dt

]
+ · · · +

[
L1n

din(t)

dt
+ R1nin(t) +

1

C1n

∫
in(t)dt

]
= e1

���[
Ln1

di1(t)

dt
+ Rn1i1(t) +

1

C11

∫
i1(t)dt

]
+ · · · +

[
Lnn

din(t)

dt
+ Rnnin(t) +

1

Cnn

∫
in(t)dt

]
= en

8 ��"	�
ĩk(t) = Jke

iωt

�
�

iωLlm + Rlm +
1

iωClm

= zlm(iω)

��0



�
� �
��
�"	� �� %$%�,	


z11(iω)J1 + · · · + z1n(iω)Jn = 0
���

zl1(iω)J1+ · · · +zln(iω)Jn = El

���

zn1(iω)J1+ · · · +znn(iω)Jn = 0

A����B

�"	/���?�"	� 	� D(iω) �,
 ���?�"%
 ��" %"%�&	
��! �
� 	� Mlm(iω) �,
 "�����?�"%
 ��"
����$���� 	� ��
��
.& �,! l#��
		&! �
� m#%�&�,!� <��%�

Jm =
Mlm(iω)

D(iω)
El

8 ��
�
!

Zlm(iω) :=
D(iω)

Mlm(iω)

 -�"	� �����*
El = ZlmJm

4 Zlm(iω) �
�	*?��
� �	� �,%, 	��
.��*! 
�� �� /��-� l %�� /��-� m�

-��&������

8����$	� �� �$���	
 ��" %-&	
��! ���'

�-&	
 ���'G

<�-�"	�
R11 = R C11 = C1

R33 = R C33 = C3

R13 = R31 = −R C31 = C13 = 0 L13 = L31 = 0

���



�� %$%�,	
 ��

� ⎧⎨
⎩

(
R − i

C1ω

)
J1 − RJ3 = E1

−RJ1 +
(
R +

(
Lω − i

C3ω

)
i
)
J3 = 0

<��%�

Z13 =
E1

J3

=
(
R − i

C1ω

)(
1 +

Lω − i
C3ω

R
i

)
− R

�
�

Z11 =
E1

J1

= R − i

C1ω
− R2

R +
(
Lω − i

C3ω

)
i

�8���2 9	���	�
 %	#!"���

<�%�� �a(t) ��*
"%	
 ��" �+
��*�
� ,	���
�����! *�� �� -��
� tG �a(t) = (a1(t), a2(t), a3(t))
	� aj(t) = Aj cos(ωt + φj), j = 1, 2, 3�

�����$	� 

 ����&%�"	� ��� �
 aj(t) ��� �-�
�
� 
�� 	��
��� ! ��%��,��!

ãj(t) = Âje
iωt, j = 1, 2, 3, Âj = Aje

iφj

��  �%� 

 ��%
�*��"	� �� 	��
���� ��*
"%	


�̂
A = (Â1, Â2, Â3)

���"
Re(

�̂
Aeiωt) = �a(t)

�
�

Im(
�̂
Aeiωt) =

(
A1 cos

(
ωt + φ2 − π

2

)
, A2 cos

(
ωt + φ2 − π

2

)
, A3 cos

(
ωt + φ3 − π

2

))
.

����� �
 �� %"?"� ! ��" �̂
A ��

�

�̄̂
A =

(
A1e

−iφ1 , A2e
−iφ2 , A3e

−iφ3

)
.

���	
 


�̂
A =

�̂
A1 + i

�̂
A2

����
�a(t) =

�̂
A1 cos ωt − �̂

A2 sin ωt
(

=
(
Re

�̂
A

)
cos ωt −

(
Im

�̂
A

)
sin ωt

)
.

A�
 ��

$%	
�
 �̂
A1,

�̂
A2 ��

�6 

��%���-�!6 �� � %��! ��" �
�
�
	/*
�� �� �a(0) �
� ��

�a
(
− π

2ω

)
B�

���
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6 ��

� ��� ��
 �	.

�?��
� %��"! "������%	�$! �� t� ��-� ��
 �,
 �+�%�%, ��"
Maxwell

curl �H = σ �E + ε
∂ �E

∂t
,

(
�H = �H(x1, x2, x3, t), �E = �E(x1, x2, x3, t)

)

%� ,	���
����& �E, �H 

��%���-�$
 	��
���* ��

$%	
�
 �E , �H �
� , �+�%�%, Maxwell ��*.��
�

curl �H = iωη�E

���" η = ε − σ
ω
i ��

� , 	��
���& ��,�������& %�
���*�

�5�� �3�����!" ��� ������� 6���������

�8���� * !
��� ��" Coulomb

8����$	� �$� ,�������* .����
 q1, q2 %� 
��%�
%, r ��  

 
�� �� *���� �$	.�

 	� ��

�	� ��" Coulomb %� �
� 

 
�� �
 .����
 
%����
� 
�� �� *��� �$

	, 	� 	 ����!

F =
q1q2

kr2
.

4 �$

	, 
"�& ��

� ������&6 �*
 �
 �$� .����
 ��

� �����%,	
 A 

 ������ ��  

 
�
,����B6
�
� 
��%���&6 �*
 �
 �$� .����
 ��

� �	�%,	
 A�
� �
 �$� �����* & �
� �
 �$� 
�
,���*B� 4
%�
���* k �
����
� ��	�������� 
������ �
� �+
��*�
� 
�� �� "���� 	� �� ����� ��

� ��	*��!
� -���!� ;�
 �� ��
� ��

� k = 16 �
� %� *���! �������%��! ��

� k > 1�

�8���� <(!���� � 
���	��7 �
���"� � 
��������	�
 %"!��

�	�


��
 ����	 
, �
�

�	& ,��������$ .�����" A%,	��
�* .����
 & %"
�-&! �
�

�	& & %"
#
�"
%	�! ��
 �$�B �,	��"����  

 	�������� ������ �*
  

 ������ .����� �%� 	� �, 	�
*�

A��" "��� ��"	� ��� ��

� 
����* 	���� �%�� 

 	,
 ��,��*%�� �� �����B �������,��� %�  


%,	��� � ��" �����" A���" �� /��%���
� *��� %,	��
�� .�����B6 ���� , �$

	, ��" 
%����
�
�*
� %�� .����� 
"�� �
����
� ����
	 ��" ,��������$ �����" %�� %,	��� � �
� %"	/���#
?��
� 	� E � 4 �$

	, 
"�& ����$���� 
�� ��  

 �"

	��� 7 ��" �
����
� 	������
������
��������� <��%�  -�"	�

E = −gradΦ = −∇Φ

�*
 , �
�

�	& ��" ,��������$ .�����" ��

� ��%��*%�
�, 6 �,�� , �������%, ��" 	
!
�
��
. ��� ���6 ����

E = Ex + iEy = −∂Φ

∂x
− i

∂Φ

∂y
, ���" Ex = −∂Φ

∂x
, Ey = −i

∂Φ

∂y
. A����B

��2
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 Et ��

� , %"
�%��%
 �,!  
�
%,! ��" ,��������$ �����"6 , �.
���	�
, %� 	�
 
��&
����%�& �
	�$�, C ��" 	��
����$ ���� ��" z6 ����∫

Eids =

∫
C

Exdx + Eydy = 0.

�8���� �� )
$���� ��" Gauss

8����$	� 	�
 ��%��*%�
�, �
�

�	& ,��������$ .�����"� �*
 C ��

� 	�
 
��& ����%�& �
	#
�$�, A%�� ������� zB ��" ���������� %"
����� .����� q A%�,
 ��
�	
�����,�
 	�
 �"��
����&
���.*
��
 
�����" 	&��"! ��" ���������� %"
����� .����� q 

* 	�
*�
 	&��"!B �
� En , �*#
���, %�,
 C %"
�%��%
 �,!  
�
%,! ��" ,��������$ �����"6 ���� %$	.�

 	� �� ����!��
�
� Gauss ∫

C

Ends = 4πq.

�*
 �� %"
����� .����� ��" ���������� , C ��

� 	,� 
6 ����∫
C

Ends =

∫
C

Exdy − Eydx = 0.


�� �, %- %, 
"�&  ���
� ��� %�  


 ���� ��" ��
 ���� -�� �
����" .����� A�,�
�& ,
�"�
��,�
 ��" .�����" ��

� �

��$ 	,� 
B  -�"	�

∂Ex

∂x
+

∂Ey

∂y
= 0. A����B

��� ��! ����6 ����  -�"	� ���

∂2Φ

∂x2
+

∂2Φ

∂y2
= 0,

�,�
�& , Φ ��

� 
�	�
��& %"
*��,%, %� �*�� %,	��� ���" ��
 "�*�-�� .������

�8���' �� �	���	�
 � 
��������	�
 �"!��	�


��� �
 ���,��$	�

 ��

� .

��� ��� "�*�-�� 	�
 
�	�
��& %"
*��,%, Ψ6 %"?"�&! 
�	�
��&
�,! Φ6 � ���
 �%�� ,

Ω(z) = Φ(x, y) + iΨ(x, y)



 ��

� 


�"���& %�  


 ���� ���" ��
 "�*�-�� .������ 4 Ω(z) �
����
� 	��
���� ,������#
%�
���� �"

	��� & 
��* 	��
���� �"

	��� �
� , ���� 	����� 

 ��
.�� %�, 	��.&

E = −∂Φ

∂x
− i

∂Φ

∂y
= −∂Φ

∂x
+ i

∂Ψ

∂y
= −dΩ

dz
= −Ω′(z). A���0B

�� 	 ��� �,! E ��

� E = |E| = | − Ω′(z)| = |Ω′(z)|� 3� �
	�$��! A%�,
 ��
�	
�����,�

�"��
���� ! ���.*
���!B Φ(x, y) = α �
� Ψ(x, y) = β �
��$
�
� 

��%���-
 �%��"

	�� !
��
		 ! �
� ��
		 ! ��&!�

���
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��%���-�� %�� ����� �
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, ��
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	��*� 3�  

���! �����&! �
�

�
,���&! �,�&! %�, ��& ��"%��$  -�"
 

*����!  

���! %�� %�
���� ,������%	�� <��%�6 ��
	��
���� A,������%�
����B �"

	��� ��" �.�����
� %�  

 .����� q A
���/ %���
 %� *�����"
	&��"! ��
		��� .����� q 

* .����� 	&��"!B %�� %,	��� z0 %�� ��
� ��

�

Ω(z) = −2q ln(z − z0). A����B

�� 	��
���� 
"�� �"

	��� ������*.�� �����& & 
�
,���& �,�&6 �*
 

��%���-
 ��

� q < 0
& q > 0� <3	��
6 ���?�"	� 	��
���� �"

	��� ������"6 ���� �� �������%, ��" � -���! ��

��

� ��
�!6 

���
��%��$	� %�,
 ���� �� q 	� q/k�

�8���; ��+���

�*
  

 %�	
 ��

� A� ����!B 
����!6 ��� �� .����� ��"  -�� �
�

 	��
� 	�
� %�,
 ���.*
��*
��"� <��%�6 %� ��%��*%�
�
 ���/�&	
�
6 ���" , ���.*
��
 ��" %�	
��! 

�����%���$��
� 
��
	�
 
��& ����%�& �
	�$�, C %�� ������� z6 �� .����� �
�

 	��
� %�,
 C �
� �%��������
�"
���! , C ��

� 	�
 �%��"

	��& ��
		& ��" �����"�

<�

 %,	

���� ���/�,	
 %�� %�
���� ,������%	� ��

� � ���%�����%	�! ��" �"

	���$
��" �.�����
� %� ����	 
�"! A�"��
�����$!B 
����$!� �� ���/�,	
 
"�� 	����� 

 �"��� 	�
�, 	 ���� �,! %$		��.,! 
�����
�%,!�

�8���2 =+���	�
����

8����$	� �$� 
����$! 	� 

�����
 .����
 	� 
���"�, ��	& q �� �
� 

� �*
 , ��
.��*
�"

	���$ 	��
+$ ��
 
����
 ��

� V 6 ���� , ��%��,�
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